

# Amerigroup Community Care

Access Analysis SouthEast

January 24, 2023

#### **PCPs - Urban**

January 24, 2023

Access Analysis
Adult\_PCP\_Urban(2 prov in 8 Miles)
Member / Provider Groups
Adult Urban Members (SE\_URBAN)
PCPs (SE\_URBAN)

				Members With a	nd With	out Access						
	Member		Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#		Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	21	PCPs		2 in 8 miles	96	0.2		85.7		14.3	2.6	2.7
Chatham, GA	79	PCPs		2 in 8 miles	280	0.3	78	98.7				1.5
Effingham, GA	13	PCPs		2 in 8 miles	57		10	76.9	3		4.4	4.6
Glynn, GA		PCPs		2 in 8 miles	60	0.5	28	96.6	1	3.4	1.4	1.4
Grand Totals		PCPs		2 in 8 miles	493			94.4				2.0

#### **PCPs - Rural**

January 24, 2023

Access Analysis

Adult\_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

PCPs

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA		PCPs	2 in 15 miles	34		5	100.0	0	0.0	2.4	2.5
Bacon, GA		PCPs	2 in 15 miles	30		1	100.0	0	0.0	7.5	8.2
Brantley, GA		PCPs	2 in 15 miles	32			100.0	0	0.0	3.2	3.2
Bryan, GA		PCPs	2 in 15 miles	34			100.0	0	0.0	1.9	3.2
Camden, GA		PCPs	2 in 15 miles	49		4	100.0	0	0.0	1.0	2.0
Candler, GA		PCPs	2 in 15 miles	24		3	100.0	0	0.0	5.5	5.6
Charlton, GA		PCPs	2 in 15 miles	29	0.1	1	50.0	1	50.0	14.2	17.1
Evans, GA	4	PCPs	2 in 15 miles	9			100.0	0	0.0	3.1	4.7
Jeff Davis, GA	3	PCPs	2 in 15 miles	18				0	0.0	3.2	3.4
Liberty, GA		PCPs	2 in 15 miles	56			100.0	0	0.0	2.3	2.8
Long, GA	9	PCPs	2 in 15 miles	22		9	100.0	0	0.0	4.9	5.2
McIntosh, GA	2	PCPs	2 in 15 miles	12		2	100.0	0	0.0	2.7	2.9
Pierce, GA		PCPs	2 in 15 miles	20	0.2	4	100.0	0	0.0	7.1	7.2
Screven, GA		PCPs	2 in 15 miles	10			66.7	1	33.3	6.1	6.6
Tattnall, GA	5	PCPs	2 in 15 miles	27	0.2	5	100.0	0	0.0	2.5	2.5
Toombs, GA	3	PCPs	2 in 15 miles	47			100.0	0	0.0	4.7	4.7
Ware, GA	16	PCPs	2 in 15 miles	76	0.2	16	100.0	0	0.0	1.2	1.4
Wayne, GA	10	PCPs	2 in 15 miles	35	0.3	10	100.0	0	0.0	4.9	5.1
	110										
Grand Totals	112	PCPs	2 in 15 miles	564	0.2	110	98.2	2	1.8	3.3	3.8
			<u> </u>								

#### **Pediatricians - Urban**

January 24, 2023

Access Analysis
Child Pediatricians- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatricians

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Pediatricians	2 in 8 miles	96		139			10.9		2.5
Chatham, GA		Pediatricians	2 in 8 miles	280		600					1.4
Effingham, GA		Pediatricians	2 in 8 miles	57			90.5			3.0	3.5
Glynn, GA	277	Pediatricians	2 in 8 miles	60	4.6	259	93.5	18	6.5	2.1	2.2
Grand Totals		Pediatricians	2 in 8 miles	493		1,179					2.1

#### **Pediatricians - Rural**

January 24, 2023

Access Analysis
Child Pediatricians- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatricians

			Members With a	nd With	out Access						
	Member	Pi	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatricians	2 in 15 miles	34	2.0	67	100.0	0	0.0	1.9	2.0
Bacon, GA	44	Pediatricians	2 in 15 miles	30	1.5	44	100.0	0	0.0	1.6	1.6
Brantley, GA	74	Pediatricians	2 in 15 miles	32	2.3	74	100.0	0	0.0	2.8	3.0
Bryan, GA	122	Pediatricians	2 in 15 miles	34			100.0	0	0.0	4.0	
Camden, GA	278	Pediatricians	2 in 15 miles	48	5.8	278	100.0	0	0.0	1.6	2.1
Candler, GA	40	Pediatricians	2 in 15 miles	24		40	100.0	0	0.0	3.2	3.5
Charlton, GA	105	Pediatricians	2 in 15 miles	29	3.6	90	85.7	15	14.3	4.7	5.3
Evans, GA	24	Pediatricians	2 in 15 miles	9	2.7	24	100.0	0	0.0	1.3	1.5
Jeff Davis, GA	67	Pediatricians	2 in 15 miles	18	3.7	66	98.5	1	1.5	4.1	4.3
Liberty, GA	211	Pediatricians	2 in 15 miles	56		211	100.0	0	0.0	1.6	2.0
Long, GA	21	Pediatricians	2 in 15 miles	22	1.0	21	100.0	0	0.0	5.6	6.1
McIntosh, GA	38	Pediatricians	2 in 15 miles	12	3.2	38	100.0	0	0.0	4.1	5.4
Montgomery, GA	24	Pediatricians	2 in 15 miles	1	24.0	22	91.7	2	8.3	6.5	10.5
Pierce, GA	127	Pediatricians	2 in 15 miles	20	6.4	127	100.0	0	0.0	3.2	3.4
Screven, GA	69	Pediatricians	2 in 15 miles	10	6.9	66	95.7	3	4.3	3.0	3.5
Tattnall, GA	41	Pediatricians	2 in 15 miles	27	1.5	41	100.0	0	0.0	2.7	4.1
Toombs, GA	120	Pediatricians	2 in 15 miles	47	2.6	120	100.0	0	0.0	1.7	1.8
Ware, GA	218	Pediatricians	2 in 15 miles	76	2.9	218	100.0	0	0.0	0.9	1.0
Wayne, GA	131	Pediatricians	2 in 15 miles	35	3.7	126	96.2	5	3.8	3.7	4.4
Grand Totals	1,821	Pediatricians	2 in 15 miles	564	3.2	1,795	98.6	26	1.4	2.6	3.0

## **Adult Allergy/Immunology - Urban**

January 24, 2023

Access Analysis

Adult\_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Allergy/Immunology
(SE\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	21	Adult_Allergy/Immunol	1 in 30 miles	3	7.0	21	100.0	0	0.0	4.7	4.8		
Chatham, GA		Adult_Allergy/Immunol	1 in 30 miles	16	4.9	79	100.0	0	0.0	3.9			
Effingham, GA		Adult_Allergy/Immunol	1 in 30 miles	4	3.3		100.0		0.0				
Glynn, GA	29	Adult_Allergy/Immunol	1 in 30 miles	6	4.8	29	100.0	0	0.0	3.8	4.1		
Grand Totals	142	Adult_Allergy/Immunol	1 in 30 miles	29	4.9	142	100.0	0	0.0	4.4	4.6		
© 2023 Quaet Analytics II C													

# **Adult Allergy/Immunology - Rural**

January 24, 2023

Access Analysis

Adult\_Allergy/Immunology - Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Allergy/Immunology
(SE\_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Allergy/Immunol	1 in 45 miles	0		4	80.0	1	20.0	43.2	43.2
Bacon, GA	1	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	1	100.0	52.0	52.0
Brantley, GA	4	Adult_Allergy/Immunol	1 in 45 miles	0		3	75.0	1	25.0	44.4	56.9
Bryan, GA		Adult_Allergy/Immunol	1 in 45 miles	6	1.8	11		0	0.0	11.4	11.4
Camden, GA	4	Adult_Allergy/Immunol	1 in 45 miles	1	4.0	4	100.0	0	0.0	4.3	74.1
Candler, GA	3	Adult_Allergy/Immunol	1 in 45 miles	0		3	100.0	0	0.0	29.3	29.3
Charlton, GA	2	Adult_Allergy/Immunol	1 in 45 miles	0		1	50.0	1	50.0	35.9	89.2
Evans, GA	4	Adult_Allergy/Immunol	1 in 45 miles	2	2.0	4	100.0	0	0.0	4.8	4.9
Jeff Davis, GA	3	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	3	100.0	54.6	54.7
Liberty, GA	23	Adult_Allergy/Immunol	1 in 45 miles	3	7.7	23	100.0	0	0.0	3.9	4.3
Long, GA	9	Adult_Allergy/Immunol	1 in 45 miles	0		9	100.0	0	0.0	11.3	11.3
McIntosh, GA	2	Adult_Allergy/Immunol	1 in 45 miles	0		2	100.0	0	0.0	34.5	35.0
Pierce, GA	4	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	4	100.0	55.6	57.9
Screven, GA	3	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	3	100.0	46.7	46.9
Tattnall, GA	5	Adult_Allergy/Immunol	1 in 45 miles	0		5	100.0	0	0.0	19.1	19.3
Toombs, GA	3	Adult_Allergy/Immunol	1 in 45 miles	0		3	100.0	0	0.0	29.9	30.0
Ware, GA	16	Adult_Allergy/Immunol	1 in 45 miles	0		0	0.0	16	100.0	60.1	72.1
Wayne, GA	10	Adult_Allergy/Immunol	1 in 45 miles	0		8	80.0	2	20.0	34.4	35.1
0 17.1	440	A 1 11 A 11 11	4 . 45 . 11	40	0.0	00	74.4	20	00.0	07.0	00.0
Grand Totals	112	Adult_Allergy/Immunol	1 in 45 miles	12	9.3	80	71.4	32	28.6	27.2	33.0

## **Adult Cardiology -Urban**

January 24, 2023

Access Analysis
Adult\_Cardiology - Urban

Member / Provider Groups
Adult Urban Members (SE\_URBAN)
Adult\_Cardiology (SE\_URBAN)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Adult_Cardiology	1 in 30 miles	17	1.2		100.0		0.0	3.9	
Chatham, GA		Adult_Cardiology	1 in 30 miles	81	1.0	79	100.0	0	0.0	2.4	3.2
Effingham, GA		Adult_Cardiology	1 in 30 miles	7	1.9		100.0	0		4.7	9.2
Glynn, GA	29	Adult_Cardiology	1 in 30 miles	12	2.4	29	100.0	0	0.0	3.5	4.0
Grand Totals	142	Adult_Cardiology	1 in 30 miles	117	1.2	142	100.0	0	0.0	3.0	4.1

## **Adult Cardiology - Rural**

January 24, 2023

Access Analysis

Adult\_Cardiology - Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Cardiology (SE\_RURAL)

			Members With	and With	out Access_						
	Member		Provider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Cardiology	1 in 45 miles	9	0.6	5	100.0	0	0.0	3.0	3.0
Bacon, GA	1	Adult_Cardiology	1 in 45 miles	3	0.3	1	100.0	0	0.0	8.4	8.4
Brantley, GA	4	Adult_Cardiology	1 in 45 miles	1	4.0	4	100.0	0	0.0	6.5	19.0
Bryan, GA	11	Adult_Cardiology	1 in 45 miles	4	2.8	11	100.0	0	0.0	11.3	11.3
Camden, GA	4	Adult_Cardiology	1 in 45 miles	7	0.6	4	100.0	0	0.0	4.2	4.2
Candler, GA	3	Adult_Cardiology	1 in 45 miles	5	0.6	3	100.0	0	0.0	6.7	7.0
Charlton, GA	2	Adult_Cardiology	1 in 45 miles	1	2.0	2	100.0	0	0.0	22.6	35.7
Evans, GA	4	Adult_Cardiology	1 in 45 miles	10	0.4	4	100.0	0	0.0	4.4	4.7
Jeff Davis, GA	3	Adult_Cardiology	1 in 45 miles	14	0.2	3	100.0	0	0.0	3.4	3.7
Liberty, GA	23	Adult_Cardiology	1 in 45 miles	8		23	100.0	0	0.0	4.1	4.3
Long, GA	9	Adult_Cardiology	1 in 45 miles	1	9.0	9	100.0	0	0.0	6.2	9.7
McIntosh, GA	2	Adult_Cardiology	1 in 45 miles	1	2.0		100.0	0	0.0	5.5	34.5
Pierce, GA		Adult_Cardiology	1 in 45 miles	2		4	100.0	0	0.0	8.1	11.0
Screven, GA		Adult_Cardiology	1 in 45 miles	3			100.0	0	0.0	1.0	6.7
Tattnall, GA	5	Adult_Cardiology	1 in 45 miles	5	1.0	5	100.0	0	0.0	6.4	7.0
Toombs, GA	3	Adult_Cardiology	1 in 45 miles	13	0.2	3	100.0	0	0.0	5.9	6.0
Ware, GA		Adult_Cardiology	1 in 45 miles	15			100.0	0	0.0	1.7	2.2
Wayne, GA		Adult_Cardiology	1 in 45 miles	9	1.1		100.0	0	0.0	6.5	
·											
Grand Totals	112	Adult_Cardiology	1 in 45 miles	111	1.0	112	100.0	0	0.0	5.5	7.6

## **Adult Endocrinology - Urban**

January 24, 2023

Access Analysis
Adult\_Endocrinology - Urban

Member / Provider Groups
Adult Urban Members (SE\_URBAN)
Adult\_Endocrinology (SE\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	21	Adult_Endocrinology	1 in 30 miles	0		0			100.0	57.4	57.5		
Chatham, GA		Adult_Endocrinology	1 in 30 miles	12		79	100.0		0.0	5.3			
Effingham, GA	13	Adult_Endocrinology	1 in 30 miles	0		7			46.2				
Glynn, GA	29	Adult_Endocrinology	1 in 30 miles	2	14.5	29	100.0	0	0.0	4.1	4.1		
Grand Totals	142	Adult_Endocrinology	1 in 30 miles	14	10.1	115	81.0	27	19.0	15.0	15.0		
© 2023 Quaet Analytics II C													

# **Adult Endocrinology - Rural**

January 24, 2023

Access Analysis
Adult\_Endocrinology - Rural
Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_Endocrinology (SE\_RURAL)

		Members With a	and With	out Access						
Member	Pi	ovider	Counts	Patio Members	With Acc	cess	Without Ac	cess	Average	Distance
#	Group	Standard	#	to Providers	#	%	#	%	1	2
5	Adult_Endocrinology	1 in 45 miles	0		5	100.0	0	0.0	40.4	49.4
		1 in 45 miles	0			100.0	0	0.0	28.0	61.9
4	Adult_Endocrinology	1 in 45 miles	0		4	100.0	0	0.0	22.6	86.8
11	Adult_Endocrinology	1 in 45 miles	0		5	45.5	6	54.5	55.1	86.1
4	Adult_Endocrinology	1 in 45 miles	0		0	0.0	4	100.0	61.1	117.5
3	Adult_Endocrinology	1 in 45 miles	1	3.0	3	100.0	0	0.0	7.0	88.7
2	Adult_Endocrinology	1 in 45 miles	0		1	50.0	1	50.0	50.1	124.4
4	Adult_Endocrinology	1 in 45 miles	0		4	100.0	0		20.1	74.5
3	Adult_Endocrinology	1 in 45 miles	0		0	0.0	3	100.0	50.7	61.6
23	Adult_Endocrinology	1 in 45 miles	0		0	0.0	23	100.0	58.4	73.3
9	Adult_Endocrinology	1 in 45 miles	0		0	0.0	9	100.0	53.1	63.6
2	Adult_Endocrinology	1 in 45 miles	0		0	0.0	2	100.0	59.2	83.1
4	Adult_Endocrinology	1 in 45 miles	0		4	100.0	0	0.0	17.9	74.4
3	Adult_Endocrinology	1 in 45 miles	0		3	100.0	0	0.0	42.3	114.1
5	Adult_Endocrinology	1 in 45 miles	0		5	100.0	0	0.0	28.6	61.2
3	Adult_Endocrinology	1 in 45 miles	0		3	100.0	0	0.0	24.7	73.5
16	Adult_Endocrinology	1 in 45 miles	1	16.0	16	100.0	0	0.0	2.2	86.2
10	Adult_Endocrinology	1 in 45 miles	0		5	50.0	5	50.0	42.4	64.3
112	Adult_Endocrinology	1 in 45 miles	2	56.0	59	52.7	53	47.3	38.7	77.5
	# 5 1 4 11 4 3 2 4 3 23 9 2 4 3 5 3 16 10	# Group  5 Adult_Endocrinology Adult_Endocrinology 4 Adult_Endocrinology 11 Adult_Endocrinology 4 Adult_Endocrinology 4 Adult_Endocrinology 3 Adult_Endocrinology 4 Adult_Endocrinology 4 Adult_Endocrinology 2 Adult_Endocrinology 9 Adult_Endocrinology 9 Adult_Endocrinology 4 Adult_Endocrinology 4 Adult_Endocrinology 5 Adult_Endocrinology 6 Adult_Endocrinology 7 Adult_Endocrinology 8 Adult_Endocrinology 9 Adult_Endocrinology 9 Adult_Endocrinology 10 Adult_Endocrinology 11 Adult_Endocrinology 12 Adult_Endocrinology 13 Adult_Endocrinology 14 Adult_Endocrinology 15 Adult_Endocrinology 16 Adult_Endocrinology 17 Adult_Endocrinology 18 Adult_Endocrinology 19 Adult_Endocrinology	# Group Standard  5 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 11 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 3 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 3 Adult_Endocrinology 1 in 45 miles 23 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 5 Adult_Endocrinology 1 in 45 miles 4 Adult_Endocrinology 1 in 45 miles 5 Adult_Endocrinology 1 in 45 miles 6 Adult_Endocrinology 1 in 45 miles 7 Adult_Endocrinology 1 in 45 miles 8 Adult_Endocrinology 1 in 45 miles 9 Adult_Endocrinology 1 in 45 miles 10 Adult_Endocrinology 1 in 45 miles 11 Adult_Endocrinology 1 in 45 miles 12 Adult_Endocrinology 1 in 45 miles 13 Adult_Endocrinology 1 in 45 miles 14 Adult_Endocrinology 1 in 45 miles 15 Adult_Endocrinology 1 in 45 miles 16 Adult_Endocrinology 1 in 45 miles	#         Group         Standard         #           5         Adult_Endocrinology         1 in 45 miles         0           4         Adult_Endocrinology         1 in 45 miles         0           3         Adult_Endocrinology         1 in 45 miles         0           4         Adult_Endocrinology         1 in 45 miles         0           3         Adult_Endocrinology         1 in 45 miles         0           23         Adult_Endocrinology         1 in 45 miles         0           23         Adult_Endocrinology         1 in 45 miles         0           4         Adult_Endocrinology         1 in 45 miles         0           4         Adult_Endocrinology         1 in 45 miles         0           3         Adult_Endocrinology         1 in 45 miles         0           4         Adult_Endocrinology         1 in 45 miles         0           5         Adult_Endocrinology         1 in 45 miles         0           3         Adult_Endocrinology </td <td># Group Standard # to Providers  5 Adult_Endocrinology</td> <td>Member         Group         Standard         #         Ratio Members to Providers         With Access to Providers           5         Adult_Endocrinology         1 in 45 miles         0          5           1         Adult_Endocrinology         1 in 45 miles         0          1           4         Adult_Endocrinology         1 in 45 miles         0          4           4         Adult_Endocrinology         1 in 45 miles         0          0           3         Adult_Endocrinology         1 in 45 miles         0          0           3         Adult_Endocrinology         1 in 45 miles         0          1           4         Adult_Endocrinology         1 in 45 miles         0          1           4         Adult_Endocrinology         1 in 45 miles         0          0           3         Adult_Endocrinology         1 in 45 miles         0          0           4         Adult_Endocrinology         1 in 45 miles         0          0           9         Adult_Endocrinology         1 in 45 miles         0          0           4</td> <td>Member         Provider         Counts         Ratio Members to Providers         With Access           #         Group         Standard         #         to Providers         #         %           5         Adult_Endocrinology         1 in 45 miles         0          5 100.0           1         Adult_Endocrinology         1 in 45 miles         0          4 100.0           4         Adult_Endocrinology         1 in 45 miles         0          5 45.5           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0           3         Adult_Endocrinology         1 in 45 miles         0          0         0.0           2         Adult_Endocrinology         1 in 45 miles         0          1 50.0           4         Adult_Endocrinology         1 in 45 miles         0          4 100.0           3         Adult_Endocrinology         1 in 45 miles         0          0         0.0           23         Adult_Endocrinology         1 in 45 miles         0          0         0.0           2         Adult_Endocrinology         1 in 45 miles         <t< td=""><td>Member         Provider         Counts         Ratio Members to Providers         With Access         Without Access           #         Group         Standard         #         %         #           5         Adult_Endocrinology         1 in 45 miles         0          5 100.0         0           1         Adult_Endocrinology         1 in 45 miles         0          4 100.0         0           4         Adult_Endocrinology         1 in 45 miles         0          5 45.5         6           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         4           3         Adult_Endocrinology         1 in 45 miles         0          0         0.0         4           4         Adult_Endocrinology         1 in 45 miles         0          1         50.0         1           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         23           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         23           9         Adult_Endocrinology         1 in 45 miles         &lt;</td><td>#         Group         Standard         #         With Access         Without Access           5         Adult_Endocrinology         1 in 45 miles         0          5         100.0         0         0           1         Adult_Endocrinology         1 in 45 miles         0          1         100.0         0         0           4         Adult_Endocrinology         1 in 45 miles         0          4         100.0         0         0           11         Adult_Endocrinology         1 in 45 miles         0          4         100.0         0</td><td>Member         Provider         Counts to Providers         Ratio Members to Providers         With Access to Providers         Without Access to Providers         Average           #         Group         Standard         #         0        </td></t<></td>	# Group Standard # to Providers  5 Adult_Endocrinology	Member         Group         Standard         #         Ratio Members to Providers         With Access to Providers           5         Adult_Endocrinology         1 in 45 miles         0          5           1         Adult_Endocrinology         1 in 45 miles         0          1           4         Adult_Endocrinology         1 in 45 miles         0          4           4         Adult_Endocrinology         1 in 45 miles         0          0           3         Adult_Endocrinology         1 in 45 miles         0          0           3         Adult_Endocrinology         1 in 45 miles         0          1           4         Adult_Endocrinology         1 in 45 miles         0          1           4         Adult_Endocrinology         1 in 45 miles         0          0           3         Adult_Endocrinology         1 in 45 miles         0          0           4         Adult_Endocrinology         1 in 45 miles         0          0           9         Adult_Endocrinology         1 in 45 miles         0          0           4	Member         Provider         Counts         Ratio Members to Providers         With Access           #         Group         Standard         #         to Providers         #         %           5         Adult_Endocrinology         1 in 45 miles         0          5 100.0           1         Adult_Endocrinology         1 in 45 miles         0          4 100.0           4         Adult_Endocrinology         1 in 45 miles         0          5 45.5           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0           3         Adult_Endocrinology         1 in 45 miles         0          0         0.0           2         Adult_Endocrinology         1 in 45 miles         0          1 50.0           4         Adult_Endocrinology         1 in 45 miles         0          4 100.0           3         Adult_Endocrinology         1 in 45 miles         0          0         0.0           23         Adult_Endocrinology         1 in 45 miles         0          0         0.0           2         Adult_Endocrinology         1 in 45 miles <t< td=""><td>Member         Provider         Counts         Ratio Members to Providers         With Access         Without Access           #         Group         Standard         #         %         #           5         Adult_Endocrinology         1 in 45 miles         0          5 100.0         0           1         Adult_Endocrinology         1 in 45 miles         0          4 100.0         0           4         Adult_Endocrinology         1 in 45 miles         0          5 45.5         6           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         4           3         Adult_Endocrinology         1 in 45 miles         0          0         0.0         4           4         Adult_Endocrinology         1 in 45 miles         0          1         50.0         1           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         23           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         23           9         Adult_Endocrinology         1 in 45 miles         &lt;</td><td>#         Group         Standard         #         With Access         Without Access           5         Adult_Endocrinology         1 in 45 miles         0          5         100.0         0         0           1         Adult_Endocrinology         1 in 45 miles         0          1         100.0         0         0           4         Adult_Endocrinology         1 in 45 miles         0          4         100.0         0         0           11         Adult_Endocrinology         1 in 45 miles         0          4         100.0         0</td><td>Member         Provider         Counts to Providers         Ratio Members to Providers         With Access to Providers         Without Access to Providers         Average           #         Group         Standard         #         0        </td></t<>	Member         Provider         Counts         Ratio Members to Providers         With Access         Without Access           #         Group         Standard         #         %         #           5         Adult_Endocrinology         1 in 45 miles         0          5 100.0         0           1         Adult_Endocrinology         1 in 45 miles         0          4 100.0         0           4         Adult_Endocrinology         1 in 45 miles         0          5 45.5         6           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         4           3         Adult_Endocrinology         1 in 45 miles         0          0         0.0         4           4         Adult_Endocrinology         1 in 45 miles         0          1         50.0         1           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         23           4         Adult_Endocrinology         1 in 45 miles         0          0         0.0         23           9         Adult_Endocrinology         1 in 45 miles         <	#         Group         Standard         #         With Access         Without Access           5         Adult_Endocrinology         1 in 45 miles         0          5         100.0         0         0           1         Adult_Endocrinology         1 in 45 miles         0          1         100.0         0         0           4         Adult_Endocrinology         1 in 45 miles         0          4         100.0         0         0           11         Adult_Endocrinology         1 in 45 miles         0          4         100.0         0	Member         Provider         Counts to Providers         Ratio Members to Providers         With Access to Providers         Without Access to Providers         Average           #         Group         Standard         #         0

#### **Adult ENT - Urban**

January 24, 2023

Access Analysis

Adult\_ENT- Urban

Member / Provider Groups
Adult Urban Members (SE\_URBAN)
Adult\_ENT (SE\_URBAN)

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Adult_ENT	1 in 30 miles	8	2.6	21	100.0	0	0.0	2.3	3.5		
Chatham, GA		Adult_ENT	1 in 30 miles	48	1.6	79	100.0	0	0.0	3.1			
Effingham, GA		Adult_ENT	1 in 30 miles	5			100.0		0.0	8.0			
Glynn, GA	29	Adult_ENT	1 in 30 miles	4	7.3	29	100.0	0	0.0	4.1	4.2		
Grand Totals	142	Adult_ENT	1 in 30 miles	65	2.2	142	100.0	0	0.0	3.6	3.9		
© 2023 Quaet Analytics II C													

#### **Adult ENT - Rural**

January 24, 2023

Access Analysis
Adult\_ENT - Rural
Member / Provider Group

Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_ENT (SE\_RURAL)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_ENT	1 in 45 miles	1	5.0	5	100.0	0	0.0	2.9	30.3
Bacon, GA	1	Adult_ENT	1 in 45 miles	0		1	100.0	0	0.0	13.3	26.3
Brantley, GA	4	Adult_ENT	1 in 45 miles	0		4	100.0	0	0.0	20.9	21.2
Bryan, GA	11	Adult_ENT	1 in 45 miles	9	1.2	11	100.0	0	0.0	11.9	11.9
Camden, GA	4	Adult_ENT	1 in 45 miles	0		0	0.0	4	100.0	60.0	60.0
Candler, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	28.0	28.7
Charlton, GA	2	Adult_ENT	1 in 45 miles	0		1	50.0	1	50.0	48.7	49.0
Evans, GA	4	Adult_ENT	1 in 45 miles	3	1.3	4	100.0	0	0.0	4.9	4.9
Jeff Davis, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	20.0	35.0
Liberty, GA	23	Adult_ENT	1 in 45 miles	6	3.8	23	100.0	0	0.0	4.4	4.4
Long, GA	9	Adult_ENT	1 in 45 miles	0		9	100.0	0	0.0	12.4	12.5
McIntosh, GA	2	Adult_ENT	1 in 45 miles	0		2	100.0	0	0.0	34.3	34.3
Pierce, GA	4	Adult_ENT	1 in 45 miles	2	2.0	4	100.0	0	0.0	8.6	10.7
Screven, GA	3	Adult_ENT	1 in 45 miles	0		0	0.0	3	100.0	46.7	46.7
Tattnall, GA		Adult_ENT	1 in 45 miles	0		5	100.0	0		19.3	
Toombs, GA		Adult_ENT	1 in 45 miles	6	0.5		100.0	0	0.0	6.0	
Ware, GA		Adult_ENT	1 in 45 miles	5	3.2		100.0	0	0.0	1.8	
Wayne, GA		- Adult_ENT	1 in 45 miles	2	5.0		100.0	0	0.0		
, ,		_									
Grand Totals	112	Adult_ENT	1 in 45 miles	34	3.3	104	92.9	8	7.1	12.8	14.7
		_									
© 2023 Ouget Analytics LLC								L		L	L

# **Adult Gastroenterology - Urban**

January 24, 2023

Access Analysis

Adult\_Gastreontology - Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Gastroenterology
(SE\_URBAN)

Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	21	Adult_Gastroenterology	1 in 30 miles	7	3.0	21	100.0	0	0.0	4.5	4.6	
Chatham, GA		Adult_Gastroenterology	1 in 30 miles	56			100.0	0	0.0	3.2		
Effingham, GA		Adult_Gastroenterology	1 in 30 miles	1			100.0		0.0	9.5		
Glynn, GA	29	Adult_Gastroenterology	1 in 30 miles	11	2.6	29	100.0	0	0.0	2.8	2.8	
Grand Totals	142	Adult_Gastroenterology	1 in 30 miles	75	1.9	142	100.0	0	0.0	3.9	4.6	

# **Adult Gastroenterology - Rural**

January 24, 2023

Access Analysis

Adult\_Gastreontology- Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Gastroenterology
(SE\_RURAL)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	5	Adult_Gastroenterology	1 in 45 miles	0		5	100.0	0	0.0	22.7	30.5	
Bacon, GA	1	Adult_Gastroenterology	1 in 45 miles	1	1.0	1	100.0	0	0.0	8.4	27.3	
Brantley, GA	4	Adult_Gastroenterology	1 in 45 miles	0		4	100.0	0	0.0	22.4	22.5	
Bryan, GA		Adult_Gastroenterology	1 in 45 miles	1	11.0	11	100.0	0	0.0	12.2	36.5	
Camden, GA	4	Adult_Gastroenterology	1 in 45 miles	7	0.6	4	100.0	0	0.0	4.2	4.2	
Candler, GA	3	Adult_Gastroenterology	1 in 45 miles	1	3.0	3	100.0	0	0.0	7.0	28.0	
Charlton, GA	2	Adult_Gastroenterology	1 in 45 miles	0		1	50.0	1	50.0	35.8	35.8	
Evans, GA	4	Adult_Gastroenterology	1 in 45 miles	1	4.0	4	100.0	0	0.0	4.8	20.1	
Jeff Davis, GA	3	Adult_Gastroenterology	1 in 45 miles	0		3	100.0	0	0.0	28.4	36.1	
Liberty, GA	23	Adult_Gastroenterology	1 in 45 miles	0		23	100.0	0	0.0	22.1	38.4	
Long, GA	9	Adult_Gastroenterology	1 in 45 miles	0		9	100.0	0	0.0	31.6	34.6	
McIntosh, GA	2	Adult_Gastroenterology	1 in 45 miles	0		2	100.0	0	0.0	39.0	47.7	
Pierce, GA	4	Adult_Gastroenterology	1 in 45 miles	0		4	100.0	0	0.0	12.9	17.0	
Screven, GA	3	Adult_Gastroenterology	1 in 45 miles	0		3	100.0	0	0.0	42.3	46.9	
Tattnall, GA	5	Adult_Gastroenterology	1 in 45 miles	0		5	100.0	0	0.0	19.1	27.4	
Toombs, GA	3	Adult_Gastroenterology	1 in 45 miles	3	1.0	3	100.0	0	0.0	6.3	6.3	
Ware, GA	16	Adult_Gastroenterology	1 in 45 miles	2	8.0	16	100.0	0	0.0	2.5	3.0	
Wayne, GA	10	Adult_Gastroenterology	1 in 45 miles	0		10	100.0	0	0.0	32.7	36.3	
Grand Totals	112	Adult_Gastroenterology	1 in 45 miles	16	7.0	111	99.1	1	0.9	18.7	27.6	
Grand Totals	112	Addit_Gastroenterology	1 III 45 IIIIles	10	7.0	111	99.1	'	0.9	10.7	21.0	

# **Adult Hematology/Oncology - Urban**

January 24, 2023

Access Analysis
Adult\_Hemotology/Oncology- Urban
Member / Provider Groups
Adult Urban Members (SE\_URBAN)
Adult\_Hematology/Oncology
(SE\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA			1 in 30 miles	25	0.8		100.0		0.0	3.7	3.7		
Chatham, GA			1 in 30 miles	89	0.9	79	100.0	0	0.0	2.5	2.6		
Effingham, GA			1 in 30 miles	11	1.2	13	100.0	0		6.4	6.4		
Glynn, GA	29	Adult_Hematology/On	1 in 30 miles	11	2.6	29	100.0	0	0.0	2.2	3.0		
Grand Totals	142	Adult_Hematology/On	1 in 30 miles	136	1.0	142	100.0	0	0.0	3.0	3.2		

# **Adult Hematology/Oncology - Rural**

January 24, 2023

Access Analysis

Adult\_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Hematology/Oncology
(SE\_RURAL)

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Hematology/On	1 in 45 miles	2	2.5	5	100.0	0	0.0	3.0	3.1
Bacon, GA	1	Adult_Hematology/On	1 in 45 miles	2	0.5		100.0		0.0	8.4	8.4
Brantley, GA	4	Adult_Hematology/On	1 in 45 miles	0		4	100.0	0	0.0	21.2	21.2
Bryan, GA	11	Adult_Hematology/On	1 in 45 miles	8	1.4	11	100.0	0	0.0	12.0	12.0
Camden, GA	4	Adult_Hematology/On	1 in 45 miles	5	0.8	4	100.0	0	0.0	4.2	4.3
Candler, GA	3	Adult_Hematology/On	1 in 45 miles	0		3	100.0	0	0.0	26.5	29.7
Charlton, GA	2	Adult_Hematology/On	1 in 45 miles	0		1	50.0	1	50.0	35.8	35.8
Evans, GA	4	Adult_Hematology/On	1 in 45 miles	0		4	100.0	0	0.0	15.8	21.2
Jeff Davis, GA	3	Adult_Hematology/On	1 in 45 miles	0		3	100.0	0	0.0	20.3	20.4
Liberty, GA	23	Adult_Hematology/On	1 in 45 miles	6	3.8	23	100.0	0	0.0	4.3	4.9
Long, GA	9	Adult_Hematology/On	1 in 45 miles	0		9	100.0	0	0.0	11.3	12.7
McIntosh, GA	2	Adult_Hematology/On	1 in 45 miles	1	2.0	2	100.0	0	0.0	4.5	34.5
Pierce, GA	4	Adult_Hematology/On	1 in 45 miles	4	1.0	4	100.0	0	0.0	7.5	7.8
Screven, GA	3	Adult_Hematology/On	1 in 45 miles	0		3	100.0	0	0.0	40.2	40.2
Tattnall, GA	5	Adult_Hematology/On	1 in 45 miles	1	5.0	5	100.0	0	0.0	7.7	23.3
Toombs, GA		Adult_Hematology/On	1 in 45 miles	14	0.2	3	100.0	0	0.0	6.0	6.1
Ware, GA	16	Adult_Hematology/On	1 in 45 miles	24		16	100.0	0	0.0	1.7	1.8
Wayne, GA		Adult_Hematology/On	1 in 45 miles	7	1.4	10	100.0	0	0.0	9.3	9.5
0 17.1	440		4. 45 11			444	00.4			0.5	44.0
Grand Totals	112	Adult_Hematology/On	1 in 45 miles	74	1.5	111	99.1	1	0.9	9.5	11.3

## **Adult Nephrology - Urban**

January 24, 2023

Access Analysis

Adult\_Nephrology - Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Nephrology (SE\_URBAN)

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Adult_Nephrology	1 in 30 miles	3	7.0		100.0		0.0	4.1	4.6		
Chatham, GA		Adult_Nephrology	1 in 30 miles	94	0.8	79	100.0	0	0.0	1.7	1.8		
Effingham, GA		Adult_Nephrology	1 in 30 miles	19		13	100.0	0		6.0	6.0		
Glynn, GA	29	Adult_Nephrology	1 in 30 miles	17	1.7	29	100.0	0	0.0	2.3	2.5		
Grand Totals	142	Adult_Nephrology	1 in 30 miles	133	1.1	142	100.0	0	0.0	2.6	2.7		

## **Adult Nephrology - Rural**

January 24, 2023

Access Analysis

Adult\_Nephrology - Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Nephrology (SE\_RURAL)

Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	5	Adult_Nephrology	1 in 45 miles	9	0.6	5	100.0	0	0.0	2.0	2.9	
Bacon, GA		Adult_Nephrology	1 in 45 miles	0		1	100.0	0	0.0	12.1	12.1	
Brantley, GA	4	Adult_Nephrology	1 in 45 miles	0		4	100.0	0	0.0	22.3	22.4	
Bryan, GA	11	Adult_Nephrology	1 in 45 miles	0		11	100.0	0	0.0	19.5	20.0	
Camden, GA	4	Adult_Nephrology	1 in 45 miles	7	0.6	4	100.0	0	0.0	3.2	3.2	
Candler, GA	3	Adult_Nephrology	1 in 45 miles	2	1.5	3	100.0	0	0.0	7.0	7.0	
Charlton, GA	2	Adult_Nephrology	1 in 45 miles	0		1	50.0	1	50.0	35.6	35.6	
Evans, GA	4	Adult_Nephrology	1 in 45 miles	8	0.5	4	100.0	0	0.0	4.7	4.7	
Jeff Davis, GA	3	Adult_Nephrology	1 in 45 miles	0		3	100.0	0	0.0	20.0	20.3	
Liberty, GA	23	Adult_Nephrology	1 in 45 miles	12	1.9	23	100.0	0	0.0	4.1	4.3	
Long, GA	9	Adult_Nephrology	1 in 45 miles	0		9	100.0	0	0.0	8.3	8.3	
McIntosh, GA	2	Adult_Nephrology	1 in 45 miles	3	0.7	2	100.0	0	0.0	2.7	2.7	
Pierce, GA	4	Adult_Nephrology	1 in 45 miles	0		4	100.0	0	0.0	13.7	13.9	
Screven, GA	3	Adult_Nephrology	1 in 45 miles	0		3	100.0	0	0.0	42.4	42.4	
Tattnall, GA	5	Adult_Nephrology	1 in 45 miles	2	2.5	5	100.0	0	0.0	6.6	7.9	
Toombs, GA		Adult_Nephrology	1 in 45 miles	5	0.6		100.0	0	0.0	6.3	6.4	
Ware, GA		Adult_Nephrology	1 in 45 miles	9	1.8	16	100.0	0	0.0	2.1		
Wayne, GA		Adult_Nephrology	1 in 45 miles	7	1.4		100.0		0.0	9.7	9.7	
Grand Totals	112	Adult_Nephrology	1 in 45 miles	64	1.8	111	99.1	1	0.9	9.4	9.6	

## **Adult Dermatology - Urban**

January 24, 2023

Access Analysis

Adult\_Dermatology - Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Dermatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	P	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA		Adult_Dermatology	1 in 30 miles	8	2.6	21	100.0	0			6.1	
Chatham, GA		Adult_Dermatology	1 in 30 miles	8	9.9	79	100.0	0			4.5	
Effingham, GA		Adult_Dermatology	1 in 30 miles	1	13.0	13	100.0	0			14.6	
Glynn, GA	29	Adult_Dermatology	1 in 30 miles	8	3.6	29	100.0	0	0.0	2.8	3.0	
Grand Totals	142	Adult_Dermatology	1 in 30 miles	25	5.7	142	100.0	0	0.0	4.3	5.3	

# **Adult Dermatology - Rural**

January 24, 2023

Access Analysis
Adult\_Dermatology - Rural

Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_Dermatology

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pı	rovider	Counts	Ratio Members	With Acce	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	5	Adult_Dermatology	1 in 45 miles	1	5.0	5 1	100.0	0	0.0	2.8	31.3	
Bacon, GA		Adult_Dermatology	1 in 45 miles	0			100.0	0	0.0	13.4	26.9	
Brantley, GA	4	Adult_Dermatology	1 in 45 miles	0		4 1	100.0	0	0.0	20.9	21.4	
Bryan, GA	11	Adult_Dermatology	1 in 45 miles	4	2.8	11 1	100.0	0	0.0	7.9	10.2	
Camden, GA	4	Adult_Dermatology	1 in 45 miles	0		4 1	100.0	0	0.0	32.0	32.7	
Candler, GA	3	Adult_Dermatology	1 in 45 miles	0		3 1	100.0	0	0.0	23.3	23.3	
Charlton, GA	2	Adult_Dermatology	1 in 45 miles	0		1	50.0	1	50.0	48.7	49.6	
Evans, GA	4	Adult_Dermatology	1 in 45 miles	0		4 1	100.0	0	0.0	17.5	17.5	
Jeff Davis, GA	3	Adult_Dermatology	1 in 45 miles	0		3 1	100.0	0	0.0	19.6	30.2	
Liberty, GA	23	Adult_Dermatology	1 in 45 miles	5	4.6	23 1	100.0	0	0.0	4.6	5.0	
Long, GA	9	Adult_Dermatology	1 in 45 miles	0		9 1	100.0	0	0.0	13.5	13.5	
McIntosh, GA	2	Adult_Dermatology	1 in 45 miles	0		2 1	100.0	0	0.0	12.5	15.4	
Pierce, GA	4	Adult_Dermatology	1 in 45 miles	1	4.0	4 1	100.0	0	0.0	8.9	15.9	
Screven, GA	3	Adult_Dermatology	1 in 45 miles	0		3 1	100.0	0	0.0	18.2	23.0	
Tattnall, GA	5	Adult_Dermatology	1 in 45 miles	0		5 1	100.0	0	0.0	24.7	28.8	
Toombs, GA	3	Adult_Dermatology	1 in 45 miles	1	3.0	3 1	100.0	0	0.0	7.8	32.3	
Ware, GA	16	Adult_Dermatology	1 in 45 miles	6	2.7	16 1	100.0	0	0.0	2.2	2.8	
Wayne, GA	10	Adult_Dermatology	1 in 45 miles	5	2.0	10 1	100.0	0	0.0	9.1	9.4	
Grand Totals	112	Adult_Dermatology	1 in 45 miles	23	4.9	111	99.1	1	0.9	11.1	14.5	
Orana rotais	112	Addit_Definiatology	T III 45 IIIIICS	23	4.5	!!!	33.1	'	0.3	11.1	14.5	

## **Adult Rheumatology - Urban**

January 24, 2023

Access Analysis

Adult\_Rheumatology- Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Rheumatology

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	21	Adult_Rheumatology	1 in 30 miles	0		0			100.0	57.2	57.4		
Chatham, GA		Adult_Rheumatology	1 in 30 miles	4	19.8		100.0		0.0	6.0			
Effingham, GA		Adult_Rheumatology	1 in 30 miles	0		7			46.2	29.2			
Glynn, GA	29	Adult_Rheumatology	1 in 30 miles	1	29.0	29	100.0	0	0.0	4.3	52.9		
Grand Totals	142	Adult_Rheumatology	1 in 30 miles	5	28.4	115	81.0	27	19.0	15.4	25.4		
		_											
© 2023 Quest Analytics LLC													

# **Adult Rheumatology - Rural**

January 24, 2023

Access Analysis

Adult\_Rheumatology - Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Rheumatology

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acces	s Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	# 9	<b>%</b> #	%	1	2		
Appling, GA	5	Adult_Rheumatology	1 in 45 miles	2	2.5	5 10	0.0	0.0	2.7	3.2		
Bacon, GA	1	Adult_Rheumatology	1 in 45 miles	0		1 10	0.0	0.0	13.1	13.3		
Brantley, GA	4	Adult_Rheumatology	1 in 45 miles	0		4 10	0.0	0.0	22.8	32.2		
Bryan, GA	11	Adult_Rheumatology	1 in 45 miles	0		11 10	0.0	0.0	25.4	25.6		
Camden, GA	4	Adult_Rheumatology	1 in 45 miles	0		4 10	0.0	0.0	30.8	31.5		
Candler, GA	3	Adult_Rheumatology	1 in 45 miles	0		0	0.0	100.0	52.0	52.4		
Charlton, GA	2	Adult_Rheumatology	1 in 45 miles	0		2 10	0.0	0.0	38.7	38.8		
Evans, GA	4	Adult_Rheumatology	1 in 45 miles	0		1 2	5.0 3	75.0	45.9	46.0		
Jeff Davis, GA	3	Adult_Rheumatology	1 in 45 miles	0		3 10	0.0	0.0	19.8	20.4		
Liberty, GA	23	Adult_Rheumatology	1 in 45 miles	0		23 10	0.0	0.0	36.9	37.0		
Long, GA	9	Adult_Rheumatology	1 in 45 miles	0		9 10	0.0	0.0	37.1	37.4		
McIntosh, GA	2	Adult_Rheumatology	1 in 45 miles	0		2 10	0.0	0.0	18.5	51.8		
Pierce, GA	4	Adult_Rheumatology	1 in 45 miles	0		4 10	0.0	0.0	15.2	32.0		
Screven, GA	3	Adult_Rheumatology	1 in 45 miles	0		0	0.0	100.0	56.4	56.5		
Tattnall, GA	5	Adult_Rheumatology	1 in 45 miles	0		5 10	0.0	0.0	29.8	30.0		
Toombs, GA	3	Adult_Rheumatology	1 in 45 miles	0		3 10	0.0	0.0	34.1	34.7		
Ware, GA	16	Adult_Rheumatology	1 in 45 miles	1	16.0	16 10	0.0	0.0	2.4	39.6		
Wayne, GA		Adult_Rheumatology	1 in 45 miles	0		10 10	0.0	0.0	32.4	34.8		
Grand Totals	112	Adult_Rheumatology	1 in 45 miles	3	37.3	103 9	2.0 9	8.0	27.3	34.5		
Orana rotais	112	Addit_Ittledifiatology	1 111 43 1111163		37.3	103 3	2.0	0.0	21.5	34.5		

#### **Adult Infectious Disease - Urban**

January 24, 2023

Access Analysis
Adult\_Infectious Disease\_Urban
Member / Provider Groups
Adult Urban Members (SE\_URBAN)
Adult\_Infectious Disease
(SE\_URBAN)

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	21	Adult_Infectious Disease	1 in 30 miles	1	21.0		100.0		0.0	4.6	57.4	
Chatham, GA	79	Adult_Infectious Disease	1 in 30 miles	17	4.6		100.0		0.0			
Effingham, GA		Adult_Infectious Disease		0		11			15.4			
Glynn, GA	29	Adult_Infectious Disease	1 in 30 miles	3	9.7	29	100.0	0	0.0	4.1	4.1	
Grand Totals	142	Adult_Infectious Disease	1 in 30 miles	21	6.8	140	98.6	2	1.4	6.6	14.7	
2023 Quest Analytics LLC			•									

#### **Adult Infectious Disease - Rural**

January 24, 2023

Access Analysis
Adult\_Infectious Disease\_Rural
Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_Infectious Disease
(SE\_RURAL)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	5	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	5	100.0	49.4	86.7	
Bacon, GA	1	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	1	100.0	61.9	82.2	
Brantley, GA	4	Adult_Infectious Disease	1 in 45 miles	0		3	75.0	1	25.0	44.4	86.8	
Bryan, GA	11	Adult_Infectious Disease	1 in 45 miles	0		5	45.5	6	54.5	55.1	87.7	
Camden, GA	4	Adult_Infectious Disease	1 in 45 miles	1	4.0	4	100.0	0	0.0	4.3	117.5	
Candler, GA	3	Adult_Infectious Disease	1 in 45 miles	1	3.0	3	100.0	0	0.0	7.0	121.2	
Charlton, GA	2	Adult_Infectious Disease	1 in 45 miles	0		1	50.0	1	50.0	35.8	124.4	
Evans, GA	4	Adult_Infectious Disease	1 in 45 miles	0		4	100.0	0	0.0	20.1	101.1	
Jeff Davis, GA	3	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	3	100.0	61.6	102.0	
Liberty, GA	23	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	23	100.0	58.2	73.8	
Long, GA	9	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	9	100.0	53.1	69.9	
McIntosh, GA	2	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	2	100.0	47.7	83.1	
Pierce, GA	4	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	4	100.0	59.8	78.2	
Screven, GA	3	Adult_Infectious Disease	1 in 45 miles	0		3	100.0	0	0.0	42.3	134.7	
Tattnall, GA	5	Adult_Infectious Disease	1 in 45 miles	0		5	100.0	0	0.0	28.6	91.9	
Toombs, GA	3	Adult_Infectious Disease	1 in 45 miles	0		3	100.0	0	0.0	24.7	112.8	
Ware, GA	16	Adult_Infectious Disease	1 in 45 miles	0		0	0.0	16	100.0	60.1	86.2	
Wayne, GA	10	Adult_Infectious Disease	1 in 45 miles	0		1	10.0	9	90.0	54.0	67.4	
Grand Totals	112	Adult_Infectious Disease	1 in 45 miles	2	56.0	32	28.6	80	71.4	48.8	86.4	
Granu Totals	112	Addit_iniectious Disease	1 111 43 1111165		30.0	32	20.0	00	71.4	40.0	00.4	
							L					

# **Adult General Surgery - Urban**

January 24, 2023

Access Analysis

Adult\_General Surgery\_Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_General Surgery
(SE\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA		Adult_General Surgery	1 in 30 miles	20	1.1		100.0		0.0	3.3				
Chatham, GA		Adult_General Surgery	1 in 30 miles	155	0.5	79	100.0	0	0.0	2.5				
Effingham, GA		Adult_General Surgery	1 in 30 miles	17			100.0		0.0	6.0				
Glynn, GA	29	Adult_General Surgery	1 in 30 miles	19	1.5	29	100.0	0	0.0	3.5	4.0			
Grand Totals	142	Adult_General Surgery	1 in 30 miles	211	0.7	142	100.0	0	0.0	3.1	3.7			
© 2023 Quest Analytics LLC														

# **Adult General Surgery - Rural**

January 24, 2023

Access Analysis

Adult\_General Surgery\_Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_General Surgery
(SE\_RURAL)

				out Access						
Member Provider			Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
#	Group	Standard	#	to Providers	#	%	#	%	1	2
5	Adult_General Surgery	1 in 45 miles	8	0.6	5	100.0	0	0.0	2.4	2.9
1	Adult_General Surgery	1 in 45 miles	6	0.2		100.0	0	0.0	8.3	8.4
4	Adult_General Surgery	1 in 45 miles	1	4.0	4	100.0	0	0.0	6.4	14.6
11	Adult_General Surgery	1 in 45 miles	11	1.0	11	100.0	0	0.0	11.3	11.4
4	Adult_General Surgery	1 in 45 miles	9	0.4	4	100.0	0	0.0	4.2	4.2
3	Adult_General Surgery	1 in 45 miles	8	0.4	3	100.0	0	0.0	6.9	7.0
		1 in 45 miles	2	1.0	2	100.0	0	0.0	17.3	18.3
4	Adult_General Surgery	1 in 45 miles		2.0		100.0	0	0.0	4.9	4.9
		1 in 45 miles	6	0.5			0	0.0	3.5	3.7
		1 in 45 miles	6	3.8			0	0.0	4.1	4.5
9	Adult_General Surgery	1 in 45 miles	0		9	100.0	0	0.0	12.4	12.6
2	Adult_General Surgery	1 in 45 miles	0		2	100.0	0	0.0	34.5	34.5
4	Adult_General Surgery	1 in 45 miles	2	2.0	4	100.0	0	0.0	5.4	9.5
		1 in 45 miles	2	1.5	3	100.0	0	0.0	6.6	6.6
5	Adult_General Surgery	1 in 45 miles	1	5.0			0	0.0	7.0	18.6
3	Adult_General Surgery	1 in 45 miles	21	0.1	3	100.0	0	0.0	5.9	6.0
16	Adult_General Surgery	1 in 45 miles	19	0.8	16	100.0	0	0.0	1.7	2.1
10	Adult_General Surgery	1 in 45 miles	17	0.6	10	100.0	0	0.0	6.3	7.1
112	Adult_General Surgery	1 in 45 miles	121	0.9	112	100.0	0	0.0	6.5	7.8
	# 5 1 4 11 4 3 2 4 3 23 9 2 4 3 5 3 16 10		# Group Standard  5 Adult_General Surgery 1 in 45 miles 4 Adult_General Surgery 1 in 45 miles 14 Adult_General Surgery 1 in 45 miles 15 Adult_General Surgery 1 in 45 miles 16 Adult_General Surgery 1 in 45 miles 17 Adult_General Surgery 1 in 45 miles 18 Adult_General Surgery 1 in 45 miles 19 Adult_General Surgery 1 in 45 miles 19 Adult_General Surgery 1 in 45 miles 10 Adult_General Surgery 1 in 45 miles 11 Adult_General Surgery 1 in 45 miles 12 Adult_General Surgery 1 in 45 miles 13 Adult_General Surgery 1 in 45 miles 14 Adult_General Surgery 1 in 45 miles 15 Adult_General Surgery 1 in 45 miles 16 Adult_General Surgery 1 in 45 miles 17 Adult_General Surgery 1 in 45 miles 18 Adult_General Surgery 1 in 45 miles 19 Adult_General Surgery 1 in 45 miles 10 Adult_General Surgery 1 in 45 miles 10 Adult_General Surgery 1 in 45 miles 11 Adult_General Surgery 1 in 45 miles 12 Adult_General Surgery 1 in 45 miles 13 Adult_General Surgery 1 in 45 miles 14 Adult_General Surgery 1 in 45 miles 15 Adult_General Surgery 1 in 45 miles 16 Adult_General Surgery 1 in 45 miles 17 Adult_General Surgery 1 in 45 miles 18 Adult_General Surgery 1 in 45 miles 19 Adult_General Surgery 1 in 45 miles 10 Adult_General Surgery 1 in 45 miles	# Group Standard #  5 Adult_General Surgery 1 in 45 miles 6 4 Adult_General Surgery 1 in 45 miles 11 Adult_General Surgery 1 in 45 miles 11 Adult_General Surgery 1 in 45 miles 9 3 Adult_General Surgery 1 in 45 miles 8 2 Adult_General Surgery 1 in 45 miles 2 4 Adult_General Surgery 1 in 45 miles 2 4 Adult_General Surgery 1 in 45 miles 2 5 Adult_General Surgery 1 in 45 miles 2 6 Adult_General Surgery 1 in 45 miles 6 6 Adult_General Surgery 1 in 45 miles 6 6 Adult_General Surgery 1 in 45 miles 6 6 Adult_General Surgery 1 in 45 miles 0 6 Adult_General Surgery 1 in 45 miles 0 6 Adult_General Surgery 1 in 45 miles 0 6 Adult_General Surgery 1 in 45 miles 2 7 Adult_General Surgery 1 in 45 miles 2 8 Adult_General Surgery 1 in 45 miles 2 8 Adult_General Surgery 1 in 45 miles 2 9 Adult_General Surgery 1 in 45 miles 1 10 Adult_General Surgery 1 in 45 miles 1 11 Adult_General Surgery 1 in 45 miles 1 12 Adult_General Surgery 1 in 45 miles 1 13 Adult_General Surgery 1 in 45 miles 1 14 Adult_General Surgery 1 in 45 miles 1 15 Adult_General Surgery 1 in 45 miles 1 16 Adult_General Surgery 1 in 45 miles 1 17	# Group Standard # to Providers  5 Adult_General Surgery	# Group Standard # to Providers #  5 Adult_General Surgery 1 in 45 miles 6 0.2 1  4 Adult_General Surgery 1 in 45 miles 1 4.0 4  11 Adult_General Surgery 1 in 45 miles 1 1 1.0 11  4 Adult_General Surgery 1 in 45 miles 9 0.4 4  3 Adult_General Surgery 1 in 45 miles 9 0.4 3  4 Adult_General Surgery 1 in 45 miles 2 1.0 2  4 Adult_General Surgery 1 in 45 miles 2 2.0 4  3 Adult_General Surgery 1 in 45 miles 2 2.0 4  3 Adult_General Surgery 1 in 45 miles 2 2.0 4  3 Adult_General Surgery 1 in 45 miles 6 0.5 3  23 Adult_General Surgery 1 in 45 miles 6 0.5 3  23 Adult_General Surgery 1 in 45 miles 6 0.5 3.8 23  9 Adult_General Surgery 1 in 45 miles 0 9  2 Adult_General Surgery 1 in 45 miles 0 9  4 Adult_General Surgery 1 in 45 miles 0 9  4 Adult_General Surgery 1 in 45 miles 0 9  5 Adult_General Surgery 1 in 45 miles 2 2.0 4  3 Adult_General Surgery 1 in 45 miles 2 2.0 4  3 Adult_General Surgery 1 in 45 miles 2 2.0 4  3 Adult_General Surgery 1 in 45 miles 2 2.0 5  4 Adult_General Surgery 1 in 45 miles 2 2.0 5  5 Adult_General Surgery 1 in 45 miles 2 2.0 5  5 Adult_General Surgery 1 in 45 miles 2 2.0 5  5 Adult_General Surgery 1 in 45 miles 2 2.0 5  6 Adult_General Surgery 1 in 45 miles 2 2.0 6  6 Adult_General Surgery 1 in 45 miles 2 2.0 6  7 Adult_General Surgery 1 in 45 miles 2 2.0 6  8 Adult_General Surgery 1 in 45 miles 2 2.0 6  9 Adult_General Surgery 1 in 45 miles 2 2.0 6  10 Adult_General Surgery 1 in 45 miles 19 0.8 16  10 Adult_General Surgery 1 in 45 miles 19 0.8 16	# Group Standard # to Providers # %  5 Adult_General Surgery	# Group Standard # to Providers # % #  5 Adult_General Surgery 1 in 45 miles 8 0.6 5 100.0 0 1 Adult_General Surgery 1 in 45 miles 6 0.2 1 100.0 0 4 Adult_General Surgery 1 in 45 miles 11 4.0 4 100.0 0 11 Adult_General Surgery 1 in 45 miles 11 1.0 11 100.0 0 4 Adult_General Surgery 1 in 45 miles 9 0.4 4 100.0 0 3 Adult_General Surgery 1 in 45 miles 9 0.4 4 100.0 0 4 Adult_General Surgery 1 in 45 miles 2 1.0 2 100.0 0 4 Adult_General Surgery 1 in 45 miles 2 1.0 2 100.0 0 5 Adult_General Surgery 1 in 45 miles 2 2.0 4 100.0 0 6 Adult_General Surgery 1 in 45 miles 6 0.5 3 100.0 0 6 Adult_General Surgery 1 in 45 miles 6 0.5 3.8 23 100.0 0 6 Adult_General Surgery 1 in 45 miles 0 9 100.0 0 6 Adult_General Surgery 1 in 45 miles 0 9 100.0 0 6 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 6 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 7 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 8 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 8 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 9 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 9 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 9 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 9 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 9 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0 9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0 9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0 9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0 9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0 9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0 9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0	# Group Standard # to Providers # % # %  5 Adult_General Surgery 1 in 45 miles 6 0.2 1 100.0 0 0.0  4 Adult_General Surgery 1 in 45 miles 1 4.0 4 100.0 0 0.0  11 Adult_General Surgery 1 in 45 miles 1 1 0.0 11 100.0 0 0.0  4 Adult_General Surgery 1 in 45 miles 11 1.0 11 100.0 0 0.0  4 Adult_General Surgery 1 in 45 miles 9 0.4 4 100.0 0 0.0  3 Adult_General Surgery 1 in 45 miles 8 0.4 3 100.0 0 0.0  4 Adult_General Surgery 1 in 45 miles 2 1.0 2 100.0 0 0.0  4 Adult_General Surgery 1 in 45 miles 2 1.0 2 100.0 0 0.0  3 Adult_General Surgery 1 in 45 miles 2 2 0.0 4 100.0 0 0.0  3 Adult_General Surgery 1 in 45 miles 6 0.5 3 100.0 0 0.0  23 Adult_General Surgery 1 in 45 miles 6 0.5 3 100.0 0 0.0  4 Adult_General Surgery 1 in 45 miles 6 0.5 3 100.0 0 0.0  5 Adult_General Surgery 1 in 45 miles 0 0 0.0 0.0  4 Adult_General Surgery 1 in 45 miles 0 0 0.0 0.0  5 Adult_General Surgery 1 in 45 miles 0 0 0.0 0.0  6 Adult_General Surgery 1 in 45 miles 0 0 0.0 0.0  7 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  8 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  9 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  9 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  10 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  11 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  12 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  13 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  14 Adult_General Surgery 1 in 45 miles 0 0 0.0 0 0.0  15 Adult_General Surgery 1 in 45 miles 1 0.0 0 0.0 0 0.0  16 Adult_General Surgery 1 in 45 miles 1 0.0 0 0.0 0 0.0  17 Adult_General Surgery 1 in 45 miles 1 0.0 0 0.0 0 0.0  18 Adult_General Surgery 1 in 45 miles 1 0.0 0 0.0 0 0.0  19 Adult_General Surgery 1 in 45 miles 1 0.0 0 0.0 0 0.0  10 Adult_General Surgery 1 in 45 miles 1 0.0 0 0.0 0 0.0	# Group Standard # to Providers # % # % 1  5 Adult_General Surgery 1 in 45 miles 8 0.6 5 100.0 0 0.0 2.4  1 Adult_General Surgery 1 in 45 miles 6 0.2 11 100.0 0 0.0 8.3  4 Adult_General Surgery 1 in 45 miles 11 4.0 4 100.0 0 0.0 6.4  11 Adult_General Surgery 1 in 45 miles 11 1.0 11 10.0 0 0.0 0.0 6.4  4 Adult_General Surgery 1 in 45 miles 11 1.0 11 10.0 0 0.0 0.0 6.4  4 Adult_General Surgery 1 in 45 miles 9 0.4 4 100.0 0 0.0 4.2  3 Adult_General Surgery 1 in 45 miles 8 0.4 3 100.0 0 0.0 6.9  2 Adult_General Surgery 1 in 45 miles 2 1.0 2 100.0 0 0.0 17.3  4 Adult_General Surgery 1 in 45 miles 2 2 0.0 4 100.0 0 0.0 4.9  3 Adult_General Surgery 1 in 45 miles 6 0.5 3 100.0 0 0.0 4.9  4 Adult_General Surgery 1 in 45 miles 6 0.5 3 100.0 0 0.0 4.1  9 Adult_General Surgery 1 in 45 miles 0 9 100.0 0 0.0 4.1  4 Adult_General Surgery 1 in 45 miles 0 9 100.0 0 0.0 5.4  5 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 0.0 5.4  6 Adult_General Surgery 1 in 45 miles 2 2 0.0 4 100.0 0 0.0 5.4  7 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 0.0 5.4  8 Adult_General Surgery 1 in 45 miles 0 9 100.0 0 0.0 5.4  9 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 0.0 5.4  8 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 0.0 5.4  9 Adult_General Surgery 1 in 45 miles 0 9 100.0 0 0.0 5.4  9 Adult_General Surgery 1 in 45 miles 0 2 100.0 0 0.0 5.4  9 Adult_General Surgery 1 in 45 miles 1 5.0 5 100.0 0 0.0 5.9  16 Adult_General Surgery 1 in 45 miles 19 0.8 16 100.0 0 0.0 5.9  16 Adult_General Surgery 1 in 45 miles 19 0.8 16 100.0 0 0.0 5.0 5.9

## **Adult Neurology- Urban**

January 24, 2023

Access Analysis

Adult\_Neurology - Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Neurology (SE\_URBAN)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Adult_Neurology	1 in 30 miles	5	4.2		100.0		0.0	3.6	
Chatham, GA		Adult_Neurology	1 in 30 miles	67	1.2	79	100.0	0	0.0	3.0	3.3
Effingham, GA		Adult_Neurology	1 in 30 miles	3			100.0	0		9.3	9.5
Glynn, GA	29	Adult_Neurology	1 in 30 miles	17	1.7	29	100.0	0	0.0	2.7	2.8
Grand Totals	142	Adult_Neurology	1 in 30 miles	92	1.5	142	100.0	0	0.0	3.6	3.9

# **Adult Neurology - Rural**

January 24, 2023

Access Analysis

Adult\_Neurology - Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Neurology (SE\_RURAL)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Neurology	1 in 45 miles	3	1.7	5	100.0	0	0.0	3.0	3.1
Bacon, GA	1	Adult_Neurology	1 in 45 miles	2	0.5	1	100.0	0	0.0	8.4	8.5
Brantley, GA	4	Adult_Neurology	1 in 45 miles	0			100.0	0	0.0	22.3	22.4
Bryan, GA		Adult_Neurology	1 in 45 miles	4	2.8		100.0		0.0	11.3	13.0
Camden, GA	4	Adult_Neurology	1 in 45 miles	8	0.5	4	100.0	0	0.0	4.2	4.2
Candler, GA		Adult_Neurology	1 in 45 miles	0		3	100.0	0	0.0	27.4	30.3
Charlton, GA	2	Adult_Neurology	1 in 45 miles	0		1	50.0	1	50.0	35.8	35.8
Evans, GA	4	Adult_Neurology	1 in 45 miles	1	4.0		100.0	0	0.0	4.8	24.3
Jeff Davis, GA	3	Adult_Neurology	1 in 45 miles	1	3.0		100.0	0	0.0	3.8	20.3
Liberty, GA	23	Adult_Neurology	1 in 45 miles	5	4.6		100.0	0	0.0	3.5	4.1
Long, GA	9	Adult_Neurology	1 in 45 miles	0		9	100.0	0	0.0	8.7	11.3
McIntosh, GA	2	Adult_Neurology	1 in 45 miles	1	2.0		100.0	0	0.0	4.6	34.5
Pierce, GA	4	Adult_Neurology	1 in 45 miles	0			100.0	0	0.0	12.8	12.8
Screven, GA	3	Adult_Neurology	1 in 45 miles	2	1.5		100.0	0	0.0	6.7	6.7
Tattnall, GA	5	Adult_Neurology	1 in 45 miles	1	5.0	5	100.0	0	0.0	19.2	22.2
Toombs, GA	3	Adult_Neurology	1 in 45 miles	3	1.0	3	100.0	0	0.0	5.1	6.6
Ware, GA	16	Adult_Neurology	1 in 45 miles	5	3.2	16	100.0	0	0.0	2.5	2.8
Wayne, GA	10	Adult_Neurology	1 in 45 miles	7	1.4	10	100.0	0	0.0	9.7	9.7
Grand Totals	112	Adult_Neurology	1 in 45 miles	43	2.6	111	99.1	1	0.9	8.3	10.7
Orana rotais	112	Addit_Nodiology	1 111 40 1111103	40	2.0	111	33.1	· ·	0.5	0.0	10.7
			<u>l</u>								

## **Adult Ophthalmology - Urban**

January 24, 2023

Access Analysis

Adult\_Ophthalmology- Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Ophthalmology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA		Adult_Ophthalmology	1 in 30 miles	13	1.6		100.0		0.0	3.8	3.9			
Chatham, GA		Adult_Ophthalmology	1 in 30 miles	28		79	100.0	0	0.0	3.3				
Effingham, GA		Adult_Ophthalmology	1 in 30 miles	1	13.0		100.0		0.0					
Glynn, GA	29	Adult_Ophthalmology	1 in 30 miles	8	3.6	29	100.0	0	0.0	3.7	4.1			
Grand Totals	142	Adult_Ophthalmology	1 in 30 miles	50	2.8	142	100.0	0	0.0	4.0	5.0			
© 2023 Quest Analytics II C														

# **Adult Ophthalmology - Rural**

January 24, 2023

Access Analysis

Adult\_Ophthalmology - Rural

Member / Provider Groups

Adult Rural Members (SE\_RURAL)

Adult\_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Ophthalmology	1 in 45 miles	1	5.0	5	100.0	0	0.0	2.8	28.8
Bacon, GA	1	Adult_Ophthalmology	1 in 45 miles	0		1	100.0	0	0.0	13.5	27.2
Brantley, GA		Adult_Ophthalmology	1 in 45 miles	0			100.0	0	0.0	22.1	22.1
Bryan, GA		Adult_Ophthalmology	1 in 45 miles	2	5.5		100.0	0	0.0	5.7	15.9
Camden, GA		Adult_Ophthalmology	1 in 45 miles	2	2.0	4	100.0	0	0.0	4.3	4.3
Candler, GA		Adult_Ophthalmology	1 in 45 miles	0		3	100.0	0	0.0	18.5	18.5
Charlton, GA		Adult_Ophthalmology	1 in 45 miles	0			100.0	0	0.0	28.2	28.2
Evans, GA	4	Adult_Ophthalmology	1 in 45 miles	0		4	100.0	0	0.0	19.1	19.1
Jeff Davis, GA	3	Adult_Ophthalmology	1 in 45 miles	0		3	100.0	0	0.0	19.9	30.3
Liberty, GA		Adult_Ophthalmology	1 in 45 miles	4	5.8		100.0	0	0.0	3.9	4.9
Long, GA	9	Adult_Ophthalmology	1 in 45 miles	0		9	100.0	0	0.0	11.1	11.1
McIntosh, GA	2	Adult_Ophthalmology	1 in 45 miles	0		2	100.0	0	0.0	17.9	18.2
Pierce, GA		Adult_Ophthalmology	1 in 45 miles	0				0	0.0	13.7	16.0
Screven, GA	3	Adult_Ophthalmology	1 in 45 miles	0				0	0.0	25.3	25.5
Tattnall, GA	5	Adult_Ophthalmology	1 in 45 miles	3	1.7			0	0.0	14.3	14.3
Toombs, GA	3	Adult_Ophthalmology	1 in 45 miles	3	1.0	3	100.0	0	0.0	6.4	7.0
Ware, GA	16	Adult_Ophthalmology	1 in 45 miles	10	1.6	16	100.0	0	0.0	2.2	2.4
Wayne, GA	10	Adult_Ophthalmology	1 in 45 miles	3	3.3	10	100.0	0	0.0	9.6	9.7
Grand Totals	112	Adult_Ophthalmology	1 in 45 miles	28	4.0	112	100.0	0	0.0	9.1	12.0

## **Adult Orthopedics - Urban**

January 24, 2023

Access Analysis
Adult\_Orhopedics- Urban

Member / Provider Groups
Adult Urban Members (SE\_URBAN)
Adult\_Orthopedics

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pi	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA		Adult_Orthopedics	1 in 30 miles	38			100.0	0	0.0	2.9	3.3			
Chatham, GA		Adult_Orthopedics	1 in 30 miles	249	0.3	79	100.0	0	0.0	2.5	2.9			
Effingham, GA		Adult_Orthopedics	1 in 30 miles	72			100.0		0.0	6.1				
Glynn, GA	29	Adult_Orthopedics	1 in 30 miles	54	0.5	29	100.0	0	0.0	2.2	2.2			
Grand Totals	142	Adult_Orthopedics	1 in 30 miles	413	0.3	142	100.0	0	0.0	2.8	3.1			
2023 Quest Analytics LLC		!	-											

## **Adult Orthopedics - Rural**

January 24, 2023

Access Analysis
Adult\_Orhopedics- Rural
Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_Orthopedics

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Orthopedics	1 in 45 miles	37	0.1	5	100.0	0	0.0	2.6	3.1
Bacon, GA	1	Adult_Orthopedics	1 in 45 miles	24	0.0	1	100.0	0	0.0	8.4	8.6
Brantley, GA		Adult_Orthopedics	1 in 45 miles	0			100.0	0	0.0	20.1	21.0
Bryan, GA		Adult_Orthopedics	1 in 45 miles	41	0.3		100.0		0.0	9.2	9.8
Camden, GA		Adult_Orthopedics	1 in 45 miles	5		4		0	0.0	4.2	4.2
Candler, GA		Adult_Orthopedics	1 in 45 miles	25		3	100.0	0	0.0	5.5	5.5
Charlton, GA	2	Adult_Orthopedics	1 in 45 miles	0			100.0	0	0.0	27.9	28.0
Evans, GA	4	Adult_Orthopedics	1 in 45 miles	54			100.0	0	0.0	4.8	4.8
Jeff Davis, GA	3	Adult_Orthopedics	1 in 45 miles	9				0	0.0	3.6	3.6
Liberty, GA		Adult_Orthopedics	1 in 45 miles	66			100.0	0	0.0	2.0	2.4
Long, GA	9	Adult_Orthopedics	1 in 45 miles	1	9.0	9	100.0	0	0.0	6.2	8.2
McIntosh, GA	2	Adult_Orthopedics	1 in 45 miles	30		2	100.0	0	0.0	2.2	2.5
Pierce, GA		Adult_Orthopedics	1 in 45 miles	2	2.0			0	0.0	7.7	7.8
Screven, GA	3	Adult_Orthopedics	1 in 45 miles	56	0.1			0	0.0	6.6	6.6
Tattnall, GA	5	Adult_Orthopedics	1 in 45 miles	51	0.1			0	0.0	3.2	6.9
Toombs, GA	3	Adult_Orthopedics	1 in 45 miles	53		3	100.0	0	0.0	5.1	5.1
Ware, GA	16	Adult_Orthopedics	1 in 45 miles	53	0.3	16	100.0	0	0.0	1.4	1.7
Wayne, GA	10	Adult_Orthopedics	1 in 45 miles	32	0.3	10	100.0	0	0.0	8.9	9.1
Grand Totals	112	Adult_Orthopedics	1 in 45 miles	539	0.2	112	100.0	0	0.0	5.5	6.1

## **Adult Optometry - Urban**

January 24, 2023

Access Analysis
Adult\_Optometry - Urban

Member / Provider Groups
Adult Urban Members (SE\_URBAN)
Adult\_Optometry

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bulloch, GA	21	Adult_Optometry	1 in 30 miles	8	2.6	21	100.0	0	0.0	4.2	5.0			
Chatham, GA		Adult_Optometry	1 in 30 miles	29	2.7	79	100.0	0	0.0	3.1				
Effingham, GA		Adult_Optometry	1 in 30 miles	8			100.0		0.0					
Glynn, GA	29	Adult_Optometry	1 in 30 miles	14	2.1	29	100.0	0	0.0	2.9	2.9			
Grand Totals	142	Adult_Optometry	1 in 30 miles	59	2.4	142	100.0	0	0.0	3.7	4.0			
@ 2023 Quest Analytics II C														

## **Adult Optometry - Rural**

January 24, 2023

Access Analysis
Adult\_Optometry - Rural

Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA		Adult_Optometry	1 in 45 miles	0		5	100.0	0	0.0	28.8	29.8
Bacon, GA		Adult_Optometry	1 in 45 miles	0		1	100.0	0	0.0	27.2	28.9
Brantley, GA		Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	20.6	20.6
Bryan, GA		Adult_Optometry	1 in 45 miles	2	5.5	11	100.0	0	0.0	5.7	15.5
Camden, GA		Adult_Optometry	1 in 45 miles	9	0.4	4	100.0	0	0.0	3.7	3.9
Candler, GA		Adult_Optometry	1 in 45 miles	0		3	100.0	0	0.0	21.2	22.6
Charlton, GA		Adult_Optometry	1 in 45 miles	0		1	50.0	1	50.0	35.2	35.3
Evans, GA	4	Adult_Optometry	1 in 45 miles	0		4	100.0	0	0.0	19.1	19.1
Jeff Davis, GA	3	Adult_Optometry	1 in 45 miles	0		3	100.0	0	0.0	28.6	30.2
Liberty, GA	23	Adult_Optometry	1 in 45 miles	4	5.8	23	100.0	0	0.0	3.8	5.0
Long, GA	9	Adult_Optometry	1 in 45 miles	0		9	100.0	0	0.0	11.1	11.1
McIntosh, GA	2	Adult_Optometry	1 in 45 miles	0		2	100.0	0	0.0	16.9	16.9
Pierce, GA	4	Adult_Optometry	1 in 45 miles	0				0	0.0	16.0	17.4
Screven, GA	3	Adult_Optometry	1 in 45 miles	0				0	0.0	25.2	25.2
Tattnall, GA	5	Adult_Optometry	1 in 45 miles	2	2.5	5	100.0	0	0.0	14.3	14.3
Toombs, GA	3	Adult_Optometry	1 in 45 miles	1	3.0	3	100.0	0	0.0	7.0	35.3
Ware, GA	16	Adult_Optometry	1 in 45 miles	10	1.6	16	100.0	0	0.0	2.2	2.3
Wayne, GA	10	Adult_Optometry	1 in 45 miles	0		10	100.0	0	0.0	24.7	25.0
Grand Totals	112	Adult_Optometry	1 in 45 miles	28	4.0	111	99.1	1	0.9	12.2	14.4
Orana rotalo	112	riduit_optomotry	1 111 10 1111100		1.0		00.1	· ·	0.0	12.2	

## **Adult Urology - Urban**

January 24, 2023

Access Analysis

Adult\_Urology- Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Urology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Adult_Urology	1 in 30 miles	5		21	100.0			4.5	
Chatham, GA		Adult_Urology	1 in 30 miles	10			100.0	0	0.0		
Effingham, GA		Adult_Urology	1 in 30 miles	1	13.0	13	100.0	0			
Glynn, GA	29	Adult_Urology	1 in 30 miles	5	5.8	29	100.0	0	0.0	4.1	4.1
Grand Totals	142	Adult_Urology	1 in 30 miles	21	6.8	142	100.0	0	0.0	5.2	7.2

## **Adult Urology - Rural**

January 24, 2023

Access Analysis
Adult\_Urology- Rural
Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_Urology

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Urology	1 in 45 miles	0		5	100.0	0	0.0	22.7	30.2
Bacon, GA	1	Adult_Urology	1 in 45 miles	1	1.0	1	100.0	0	0.0	8.4	27.7
Brantley, GA	4	Adult_Urology	1 in 45 miles	0		4	100.0	0	0.0	22.5	31.7
Bryan, GA	11	Adult_Urology	1 in 45 miles	0		11	100.0	0	0.0	20.0	22.1
Camden, GA	4	Adult_Urology	1 in 45 miles	4	1.0	4	100.0	0	0.0	4.1	4.3
Candler, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	22.1	22.1
Charlton, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	27.9	28.0
Evans, GA	4	Adult_Urology	1 in 45 miles	1	4.0	4	100.0	0	0.0	4.9	22.8
Jeff Davis, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	27.1	30.7
Liberty, GA	23	Adult_Urology	1 in 45 miles	0			100.0	0	0.0	29.8	34.7
Long, GA	9	Adult_Urology	1 in 45 miles	0		9	100.0	0	0.0	19.8	32.7
McIntosh, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	18.4	18.4
Pierce, GA	4	Adult_Urology	1 in 45 miles	0		4	100.0	0	0.0	13.5	27.5
Screven, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	27.0	27.0
Tattnall, GA	5	Adult_Urology	1 in 45 miles	0		5	100.0	0	0.0	19.3	23.8
Toombs, GA	3	Adult_Urology	1 in 45 miles	6	0.5	3	100.0	0	0.0	5.9	6.0
Ware, GA	16	Adult_Urology	1 in 45 miles	1	16.0	16	100.0	0	0.0	2.5	27.1
Wayne, GA	10	Adult_Urology	1 in 45 miles	1	10.0	10	100.0	0	0.0	9.7	32.4
Grand Totals	112	Adult_Urology	1 in 45 miles	14	8.0	112	100.0	0	0.0	17.5	27.6
		_									

# **Adult Vascular Surgery - Urban**

January 24, 2023

Access Analysis

Adult\_Vascular Surgery- Urban

Member / Provider Groups

Adult Urban Members (SE\_URBAN)

Adult\_Vascular Surgery

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	21	Adult_Vascular Surgery	1 in 30 miles	9	2.3	21	100.0	0	0.0	4.2	4.2		
Chatham, GA		Adult_Vascular Surgery	1 in 30 miles	47	1.7	79	100.0	0	0.0	2.4			
Effingham, GA		Adult_Vascular Surgery	1 in 30 miles	10			100.0			6.3			
Glynn, GA	29	Adult_Vascular Surgery	1 in 30 miles	4	7.3	29	100.0	0	0.0	3.6	3.7		
Grand Totals	142	Adult_Vascular Surgery	1 in 30 miles	70	2.0	142	100.0	0	0.0	3.2	3.9		
© 2023 Queet Analytics II C													

# **Adult Vascular Surgery - Rural**

January 24, 2023

Access Analysis
Adult\_Vascular Surgery- Rural
Member / Provider Groups
Adult Rural Members (SE\_RURAL)
Adult\_Vascular Surgery

			<b>Members With</b>	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	5	Adult_Vascular Surgery	1 in 45 miles	0		5	100.0	0	0.0	29.8	29.9
Bacon, GA	1	Adult_Vascular Surgery	1 in 45 miles	0		1	100.0	0	0.0	27.4	28.9
Brantley, GA	4	Adult_Vascular Surgery	1 in 45 miles	0		4	100.0	0	0.0	21.4	22.3
Bryan, GA	11	Adult_Vascular Surgery	1 in 45 miles	0		11	100.0	0	0.0	16.2	17.6
Camden, GA	4	Adult_Vascular Surgery	1 in 45 miles	0		4	100.0	0	0.0	30.8	30.9
Candler, GA	3	Adult_Vascular Surgery	1 in 45 miles	5	0.6	3	100.0	0	0.0	7.0	7.0
Charlton, GA	2	Adult_Vascular Surgery	1 in 45 miles	0		2	100.0	0	0.0	37.9	38.5
Evans, GA	4	Adult_Vascular Surgery	1 in 45 miles	0		4	100.0	0	0.0	20.1	20.1
Jeff Davis, GA	3	Adult_Vascular Surgery	1 in 45 miles	0		3	100.0	0	0.0	30.3	30.3
Liberty, GA	23	Adult_Vascular Surgery	1 in 45 miles	0		23	100.0	0	0.0	28.2	31.8
Long, GA	9	Adult_Vascular Surgery	1 in 45 miles	0		9	100.0	0	0.0	20.0	41.9
McIntosh, GA	2	Adult_Vascular Surgery	1 in 45 miles	0		2	100.0	0	0.0	17.1	17.1
Pierce, GA	4	Adult_Vascular Surgery	1 in 45 miles	0		4	100.0	0	0.0	16.7	17.7
Screven, GA	3	Adult_Vascular Surgery	1 in 45 miles	0		3	100.0	0	0.0	25.1	25.1
Tattnall, GA	5	Adult_Vascular Surgery	1 in 45 miles	0		5	100.0	0	0.0	23.8	27.2
Toombs, GA	3	Adult_Vascular Surgery	1 in 45 miles	2	1.5	3	100.0	0	0.0	6.9	7.0
Ware, GA	16	Adult_Vascular Surgery	1 in 45 miles	2	8.0	16	100.0	0	0.0	2.1	3.1
Wayne, GA	10	Adult_Vascular Surgery	1 in 45 miles	1	10.0	10	100.0	0	0.0	9.7	39.6
·											
Grand Totals	112	Adult_Vascular Surgery	1 in 45 miles	10	11.2	112	100.0	0	0.0	18.8	24.5

# **Audiology- Urban**

January 24, 2023

Access Analysis Audiology- Urban Member / Provider Groups Urban Members (SE\_URBAN) Audiology

			Members With	and With	out Access_						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Audiology	1 in 30 miles	3			100.0		0.0	3.7	4.2
Chatham, GA		Audiology	1 in 30 miles	14		680	100.0	0	0.0		
Effingham, GA		Audiology	1 in 30 miles	0			100.0		0.0		
Glynn, GA	306	Audiology	1 in 30 miles	1	306.0	306	100.0	0	0.0	5.4	43.9
Grand Totals	1,376	Audiology	1 in 30 miles	18	76.4	1,376	100.0	0	0.0	6.6	17.6
© 2023 Queet Analytics II C											

## **Audiology - Rural**

January 24, 2023

Access Analysis Audiology- Rural Member / Provider Groups Rural Members (SE\_RURAL) Audiology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Audiology	1 in 45 miles	0		72	100.0	0	0.0	35.0	39.4
Bacon, GA	45	Audiology	1 in 45 miles	0			100.0	0	0.0	26.2	27.7
Brantley, GA	78	Audiology	1 in 45 miles	0		78	100.0	0	0.0	21.1	21.9
Bryan, GA		Audiology	1 in 45 miles	0			100.0	0	0.0	16.6	19.2
Camden, GA	282	Audiology	1 in 45 miles	0		282	100.0	0	0.0	30.4	32.9
Candler, GA	43	Audiology	1 in 45 miles	0		43	100.0	0	0.0	19.7	20.0
Charlton, GA	107	Audiology	1 in 45 miles	0		107		0	0.0	38.4	38.7
Evans, GA	28	Audiology	1 in 45 miles	0		28	100.0	0	0.0	24.4	24.6
Jeff Davis, GA	70	Audiology	1 in 45 miles	0		1	1.4	69	98.6	49.9	50.5
Liberty, GA	234	Audiology	1 in 45 miles	2	117.0	234	100.0	0	0.0	3.7	3.7
Long, GA	30	Audiology	1 in 45 miles	0		30	100.0	0	0.0	12.0	12.1
McIntosh, GA	40	Audiology	1 in 45 miles	0		40	100.0	0	0.0	20.9	32.7
Montgomery, GA	24	Audiology	1 in 45 miles	0		0	0.0	24	100.0	52.5	52.8
Pierce, GA	131	Audiology	1 in 45 miles	0		131	100.0	0	0.0	13.6	13.7
Screven, GA	72	Audiology	1 in 45 miles	0		72	100.0	0	0.0	26.3	26.4
Tattnall, GA	46	Audiology	1 in 45 miles	0		46	100.0	0	0.0	33.6	33.9
Toombs, GA	123	Audiology	1 in 45 miles	0		92	74.8	31	25.2	43.3	43.5
Ware, GA	234	Audiology	1 in 45 miles	4	58.5	234	100.0	0	0.0	1.5	2.6
Wayne, GA	141	Audiology	1 in 45 miles	1	141.0	141	100.0	0	0.0	7.9	30.7
Grand Totals	1,933	Audiology	1 in 45 miles	7	276.1	1,809	93.6	124	6.4	21.0	23.9
							<u> </u>				

### **Behavioral Health - Urban**

January 24, 2023

Access Analysis

Behavioral Health- Urban

Member / Provider Groups

Urban Members (SE\_URBAN)

Behavioral Health

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	Behavioral Health	1 in 30 miles	64	2.8	177	100.0	0	0.0	2.3	2.9
Chatham, GA		Behavioral Health	1 in 30 miles	484	1.4	680	100.0	0	0.0		1.4
Effingham, GA		Behavioral Health	1 in 30 miles	37			100.0				
Glynn, GA	306	Behavioral Health	1 in 30 miles	90	3.4	306	100.0	0	0.0	1.3	1.9
Grand Totals	1,376	Behavioral Health	1 in 30 miles	675	2.0	1,376	100.0	0	0.0	1.5	2.4

### **Behavioral Health - Rural**

January 24, 2023

Access Analysis Behavioral Health- Rural Member / Provider Groups Rural Members (SE\_RURAL) Behavioral Health

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Behavioral Health	1 in 45 miles	14	5.1	72	100.0	0	0.0	1.4	1.6
Bacon, GA	45	Behavioral Health	1 in 45 miles	35	1.3		100.0	0	0.0	1.8	2.1
Brantley, GA	78	Behavioral Health	1 in 45 miles	6	13.0	78	100.0	0	0.0	3.0	3.8
Bryan, GA	133	Behavioral Health	1 in 45 miles	39	3.4		100.0	0	0.0	4.0	8.2
Camden, GA	282	Behavioral Health	1 in 45 miles	89	3.2	282	100.0	0	0.0	1.1	1.5
Candler, GA	43	Behavioral Health	1 in 45 miles	4	10.8	43	100.0	0	0.0	3.1	4.1
Charlton, GA	107	Behavioral Health	1 in 45 miles	6	17.8	107	100.0	0	0.0	5.4	5.7
Evans, GA	28	Behavioral Health	1 in 45 miles	6	4.7	28	100.0	0	0.0	2.3	2.6
Jeff Davis, GA	70	Behavioral Health	1 in 45 miles	6	11.7	70	100.0	0	0.0	4.1	4.7
Liberty, GA	234	Behavioral Health	1 in 45 miles	57	4.1	234	100.0	0	0.0	1.3	1.4
Long, GA	30	Behavioral Health	1 in 45 miles	11	2.7	30	100.0	0	0.0	2.8	4.4
McIntosh, GA	40	Behavioral Health	1 in 45 miles	3	13.3	40	100.0	0	0.0	2.5	7.3
Montgomery, GA	24	Behavioral Health	1 in 45 miles	0		24	100.0	0	0.0	10.1	11.6
Pierce, GA	131	Behavioral Health	1 in 45 miles	17	7.7	131	100.0	0	0.0	2.5	3.5
Screven, GA	72	Behavioral Health	1 in 45 miles	3	24.0	72	100.0	0	0.0	2.6	3.4
Tattnall, GA	46	Behavioral Health	1 in 45 miles	2	23.0	46	100.0	0	0.0	5.9	10.6
Toombs, GA	123	Behavioral Health	1 in 45 miles	13	9.5	123	100.0	0	0.0	4.2	4.4
Ware, GA	234	Behavioral Health	1 in 45 miles	56	4.2	234	100.0	0	0.0	1.0	1.2
Wayne, GA	141	Behavioral Health	1 in 45 miles	16	8.8	141	100.0	0	0.0	4.9	5.4
Grand Totals	1,933	Behavioral Health	1 in 45 miles	383	5.0	1,933	100.0	0	0.0	2.7	3.6

# **Behavioral Health Facilities - Urban**

January 24, 2023

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (SE\_URBAN)

Behavioral Health Facilities

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	177	Behavioral Health Fac	1 in 30 miles	7	25.3		100.0	0	0.0	3.6			
Chatham, GA	680	Behavioral Health Fac	1 in 30 miles	129	5.3		100.0		0.0	2.0			
Effingham, GA			1 in 30 miles	4			100.0		0.0				
Glynn, GA	306	Behavioral Health Fac	1 in 30 miles	16	19.1	306	100.0	0	0.0	1.9	2.6		
Grand Totals	1,376	Behavioral Health Fac	1 in 30 miles	156	8.8	1,376	100.0	0	0.0	2.8	3.6		
@ 2023 Ouget Anglytics II C													

# **Behavioral Health Facilities - Rural**

January 24, 2023

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (SE\_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Behavioral Health Fac	1 in 45 miles	3	24.0	72	100.0	0	0.0	2.1	4.4
Bacon, GA	45	Behavioral Health Fac	1 in 45 miles	16	2.8	45	100.0	0	0.0	2.0	2.2
Brantley, GA	78	Behavioral Health Fac	1 in 45 miles	1	78.0	78	100.0	0	0.0	6.3	15.7
Bryan, GA	133	Behavioral Health Fac	1 in 45 miles	18			100.0	0	0.0	4.6	9.3
Camden, GA	282	Behavioral Health Fac	1 in 45 miles	10	28.2	282	100.0	0	0.0	5.6	7.4
Candler, GA	43	Behavioral Health Fac	1 in 45 miles	1	43.0	43	100.0	0	0.0	6.6	16.2
Charlton, GA	107	Behavioral Health Fac	1 in 45 miles	3	35.7	107	100.0	0	0.0	5.7	6.6
Evans, GA	28	Behavioral Health Fac	1 in 45 miles	3	9.3	28	100.0	0	0.0	2.3	2.6
Jeff Davis, GA	70	Behavioral Health Fac	1 in 45 miles	1	70.0	70	100.0	0	0.0	6.9	17.0
Liberty, GA	234	Behavioral Health Fac	1 in 45 miles	6	39.0	234	100.0	0	0.0	2.0	2.9
Long, GA	30	Behavioral Health Fac	1 in 45 miles	2	15.0	30	100.0	0	0.0	3.9	7.3
McIntosh, GA	40	Behavioral Health Fac	1 in 45 miles	1	40.0	40	100.0	0	0.0	6.2	11.9
Montgomery, GA	24	Behavioral Health Fac	1 in 45 miles	0		24	100.0	0	0.0	12.4	22.8
Pierce, GA	131	Behavioral Health Fac	1 in 45 miles	4	32.8	131	100.0	0	0.0	2.7	3.8
Screven, GA	72	Behavioral Health Fac	1 in 45 miles	1	72.0	72	100.0	0	0.0	2.7	18.8
Tattnall, GA	46	Behavioral Health Fac	1 in 45 miles	1	46.0	46	100.0	0	0.0	9.2	15.5
Toombs, GA	123	Behavioral Health Fac	1 in 45 miles	1	123.0	123	100.0	0	0.0	5.1	22.6
Ware, GA	234	Behavioral Health Fac	1 in 45 miles	19	12.3	234	100.0	0	0.0	1.5	1.6
Wayne, GA	141	Behavioral Health Fac	1 in 45 miles	2	70.5	141	100.0	0	0.0	6.2	8.6
Grand Totals	1,933	Behavioral Health Fac	1 in 45 miles	93	20.8	1,933	100.0	0	0.0	4.3	8.5

### **Dental - Urban**

January 24, 2023

Access Analysis

Dental- Urban

Member / Provider Groups
Urban Members (SE\_URBAN)
Dental

				Members With a	nd With	out Access						
	Member		Pre	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#		Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	Dental		1 in 30 miles	7		177	100.0	0	0.0	3.8	3.8
Chatham, GA		Dental		1 in 30 miles	38 9	17.9	680	100.0	0	0.0		
Effingham, GA		Dental		1 in 30 miles				100.0				
Glynn, GA	306	Dental		1 in 30 miles	11	27.8	306	100.0	0	0.0	2.7	3.1
									_			
Grand Totals	1,376	Dental		1 in 30 miles	65	21.2	1,376	100.0	0	0.0	2.8	3.6
© 2023 Quest Analytics, LLC.				1								

### **Dental - Rural**

January 24, 2023

Access Analysis
Dental- Rural
Member / Provider

Member / Provider Groups Rural Members (SE\_RURAL) Dental

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Dental	1 in 45 miles	0		72	100.0	0	0.0	20.5	32.3
Bacon, GA	45	Dental	1 in 45 miles	1	45.0	45	100.0	0	0.0	2.1	23.5
Brantley, GA	78	Dental	1 in 45 miles	1	78.0	78	100.0	0	0.0	4.2	21.4
Bryan, GA	133	Dental	1 in 45 miles	5	26.6	133	100.0	0	0.0	5.2	11.4
Camden, GA	282	Dental	1 in 45 miles	4	70.5	282	100.0	0	0.0	6.9	14.7
Candler, GA	43	Dental	1 in 45 miles	0		43	100.0	0	0.0	18.2	18.2
Charlton, GA	107	Dental	1 in 45 miles	1	107.0	107	100.0	0	0.0	5.7	26.5
Evans, GA	28	Dental	1 in 45 miles	7	4.0	28	100.0	0	0.0	2.2	2.2
Jeff Davis, GA	70	Dental	1 in 45 miles	0			100.0	0	0.0	25.1	
Liberty, GA	234	Dental	1 in 45 miles	15	15.6		100.0	0	0.0	2.5	
Long, GA		Dental	1 in 45 miles	1			100.0	0	0.0	5.7	11.2
McIntosh, GA	40	Dental	1 in 45 miles	1	40.0	40	100.0	0	0.0	7.3	18.1
Montgomery, GA	24	Dental	1 in 45 miles	0		24	100.0	0	0.0	17.6	27.2
Pierce, GA		Dental	1 in 45 miles	0			100.0	0	0.0		
Screven, GA		Dental	1 in 45 miles	0			100.0	0	0.0	26.2	
Tattnall, GA		Dental	1 in 45 miles	1	46.0		100.0	0	0.0		
Toombs, GA		Dental	1 in 45 miles	0			100.0	0	0.0		
Ware, GA		Dental	1 in 45 miles	2	117.0		100.0	0	0.0		
Wayne, GA	141	Dental	1 in 45 miles	1	141.0	141	100.0	0	0.0	6.5	
Grand Totals	1,933	Dental	1 in 45 miles	40	48.3	1,933	100.0	0	0.0	9.1	15.3

# **Dental Subspeciality - Urban**

January 24, 2023

Access Analysis

Dental Subspeciality- Urban

Member / Provider Groups

Urban Members (SE\_URBAN)

Dental Subspecialty

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Dental Subspecialty	1 in 30 miles	3			100.0		0.0	5.8			
Chatham, GA		Dental Subspecialty	1 in 30 miles	3			100.0	0	0.0				
Effingham, GA		Dental Subspecialty	1 in 30 miles	0		204							
Glynn, GA	306	Dental Subspecialty	1 in 30 miles	2	153.0	306	100.0	0	0.0	3.5	4.2		
Grand Totals	1,376	Dental Subspecialty	1 in 30 miles	8	172.0	1,367	99.3	9	0.7	8.7	9.5		
© 2023 Quest Analytics II C													

# **Dental Subspeciality - Rural**

January 24, 2023

Access Analysis

Dental Subspeciality- Rural

Member / Provider Groups

Rural Members (SE\_RURAL)

Dental Subspecialty

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Dental Subspecialty	1 in 45 miles	0		72	100.0	0	0.0	39.5	42.1
Bacon, GA	45	Dental Subspecialty	1 in 45 miles	0		45	100.0	0	0.0	23.9	27.2
Brantley, GA	78	Dental Subspecialty	1 in 45 miles	0		78	100.0	0	0.0	21.9	29.9
Bryan, GA	133	Dental Subspecialty	1 in 45 miles	0			100.0	0	0.0	16.8	20.3
Camden, GA	282	Dental Subspecialty	1 in 45 miles	0		282	100.0	0	0.0	33.3	33.4
Candler, GA	43	Dental Subspecialty	1 in 45 miles	0		43	100.0	0	0.0	18.3	18.3
Charlton, GA		Dental Subspecialty	1 in 45 miles	0		91	85.0	16	15.0	43.1	53.3
Evans, GA	28	Dental Subspecialty	1 in 45 miles	1	28.0	28	100.0	0	0.0	2.2	22.9
Jeff Davis, GA	70	Dental Subspecialty	1 in 45 miles	0		70	100.0	0	0.0	32.9	49.9
Liberty, GA	234	Dental Subspecialty	1 in 45 miles	1	234.0	234	100.0	0	0.0	6.2	34.8
Long, GA	30	Dental Subspecialty	1 in 45 miles	0		30	100.0	0	0.0	15.4	32.3
McIntosh, GA	40	Dental Subspecialty	1 in 45 miles	0		40	100.0	0	0.0	18.2	18.8
Montgomery, GA	24	Dental Subspecialty	1 in 45 miles	0		24	100.0	0	0.0	35.1	36.2
Pierce, GA	131	Dental Subspecialty	1 in 45 miles	0		131	100.0	0	0.0	14.1	41.5
Screven, GA	72	Dental Subspecialty	1 in 45 miles	0		72	100.0	0	0.0	28.1	28.1
Tattnall, GA	46	Dental Subspecialty	1 in 45 miles	0		46	100.0	0	0.0	17.9	34.4
Toombs, GA	123	Dental Subspecialty	1 in 45 miles	0		123	100.0	0	0.0	26.7	28.0
Ware, GA	234	Dental Subspecialty	1 in 45 miles	1	234.0	234	100.0	0	0.0	1.5	42.6
Wayne, GA	141	Dental Subspecialty	1 in 45 miles	0		141	100.0	0	0.0	32.1	37.2
Grand Totals	1,933	Dental Subspecialty	1 in 45 miles	3	644.3	1,917	99.2	16	8.0	21.4	35.0

# **Dialysis - Urban**

January 24, 2023

Access Analysis
Dialysis- Urban

Member / Provider Groups
Urban Members (SE\_URBAN)
Dialysis

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Dialysis	1 in 30 miles	2			100.0			5.8	6.2		
Chatham, GA		Dialysis	1 in 30 miles	8		680	100.0	0					
Effingham, GA		Dialysis	1 in 30 miles	1	213.0	213	100.0	0					
Glynn, GA	306	Dialysis	1 in 30 miles	3	102.0	306	100.0	0	0.0	3.5	5.7		
Grand Totals	1,376	Dialysis	1 in 30 miles	14	98.3	1,376	100.0	0	0.0	4.1	6.5		
© 2023 Quaet Anglutics II C													

# **Dialysis - Rural**

January 24, 2023

Access Analysis
Dialysis- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Dialysis

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Dialysis	1 in 45 miles	1	72.0	72	100.0	0	0.0	2.5	29.5
Bacon, GA	45	Dialysis	1 in 45 miles	0		45	100.0	0	0.0	20.1	24.2
Brantley, GA	78	Dialysis	1 in 45 miles	0		78	100.0	0	0.0	21.9	22.4
Bryan, GA		Dialysis	1 in 45 miles	0			100.0	0	0.0	13.0	
Camden, GA	282	Dialysis	1 in 45 miles	2	141.0	282	100.0	0	0.0	4.2	7.7
Candler, GA	43	Dialysis	1 in 45 miles	1	43.0	43	100.0	0	0.0	4.2	19.6
Charlton, GA	107	Dialysis	1 in 45 miles	0		100		7	6.5	28.0	30.7
Evans, GA	28	Dialysis	1 in 45 miles	1	28.0	28	100.0	0	0.0	2.1	22.0
Jeff Davis, GA	70	Dialysis	1 in 45 miles	0		70	100.0	0	0.0	19.6	30.0
Liberty, GA	234	Dialysis	1 in 45 miles	2	117.0	234	100.0	0	0.0	3.5	6.5
Long, GA	30	Dialysis	1 in 45 miles	0		30	100.0	0	0.0	8.3	11.7
McIntosh, GA	40	Dialysis	1 in 45 miles	1	40.0	40	100.0	0	0.0	5.9	18.9
Montgomery, GA	24	Dialysis	1 in 45 miles	0		24	100.0	0	0.0	12.4	12.9
Pierce, GA	131	Dialysis	1 in 45 miles	0		131	100.0	0	0.0	13.5	14.7
Screven, GA	72	Dialysis	1 in 45 miles	0		72	100.0	0	0.0	28.2	28.4
Tattnall, GA	46	Dialysis	1 in 45 miles	0		46	100.0	0	0.0	17.2	22.0
Toombs, GA	123	Dialysis	1 in 45 miles	9	13.7	123	100.0	0	0.0	3.8	4.1
Ware, GA	234	Dialysis	1 in 45 miles	2	117.0	234	100.0	0	0.0	1.6	2.0
Wayne, GA	141	Dialysis	1 in 45 miles	2	70.5	141	100.0	0	0.0	7.6	7.9
Grand Totals	1,933	Dialysis	1 in 45 miles	21	92.0	1,926	99.6	7	0.4	9.6	13.5

### **DME** - Urban

January 24, 2023

Access Analysis DME- Urban

Member / Provider Groups
Urban Members (SE\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Gr	oup	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	177	DME		1 in 30 miles	20	8.9	177	100.0	0	0.0	2.2	2.7	
Chatham, GA		DME		1 in 30 miles	39	17.4	680	100.0	0	0.0			
Effingham, GA		DME		1 in 30 miles	20			100.0					
Glynn, GA	306	DME		1 in 30 miles	22	13.9	306	100.0	0	0.0	2.8	4.0	
									_				
Grand Totals	1,376	DME		1 in 30 miles	101	13.6	1,376	100.0	0	0.0	2.9	3.9	
© 2023 Quest Analytics, LLC.	•	•			_								

### **DME - Rural**

January 24, 2023

Access Analysis DME- Rural

Member / Provider Groups
Rural Members (SE\_RURAL)
DME

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA		DME	1 in 45 miles	23			100.0	0	0.0	1.3	1.5
Bacon, GA	45	DME	1 in 45 miles	19			100.0	0	0.0	0.7	1.2
Brantley, GA		DME	1 in 45 miles	17	4.6		100.0		0.0	3.0	
Bryan, GA		DME	1 in 45 miles	0			100.0		0.0	12.4	
Camden, GA	282	DME	1 in 45 miles	17	16.6	282	100.0	0	0.0	3.8	16.9
Candler, GA	43	DME	1 in 45 miles	20		43	100.0	0	0.0	1.5	
Charlton, GA	107	DME	1 in 45 miles	17	6.3	107	100.0	0	0.0	4.3	4.7
Evans, GA	28	DME	1 in 45 miles	19	1.5	28	100.0	0	0.0	1.0	1.6
Jeff Davis, GA	70	DME	1 in 45 miles	21	3.3	70	100.0	0	0.0	2.3	2.5
Liberty, GA	234	DME	1 in 45 miles	18	13.0	234	100.0	0	0.0	2.2	2.7
Long, GA	30	DME	1 in 45 miles	20	1.5	30	100.0	0	0.0	0.9	2.1
McIntosh, GA	40	DME	1 in 45 miles	16	2.5	40	100.0	0	0.0	6.6	6.6
Montgomery, GA	24	DME	1 in 45 miles	1	24.0	24	100.0	0	0.0	8.2	
Pierce, GA	131	DME	1 in 45 miles	17	7.7	131	100.0	0	0.0	5.9	7.5
Screven, GA		DME	1 in 45 miles	14	5.1	72	100.0	0	0.0	2.2	16.1
Tattnall, GA	46	DME	1 in 45 miles	18	2.6	46	100.0	0	0.0	4.6	5.8
Toombs, GA	123	DME	1 in 45 miles	39		123	100.0	0	0.0	2.6	3.1
Ware, GA	234	DME	1 in 45 miles	26	9.0	234	100.0	0	0.0	1.6	1.6
Wayne, GA	141	DME	1 in 45 miles	22	6.4	141	100.0	0	0.0	3.7	4.1
Grand Totals	1,933	DME	1 in 45 miles	344	5.6	1,933	100.0	0	0.0	3.7	6.6

### **FQHCs AND RHCs - Urban**

January 24, 2023

Access Analysis
FQHCs and RHCs- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
FQHCs and RHCs

Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA		FQHCs and RHCs	1 in 30 miles	1	177.0		100.0		0.0	5.9		
Chatham, GA		FQHCs and RHCs	1 in 30 miles	10			100.0		0.0	3.5		
Effingham, GA		FQHCs and RHCs	1 in 30 miles	3	71.0		100.0		0.0			
Glynn, GA	306	FQHCs and RHCs	1 in 30 miles	0		306	100.0	0	0.0	25.5	28.8	
Grand Totals	1,376	FQHCs and RHCs	1 in 30 miles	14	98.3	1,376	100.0	0	0.0	9.1	12.2	

### **FQHCs AND RHCs - Rural**

January 24, 2023

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
FQHCs and RHCs

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	FQHCs and RHCs	1 in 45 miles	2	36.0	72	100.0	0	0.0	1.7	2.6
Bacon, GA	45	FQHCs and RHCs	1 in 45 miles	2	22.5	45	100.0	0	0.0	1.9	2.2
Brantley, GA	78	FQHCs and RHCs	1 in 45 miles	1	78.0	78	100.0	0	0.0	4.0	22.6
Bryan, GA		FQHCs and RHCs	1 in 45 miles	1	133.0		100.0	0	0.0	12.2	17.7
Camden, GA	282	FQHCs and RHCs	1 in 45 miles	1	282.0	282	100.0	0	0.0	3.7	23.5
Candler, GA	43	FQHCs and RHCs	1 in 45 miles	2	21.5	43	100.0	0	0.0	3.5	4.0
Charlton, GA	107	FQHCs and RHCs	1 in 45 miles	2	53.5	107	100.0	0	0.0	5.7	5.7
Evans, GA	28	FQHCs and RHCs	1 in 45 miles	1	28.0	28	100.0	0	0.0	2.1	15.5
Jeff Davis, GA	70	FQHCs and RHCs	1 in 45 miles	0		70	100.0	0	0.0	18.5	19.3
Liberty, GA	234	FQHCs and RHCs	1 in 45 miles	3	78.0	234	100.0	0	0.0	3.0	3.5
Long, GA	30	FQHCs and RHCs	1 in 45 miles	2	15.0	30	100.0	0	0.0	4.7	7.4
McIntosh, GA	40	FQHCs and RHCs	1 in 45 miles	2	20.0	40	100.0	0	0.0	10.3	15.4
Montgomery, GA	24	FQHCs and RHCs	1 in 45 miles	1	24.0	24	100.0	0	0.0	7.6	12.9
Pierce, GA	131	FQHCs and RHCs	1 in 45 miles	0		131	100.0	0	0.0	13.1	14.2
Screven, GA	72	FQHCs and RHCs	1 in 45 miles	1	72.0	72	100.0	0	0.0	3.6	28.0
Tattnall, GA	46	FQHCs and RHCs	1 in 45 miles	1	46.0	46	100.0	0	0.0	7.9	17.6
Toombs, GA	123	FQHCs and RHCs	1 in 45 miles	1	123.0	123	100.0	0	0.0	3.5	15.1
Ware, GA	234	FQHCs and RHCs	1 in 45 miles	2	117.0	234	100.0	0	0.0	1.4	2.1
Wayne, GA	141	FQHCs and RHCs	1 in 45 miles	1	141.0	141	100.0	0	0.0	6.3	17.7
Grand Totals	1,933	FQHCs and RHCs	1 in 45 miles	26	74.3	1,933	100.0	0	0.0	5.6	13.0

### **Home Health Infusion Services - Urban**

January 24, 2023

Access Analysis

Home Health and Infusion Services-

Member / Provider Groups
Urban Members (SE\_URBAN)
Home Health and Infusion Services

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	Home Health and Infu	1 in 30 miles	6	29.5	177	100.0	0		3.3	
Chatham, GA		Home Health and Infu	1 in 30 miles	11	61.8		100.0		0.0	3.6	
Effingham, GA			1 in 30 miles	10	21.3		100.0				
Glynn, GA	306	Home Health and Infu	1 in 30 miles	9	34.0	306	100.0	0	0.0	3.1	3.9
Grand Totals	1 376	Home Health and Infu	1 in 30 miles	36	38.2	1,376	100.0	0	0.0	3.7	4.5
Grand Totals	1,570	riome rieditir and imu	T III OO IIIIIGS	30	50.2	1,570	100.0	U	0.0	5.7	4.5
© 2023 Quest Analytics, LLC.	•			•			•	•			

### **Home Health Infusion Services - Rural**

January 24, 2023

Access Analysis

Home Health and Infusion Services-

Member / Provider Groups
Rural Members (SE\_RURAL)
Home Health and Infusion Services

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	72	Home Health and Infu	1 in 45 miles	9	8.0	72	100.0	0	0.0	1.8	2.1		
Bacon, GA	45	Home Health and Infu	1 in 45 miles	9	5.0	45	100.0	0	0.0	1.3	1.8		
Brantley, GA	78	Home Health and Infu	1 in 45 miles	7	11.1	78	100.0	0	0.0	4.2	6.3		
Bryan, GA	133	Home Health and Infu	1 in 45 miles	0		133	100.0	0	0.0	14.3	16.0		
Camden, GA	282	Home Health and Infu	1 in 45 miles	6	47.0	282	100.0	0	0.0	18.5	19.1		
Candler, GA	43	Home Health and Infu	1 in 45 miles	6	7.2	43	100.0	0	0.0	3.7	4.9		
Charlton, GA	107	Home Health and Infu	1 in 45 miles	6	17.8	107	100.0	0	0.0	4.9	6.5		
Evans, GA	28	Home Health and Infu	1 in 45 miles	6	4.7	28	100.0	0	0.0	0.9	1.8		
Jeff Davis, GA	70	Home Health and Infu	1 in 45 miles	8	8.8	70	100.0	0	0.0	2.5	4.5		
Liberty, GA	234	Home Health and Infu	1 in 45 miles	6	39.0	234	100.0	0	0.0	2.4	3.0		
Long, GA	30	Home Health and Infu	1 in 45 miles	7	4.3		100.0	0	0.0	2.8	4.5		
McIntosh, GA	40	Home Health and Infu	1 in 45 miles	6	6.7	40	100.0	0	0.0	6.6	6.6		
Montgomery, GA	24	Home Health and Infu	1 in 45 miles	0		24	100.0	0	0.0	9.3	11.1		
Pierce, GA	131	Home Health and Infu	1 in 45 miles	6	21.8		100.0	0	0.0	2.0	8.8		
Screven, GA	72	Home Health and Infu	1 in 45 miles	2	36.0		100.0	0	0.0	16.1	18.1		
Tattnall, GA		Home Health and Infu	1 in 45 miles	7	6.6		100.0	0	0.0	5.2	7.1		
Toombs, GA	123	Home Health and Infu	1 in 45 miles	8	15.4		100.0	0	0.0	3.3	4.6		
Ware, GA		Home Health and Infu	1 in 45 miles	9		234	100.0	0	0.0	1.8	1.8		
Wayne, GA	141	Home Health and Infu	1 in 45 miles	8	17.6	141	100.0	0	0.0	3.3	4.3		
Grand Totals	1,933	Home Health and Infu	1 in 45 miles	116	16.7	1,933	100.0	0	0.0	6.5	7.9		

# **Hospitals - Urban**

January 24, 2023

Access Analysis Hospitals- Urban

Member / Provider Groups Urban Members (SE\_URBAN) Hospitals

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	177	Hospitals	1 in 30 miles	1	177.0	177	100.0	0	0.0	5.5	17.8		
Chatham, GA		Hospitals	1 in 30 miles	6	113.3	680	100.0	0	0.0				
Effingham, GA		Hospitals	1 in 30 miles	2			100.0						
Glynn, GA	306	Hospitals	1 in 30 miles	1	306.0	306	100.0	0	0.0	5.3	33.0		
Grand Totals	1.376	Hospitals	1 in 30 miles	10	137.6	1,376	100.0	0	0.0	4.9	14.8		
0.4.1.4	.,0.0	. Toophalo	6666		.0	.,0.			0.0				
© 2023 Quest Analytics, LLC.	l												

# **Hospitals -Rural**

January 24, 2023

Access Analysis Hospitals- Rural Member / Provider Groups Rural Members (SE\_RURAL) Hospitals

			Members With a	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Hospitals	1 in 45 miles	1	72.0	72	100.0	0	0.0	2.6	18.2
Bacon, GA	45	Hospitals	1 in 45 miles	2	22.5	45	100.0	0	0.0	2.0	2.4
Brantley, GA	78	Hospitals	1 in 45 miles	0		78	100.0	0	0.0	22.1	30.1
Bryan, GA	133	Hospitals	1 in 45 miles	0		133	100.0	0	0.0	16.0	18.5
Camden, GA	282	Hospitals	1 in 45 miles	1	282.0	282	100.0	0	0.0	4.8	20.0
Candler, GA	43	Hospitals	1 in 45 miles	2	21.5	43	100.0	0	0.0	4.3	4.3
Charlton, GA	107	Hospitals	1 in 45 miles	0		107	100.0	0	0.0	26.9	39.3
Evans, GA	28	Hospitals	1 in 45 miles	1	28.0	28	100.0	0	0.0	2.0	16.7
Jeff Davis, GA		Hospitals	1 in 45 miles	2	35.0		100.0	0	0.0	4.7	6.0
Liberty, GA		Hospitals	1 in 45 miles	2	117.0		100.0	0	0.0	3.7	3.7
Long, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	11.9	12.0
McIntosh, GA	40	Hospitals	1 in 45 miles	0		40	100.0	0	0.0	21.1	33.0
Montgomery, GA	24	Hospitals	1 in 45 miles	0		24	100.0	0	0.0	13.6	23.0
Pierce, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	13.1	25.4
Screven, GA		Hospitals	1 in 45 miles	2	36.0		100.0	0	0.0	3.6	3.6
Tattnall, GA		Hospitals	1 in 45 miles	1	46.0		100.0	0	0.0	7.9	17.7
Toombs, GA		Hospitals	1 in 45 miles	1	123.0		100.0	0	0.0	3.8	
Ware, GA		Hospitals	1 in 45 miles	1	234.0		100.0	0	0.0	2.0	25.3
Wayne, GA		Hospitals	1 in 45 miles	2	70.5		100.0	0	0.0	7.7	8.1
Grand Totals	1,933	Hospitals	1 in 45 miles	18	107.4	1,933	100.0	0	0.0	8.1	17.8

# **Outpatient Laboratory Services - Urban**

January 24, 2023

Access Analysis
Outpatient Laboratory Services- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Outpatient Laboratory Services

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	177	Outpatient Laboratory	1 in 30 miles	18	9.8	177	100.0	0	0.0	2.7	3.6		
Chatham, GA		Outpatient Laboratory	1 in 30 miles	17		680	100.0	0					
Effingham, GA		Outpatient Laboratory	1 in 30 miles	6			100.0						
Glynn, GA	306	Outpatient Laboratory	1 in 30 miles	47	6.5	306	100.0	0	0.0	4.0	4.1		
Grand Totals	1,376	Outpatient Laboratory	1 in 30 miles	88	15.6	1,376	100.0	0	0.0	3.4	4.4		
© 2023 Quest Analytics, LLC													

# **Outpatient Laboratory Services - Rural**

January 24, 2023

Access Analysis
Outpatient Laboratory Services- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Outpatient Laboratory Services

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	72	Outpatient Laboratory	1 in 45 miles	5	14.4	72	100.0	0	0.0	1.7	2.0	
Bacon, GA	45	Outpatient Laboratory	1 in 45 miles	1	45.0	45	100.0	0	0.0	9.5	13.1	
Brantley, GA	78	Outpatient Laboratory	1 in 45 miles	3	26.0	78	100.0	0	0.0	6.3	7.1	
Bryan, GA	133	Outpatient Laboratory	1 in 45 miles	1	133.0	133	100.0	0	0.0	7.8	13.4	
Camden, GA	282	Outpatient Laboratory	1 in 45 miles	11	25.6	282	100.0	0	0.0	3.9	4.1	
Candler, GA	43	Outpatient Laboratory	1 in 45 miles	2	21.5	43	100.0	0	0.0	8.4	10.6	
Charlton, GA	107	Outpatient Laboratory	1 in 45 miles	2	53.5	107	100.0	0	0.0	5.7	12.4	
Evans, GA	28	Outpatient Laboratory	1 in 45 miles	2	14.0	28	100.0	0	0.0	1.7	6.6	
Jeff Davis, GA	70	Outpatient Laboratory	1 in 45 miles	4	17.5	70	100.0	0	0.0	4.4	4.7	
Liberty, GA	234	Outpatient Laboratory	1 in 45 miles	3	78.0	234	100.0	0	0.0	2.7	4.0	
Long, GA		Outpatient Laboratory	1 in 45 miles	1	30.0		100.0		0.0	4.7	8.9	
McIntosh, GA	40	Outpatient Laboratory	1 in 45 miles	2	20.0	40	100.0	0	0.0	6.6	6.6	
Montgomery, GA		Outpatient Laboratory	1 in 45 miles	0		24	100.0	0	0.0	10.5	12.8	
Pierce, GA		Outpatient Laboratory	1 in 45 miles	4	32.8		100.0		0.0	2.4	8.9	
Screven, GA		Outpatient Laboratory	1 in 45 miles	1	72.0		100.0		0.0	17.8	20.6	
Tattnall, GA		Outpatient Laboratory	1 in 45 miles	2	23.0		100.0		0.0	7.9	11.0	
Toombs, GA		Outpatient Laboratory	1 in 45 miles	17	7.2		100.0		0.0	3.0	3.7	
Ware, GA		Outpatient Laboratory	1 in 45 miles	10	23.4	234	100.0		0.0	1.6	1.8	
Wayne, GA		Outpatient Laboratory	1 in 45 miles	10	14.1	141	100.0	0	0.0	5.0	6.1	
Grand Totals	1,933	Outpatient Laboratory	1 in 45 miles	81	23.9	1,933	100.0	0	0.0	4.8	6.8	

# **Obstetrics/Gynecology -Urban**

January 24, 2023

Access Analysis
Obstetrics/Gynecology- Urban
Member / Provider Groups
Female Urban Members (SE\_URBAN)
Obstetrics/Gynecology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	37	Obstetrics/Gynecology	2 in 30 miles	26	1.4	37	100.0	0	0.0	3.8	3.8		
Chatham, GA		Obstetrics/Gynecology	2 in 30 miles	149	1.0	154	100.0	0	0.0	2.5			
Effingham, GA		Obstetrics/Gynecology	2 in 30 miles	21			100.0	0	0.0	5.1			
Glynn, GA	61	Obstetrics/Gynecology	2 in 30 miles	20	3.1	61	100.0	0	0.0	3.1	4.3		
Grand Totals	281	Obstetrics/Gynecology	2 in 30 miles	216	1.3	281	100.0	0	0.0	3.1	3.8		
© 2023 Quaet Analytics II C													

# **Obstetrics/Gynecology -Rural**

January 24, 2023

Access Analysis
Obstetrics/Gynecology- Rural
Member / Provider Groups
Female Rural Members (SE\_RURAL)
Obstetrics/Gynecology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Appling, GA	15	Obstetrics/Gynecology	2 in 45 miles	5	3.0	15	100.0	0	0.0	2.4	2.6		
Bacon, GA	3	Obstetrics/Gynecology	2 in 45 miles	3	1.0	3	100.0	0	0.0	0.8	1.3		
Brantley, GA	11	Obstetrics/Gynecology	2 in 45 miles	1	11.0	11	100.0	0	0.0	4.3	21.5		
Bryan, GA	25	Obstetrics/Gynecology	2 in 45 miles	11	2.3	25	100.0	0	0.0	10.4	11.2		
Camden, GA	46	Obstetrics/Gynecology	2 in 45 miles	22	2.1	46	100.0	0	0.0	2.2	3.5		
Candler, GA	10	Obstetrics/Gynecology	2 in 45 miles	1	10.0		100.0	0	0.0	6.2	18.1		
Charlton, GA	16	Obstetrics/Gynecology	2 in 45 miles	1	16.0	16	100.0	0	0.0	5.9	21.1		
Evans, GA	2	Obstetrics/Gynecology	2 in 45 miles	1	2.0	2	100.0	0	0.0	2.6	21.4		
Jeff Davis, GA	11	Obstetrics/Gynecology	2 in 45 miles	7	1.6	11	100.0	0	0.0	8.9	8.9		
Liberty, GA	38	Obstetrics/Gynecology	2 in 45 miles	7	5.4	38	100.0	0	0.0	3.5	4.2		
Long, GA	10	Obstetrics/Gynecology	2 in 45 miles	0		10	100.0	0	0.0	11.6	12.5		
McIntosh, GA	5	Obstetrics/Gynecology	2 in 45 miles	0		5	100.0	0	0.0	15.2	16.3		
Montgomery, GA	3	Obstetrics/Gynecology	2 in 45 miles	0		3	100.0	0	0.0	14.0	14.0		
Pierce, GA	17	Obstetrics/Gynecology	2 in 45 miles	4	4.3	17	100.0	0	0.0	5.0	6.2		
Screven, GA	11	Obstetrics/Gynecology	2 in 45 miles	0		11	100.0	0	0.0	20.8	25.2		
Tattnall, GA	13	Obstetrics/Gynecology	2 in 45 miles	0		13	100.0	0	0.0	18.2	22.7		
Toombs, GA	12	Obstetrics/Gynecology	2 in 45 miles	18	0.7	12	100.0	0	0.0	4.6	4.6		
Ware, GA	37	Obstetrics/Gynecology	2 in 45 miles	12	3.1	37	100.0	0	0.0	1.8	1.9		
Wayne, GA		Obstetrics/Gynecology	2 in 45 miles	6	3.8	23	100.0	0	0.0	4.9	5.6		
Grand Totals	308	Obstetrics/Gynecology	2 in 45 miles	99	3.1	308	100.0	0	0.0	6.0	8.8		
			I .										

# **Pediatric Allergy/Immunology - Urban**

January 24, 2023

Access Analysis
Pediatric Allergy/Immunology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Allergy/Immunology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Pediatric_Allergy/Imm	1 in 30 miles	3	52.0	156	100.0	0	0.0	6.0	6.0		
Chatham, GA		Pediatric_Allergy/Imm	1 in 30 miles	16		601	100.0	0	0.0	3.8			
Effingham, GA		Pediatric_Allergy/Imm	1 in 30 miles	4			100.0	0	0.0	9.1			
Glynn, GA	277	Pediatric_Allergy/Imm	1 in 30 miles	6	46.2	277	100.0	0	0.0	5.1	5.3		
Grand Totals	1,234	Pediatric_Allergy/Imm	1 in 30 miles	29	42.6	1,234	100.0	0	0.0	5.3	5.4		
2023 Quest Analytics II C													

# Pediatric Allergy/Immunology -Rural

January 24, 2023

Access Analysis
Pediatric Allergy/Immunology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Allergy/Immunology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Allergy/Imm	1 in 45 miles	0		67	100.0	0	0.0	41.8	41.8
Bacon, GA	44	Pediatric_Allergy/Imm	1 in 45 miles	0		44	100.0		0.0	24.9	24.9
Brantley, GA	74	Pediatric_Allergy/Imm	1 in 45 miles	0			100.0	0	0.0	29.7	30.1
Bryan, GA	122	Pediatric_Allergy/Imm	1 in 45 miles	6	20.3		100.0	0	0.0	10.8	10.9
Camden, GA	278	Pediatric_Allergy/Imm	1 in 45 miles	1	278.0	278	100.0	0	0.0	4.7	29.3
Candler, GA	40	Pediatric_Allergy/Imm	1 in 45 miles	0		40	100.0	0	0.0	19.5	19.5
Charlton, GA		Pediatric_Allergy/Imm	1 in 45 miles	0		105	100.0	0	0.0	26.8	44.2
Evans, GA	24	Pediatric_Allergy/Imm	1 in 45 miles	2	12.0	24	100.0	0	0.0	1.5	1.6
Jeff Davis, GA	67	Pediatric_Allergy/Imm	1 in 45 miles	0		67	100.0	0	0.0	33.3	33.3
Liberty, GA	211	Pediatric_Allergy/Imm	1 in 45 miles	3	70.3	211	100.0	0	0.0	3.0	3.8
Long, GA	21	Pediatric_Allergy/Imm	1 in 45 miles	0		21	100.0	0	0.0	10.8	10.8
McIntosh, GA	38	Pediatric_Allergy/Imm	1 in 45 miles	0		38	100.0	0	0.0	20.5	20.5
Montgomery, GA	24	Pediatric_Allergy/Imm	1 in 45 miles	0		24	100.0	0	0.0	36.7	36.8
Pierce, GA	127	Pediatric_Allergy/Imm	1 in 45 miles	0		116	91.3	11	8.7	42.6	42.6
Screven, GA	69	Pediatric_Allergy/Imm	1 in 45 miles	0		69	100.0	0	0.0	27.9	28.1
Tattnall, GA	41	Pediatric_Allergy/Imm	1 in 45 miles	0		41	100.0	0	0.0	17.5	17.6
Toombs, GA	120	Pediatric_Allergy/Imm	1 in 45 miles	0		120	100.0	0	0.0	28.3	28.4
Ware, GA	218	Pediatric_Allergy/Imm	1 in 45 miles	0		212	97.2	6	2.8	43.4	43.4
Wayne, GA	131	Pediatric_Allergy/Imm	1 in 45 miles	0		126	96.2	5	3.8	31.1	31.1
Grand Totals	1,821	Pediatric_Allergy/Imm	1 in 45 miles	12	151.8	1,799	98.8	22	1.2	23.1	28.0

# **Pediatric Cardiology - Urban**

January 24, 2023

Access Analysis
Pediatric Cardiology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Cardiology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_Cardiology	1 in 30 miles	17	9.2	156	100.0	0	0.0	4.6	5.4		
Chatham, GA		Pediatric_Cardiology	1 in 30 miles	83	7.2	601	100.0	0	0.0				
Effingham, GA	200	Pediatric_Cardiology	1 in 30 miles	7			100.0						
Glynn, GA	277	Pediatric_Cardiology	1 in 30 miles	14	19.8	277	100.0	0	0.0	4.9	5.3		
Grand Totals	1,234	Pediatric_Cardiology	1 in 30 miles	121	10.2	1,234	100.0	0	0.0	3.4	4.4		
© 2023 Quest Analytics, LLC													

# **Pediatric Cardiology - Rural**

January 24, 2023

Access Analysis
Pediatric Cardiology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Cardiology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Cardiology	1 in 45 miles	9	7.4	67	100.0	0	0.0	2.5	2.5
Bacon, GA	44	Pediatric_Cardiology	1 in 45 miles	3	14.7	44	100.0	0	0.0	1.5	1.9
Brantley, GA	74	Pediatric_Cardiology	1 in 45 miles	1	74.0	74	100.0	0	0.0	8.1	19.2
Bryan, GA		Pediatric_Cardiology	1 in 45 miles	4	30.5		100.0	0	0.0	10.5	10.6
Camden, GA	278	Pediatric_Cardiology	1 in 45 miles	8	34.8	278	100.0	0	0.0	3.9	4.8
Candler, GA	40	Pediatric_Cardiology	1 in 45 miles	5	8.0	40	100.0	0	0.0	4.0	4.1
Charlton, GA		Pediatric_Cardiology	1 in 45 miles	1	105.0	105	100.0	0	0.0	11.8	24.0
Evans, GA	24	Pediatric_Cardiology	1 in 45 miles	10	2.4	24	100.0	0	0.0	1.2	1.5
Jeff Davis, GA	67	Pediatric_Cardiology	1 in 45 miles	14	4.8	67	100.0	0	0.0	4.6	5.0
Liberty, GA	211	Pediatric_Cardiology	1 in 45 miles	8	26.4	211	100.0	0	0.0	2.9	2.9
Long, GA	21	Pediatric_Cardiology	1 in 45 miles	1	21.0	21	100.0	0	0.0	4.9	9.4
McIntosh, GA	38	Pediatric_Cardiology	1 in 45 miles	1	38.0	38	100.0	0	0.0	6.7	19.6
Montgomery, GA	24	Pediatric_Cardiology	1 in 45 miles	0		24	100.0	0	0.0	11.1	11.5
Pierce, GA	127	Pediatric_Cardiology	1 in 45 miles	2	63.5	127	100.0	0	0.0	8.8	11.4
Screven, GA	69	Pediatric_Cardiology	1 in 45 miles	3	23.0	69	100.0	0	0.0	2.7	3.5
Tattnall, GA	41	Pediatric_Cardiology	1 in 45 miles	5	8.2	41	100.0	0	0.0	7.3	7.9
Toombs, GA	120	Pediatric_Cardiology	1 in 45 miles	13	9.2	120	100.0	0	0.0	3.0	3.0
Ware, GA	218	Pediatric_Cardiology	1 in 45 miles	18	12.1	218	100.0	0	0.0	1.4	1.6
Wayne, GA		Pediatric_Cardiology	1 in 45 miles	9	14.6	131	100.0	0	0.0	6.1	7.0
Grand Totals	1,821	Pediatric_Cardiology	1 in 45 miles	115	15.8	1,821	100.0	0	0.0	5.1	7.0

# **Pediatric Dermatology - Urban**

January 24, 2023

Access Analysis
Pediatric Dermatology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Dermatology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Pediatric_Dermatology	1 in 30 miles	8	19.5	156	100.0	0	0.0	5.0	5.2		
Chatham, GA		Pediatric_Dermatology	1 in 30 miles	8	75.1	601	100.0	0	0.0	3.9			
Effingham, GA		Pediatric_Dermatology	1 in 30 miles	1	200.0		100.0		0.0	9.6			
Glynn, GA	277	Pediatric_Dermatology	1 in 30 miles	8	34.6	277	100.0	0	0.0	3.2	3.5		
Grand Totals	1,234	Pediatric_Dermatology	1 in 30 miles	25	49.4	1,234	100.0	0	0.0	4.8	6.3		

# **Pediatric Dermatology - Rural**

January 24, 2023

Access Analysis
Pediatric Dermatology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Dermatology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Dermatology	1 in 45 miles	1	67.0	67	100.0	0	0.0	1.8	31.0
Bacon, GA	44	Pediatric_Dermatology	1 in 45 miles	0		44	100.0	0	0.0	20.6	24.2
Brantley, GA	74	Pediatric_Dermatology	1 in 45 miles	0		74	100.0	0	0.0	20.3	20.9
Bryan, GA	122	Pediatric_Dermatology	1 in 45 miles	4	30.5		100.0	0	0.0	6.2	8.6
Camden, GA	278	Pediatric_Dermatology	1 in 45 miles	0		278	100.0	0	0.0	31.0	31.8
Candler, GA	40	Pediatric_Dermatology	1 in 45 miles	0		40	100.0	0	0.0	22.3	22.3
Charlton, GA	105	Pediatric_Dermatology	1 in 45 miles	0		105	100.0	0	0.0	38.5	41.7
Evans, GA	24	Pediatric_Dermatology	1 in 45 miles	0		24	100.0	0	0.0	16.8	16.8
Jeff Davis, GA	67	Pediatric_Dermatology	1 in 45 miles	0		67	100.0	0	0.0	18.8	28.9
Liberty, GA	211	Pediatric_Dermatology	1 in 45 miles	5	42.2	211	100.0	0	0.0	3.2	3.3
Long, GA	21	Pediatric_Dermatology	1 in 45 miles	0		21	100.0	0	0.0	12.6	12.6
McIntosh, GA	38	Pediatric_Dermatology	1 in 45 miles	0		38	100.0	0	0.0	15.1	17.8
Montgomery, GA	24	Pediatric_Dermatology	1 in 45 miles	0		24	100.0	0	0.0	12.1	30.9
Pierce, GA	127	Pediatric_Dermatology	1 in 45 miles	1	127.0	127	100.0	0	0.0	4.1	13.1
Screven, GA	69	Pediatric_Dermatology	1 in 45 miles	0		69	100.0	0	0.0	19.3	23.9
Tattnall, GA	41	Pediatric_Dermatology	1 in 45 miles	0		41	100.0	0	0.0	23.7	28.4
Toombs, GA	120	Pediatric_Dermatology	1 in 45 miles	1	120.0		100.0	0	0.0	5.2	30.3
Ware, GA	218	Pediatric_Dermatology	1 in 45 miles	6	36.3	218	100.0	0	0.0	2.0	2.1
Wayne, GA	131	Pediatric_Dermatology	1 in 45 miles	5	26.2	131	100.0	0	0.0	7.0	7.3
Grand Totals	1,821	Pediatric_Dermatology	1 in 45 miles	23	79.2	1,821	100.0	0	0.0	13.8	18.7

# **Pediatric Endocrinology - Urban**

January 24, 2023

Access Analysis
Pediatric Endocrinology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatrio\_Endocrinology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_Endocrinology	1 in 30 miles	0		156	100.0	0	0.0	18.7	56.9		
Chatham, GA	601	Pediatric_Endocrinology	1 in 30 miles	14			100.0	0	0.0	6.3			
Effingham, GA		Pediatric_Endocrinology	1 in 30 miles	0		95							
Glynn, GA	277	Pediatric_Endocrinology	1 in 30 miles	2	138.5	277	100.0	0	0.0	5.4	5.4		
Grand Totals	1,234	Pediatric_Endocrinology	1 in 30 miles	16	77.1	1,129	91.5	105	8.5	11.4	16.3		
© 2023 Quest Analytics, LLC.													

# **Pediatric Endocrinology - Rural**

January 24, 2023

Access Analysis
Pediatric Endocrinology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Endocrinology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	67	Pediatric_Endocrinology	1 in 45 miles	0		67	100.0	0	0.0	40.0	42.3	
Bacon, GA	44	Pediatric_Endocrinology	1 in 45 miles	0		44	100.0	0	0.0	24.2	27.1	
Brantley, GA	74	Pediatric_Endocrinology	1 in 45 miles	0		74	100.0	0	0.0	22.2	30.1	
Bryan, GA	122	Pediatric_Endocrinology	1 in 45 miles	0		122	100.0	0	0.0	24.8	27.7	
Camden, GA	278	Pediatric_Endocrinology	1 in 45 miles	0		278	100.0	0	0.0	30.5	30.5	
Candler, GA	40	Pediatric_Endocrinology	1 in 45 miles	1	40.0	40	100.0	0	0.0	4.1	59.3	
Charlton, GA	105	Pediatric_Endocrinology	1 in 45 miles	0		105	100.0	0	0.0	39.7	44.1	
Evans, GA	24	Pediatric_Endocrinology	1 in 45 miles	0		24	100.0	0	0.0	24.9	49.4	
Jeff Davis, GA	67	Pediatric_Endocrinology	1 in 45 miles	0		67	100.0	0	0.0	33.3	50.4	
Liberty, GA	211	Pediatric_Endocrinology	1 in 45 miles	0		211	100.0	0	0.0	35.0	35.1	
Long, GA	21	Pediatric_Endocrinology	1 in 45 miles	0		14	66.7	7	33.3	44.1	44.1	
McIntosh, GA	38	Pediatric_Endocrinology	1 in 45 miles	0		38	100.0	0	0.0	21.5	21.5	
Montgomery, GA	24	Pediatric_Endocrinology	1 in 45 miles	0		23	95.8	1	4.2	38.7	54.6	
Pierce, GA	127	Pediatric_Endocrinology	1 in 45 miles	0		127	100.0	0	0.0	14.6	42.8	
Screven, GA	69	Pediatric_Endocrinology	1 in 45 miles	0		63	91.3	6	8.7	43.6	56.2	
Tattnall, GA		Pediatric_Endocrinology	1 in 45 miles	0		41	100.0	0	0.0	26.6	57.8	
Toombs, GA		Pediatric_Endocrinology	1 in 45 miles	0		120	100.0	0	0.0	28.8	63.2	
Ware, GA		Pediatric_Endocrinology	1 in 45 miles	1	218.0	218	100.0	0	0.0	1.7	43.6	
Wayne, GA	131	Pediatric_Endocrinology	1 in 45 miles	0		48	36.6	83	63.4	42.1	44.4	
Grand Totals	1,821	Pediatric_Endocrinology	1 in 45 miles	2	910.5	1,724	94.7	97	5.3	27.1	41.0	

### **Pediatric ENT - Urban**

January 24, 2023

Access Analysis
Pediatric ENT- Urban
Member / Provider Groups

Pediatric Urban Members (SE\_URBAN) Pediatric\_ENT

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_ENT	1 in 30 miles	8	19.5	156	100.0	0	0.0	3.4	3.9		
Chatham, GA	601	Pediatric_ENT	1 in 30 miles	51		601	100.0	0	0.0				
Effingham, GA		Pediatric_ENT	1 in 30 miles	5			100.0						
Glynn, GA	277	Pediatric_ENT	1 in 30 miles	5	55.4	277	100.0	0	0.0	5.4	5.5		
Grand Totals	1,234	Pediatric_ENT	1 in 30 miles	69	17.9	1,234	100.0	0	0.0	4.7	4.8		
© 2023 Quest Analytics, LLC.	•	•	•	-	•		-	•		•			

#### **Pediatric ENT - Rural**

January 24, 2023

Access Analysis
Pediatric ENT- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_ENT

			Members With a	nd With	out Access						
	Member	Pı	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_ENT	1 in 45 miles	1	67.0	67	100.0	0	0.0	2.3	29.3
Bacon, GA	44	Pediatric_ENT	1 in 45 miles	0		44	100.0	0	0.0	20.6	24.0
Brantley, GA	74	Pediatric_ENT	1 in 45 miles	0		74	100.0	0	0.0	20.5	20.8
Bryan, GA	122	Pediatric_ENT	1 in 45 miles	9	13.6		100.0	0	0.0	10.8	10.8
Camden, GA	278	Pediatric_ENT	1 in 45 miles	0		278	100.0	0	0.0	30.4	30.4
Candler, GA	40	Pediatric_ENT	1 in 45 miles	0		40	100.0	0	0.0	15.6	18.8
Charlton, GA	105	Pediatric_ENT	1 in 45 miles	0		105	100.0	0	0.0	38.2	38.4
Evans, GA	24	Pediatric_ENT	1 in 45 miles	3	8.0	24	100.0	0	0.0	1.7	1.7
Jeff Davis, GA	67	Pediatric_ENT	1 in 45 miles	0		67	100.0	0	0.0	19.3	29.1
Liberty, GA	211	Pediatric_ENT	1 in 45 miles	7	30.1	211	100.0	0	0.0	2.9	2.9
Long, GA	21	Pediatric_ENT	1 in 45 miles	0		21	100.0	0	0.0	11.7	11.8
McIntosh, GA	38	Pediatric_ENT	1 in 45 miles	0		38	100.0	0	0.0	20.1	20.6
Montgomery, GA	24	Pediatric_ENT	1 in 45 miles	0		24	100.0	0	0.0	12.8	12.8
Pierce, GA	127	Pediatric_ENT	1 in 45 miles	2	63.5	127	100.0	0	0.0	3.6	4.2
Screven, GA	69	Pediatric_ENT	1 in 45 miles	0		69	100.0	0	0.0	20.9	26.5
Tattnall, GA	41	Pediatric_ENT	1 in 45 miles	1	41.0	41	100.0	0	0.0	8.2	17.1
Toombs, GA	120	Pediatric_ENT	1 in 45 miles	6	20.0	120	100.0	0	0.0	3.4	3.8
Ware, GA	218	Pediatric_ENT	1 in 45 miles	5	43.6	218	100.0	0	0.0	1.6	1.6
Wayne, GA	131	Pediatric_ENT	1 in 45 miles	2	65.5	131	100.0	0	0.0	7.3	7.6
Grand Totals	1,821	Pediatric_ENT	1 in 45 miles	36	50.6	1,821	100.0	0	0.0	13.3	15.3
			l .								

## **Pediatric Gastroenterology - Urban**

January 24, 2023

Access Analysis
Pediatric Gastroenterology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Gastroenterology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_Gastroenter	1 in 30 miles	7	22.3	156	100.0	0	0.0	5.5	5.7		
Chatham, GA	601	Pediatric_Gastroenter	1 in 30 miles	63	9.5		100.0	0	0.0	3.3			
Effingham, GA		Pediatric_Gastroenter	1 in 30 miles	1			100.0		0.0	5.3			
Glynn, GA	277	Pediatric_Gastroenter	1 in 30 miles	11	25.2	277	100.0	0	0.0	3.3	3.3		
Grand Totals	1,234	Pediatric_Gastroenter	1 in 30 miles	82	15.0	1,234	100.0	0	0.0	3.9	5.5		
© 2023 Quest Analytics III C													

## **Pediatric Gastroenterology - Rural**

January 24, 2023

Access Analysis
Pediatric Gastroenterology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Gastroenterology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Gastroenter	1 in 45 miles	0		67	100.0	0	0.0	20.9	30.1
Bacon, GA	44	Pediatric_Gastroenter	1 in 45 miles	1	44.0	44	100.0	0	0.0	1.9	24.2
Brantley, GA	74	Pediatric_Gastroenter	1 in 45 miles	0		74	100.0	0	0.0	21.7	21.8
Bryan, GA	122	Pediatric_Gastroenter	1 in 45 miles	1	122.0		100.0	0	0.0	11.2	16.3
Camden, GA	278	Pediatric_Gastroenter	1 in 45 miles	7	39.7	278	100.0	0	0.0	4.8	4.8
Candler, GA	40	Pediatric_Gastroenter	1 in 45 miles	1	40.0	40	100.0	0	0.0	3.8	15.1
Charlton, GA	105	Pediatric_Gastroenter	1 in 45 miles	0		105	100.0	0	0.0	26.1	26.6
Evans, GA	24	Pediatric_Gastroenter	1 in 45 miles	1	24.0	24	100.0	0	0.0	1.5	22.7
Jeff Davis, GA	67	Pediatric_Gastroenter	1 in 45 miles	0		67	100.0	0	0.0	26.0	31.6
Liberty, GA	211	Pediatric_Gastroenter	1 in 45 miles	0		211	100.0	0	0.0	22.0	31.7
Long, GA	21	Pediatric_Gastroenter	1 in 45 miles	0		21	100.0	0	0.0	30.3	33.8
McIntosh, GA	38	Pediatric_Gastroenter	1 in 45 miles	0		38	100.0	0	0.0	18.0	18.4
Montgomery, GA	24	Pediatric_Gastroenter	1 in 45 miles	0		24	100.0	0	0.0	13.8	13.8
Pierce, GA	127	Pediatric_Gastroenter	1 in 45 miles	0		127	100.0	0	0.0	12.9	13.7
Screven, GA	69	Pediatric_Gastroenter	1 in 45 miles	0		69	100.0	0	0.0	27.6	27.7
Tattnall, GA	41	Pediatric_Gastroenter	1 in 45 miles	0		41	100.0	0	0.0	16.9	25.3
Toombs, GA	120	Pediatric_Gastroenter	1 in 45 miles	3	40.0	120	100.0	0	0.0	3.9	3.9
Ware, GA	218	Pediatric_Gastroenter	1 in 45 miles	2	109.0	218	100.0	0	0.0	1.6	2.2
Wayne, GA	131	Pediatric_Gastroenter	1 in 45 miles	0		131	100.0	0	0.0	31.1	35.7
Grand Totals	1,821	Pediatric_Gastroenter	1 in 45 miles	16	113.8	1,821	100.0	0	0.0	14.2	18.0

# **Pediatric General Surgery - Urban**

January 24, 2023

Access Analysis
Pediatric General Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_General Surgery

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_General Sur	1 in 30 miles	22	7.1	156	100.0	0	0.0	3.1	5.0		
Chatham, GA		Pediatric_General Sur	1 in 30 miles	158	3.8	601	100.0	0					
Effingham, GA		Pediatric_General Sur	1 in 30 miles	17			100.0						
Glynn, GA	277	Pediatric_General Sur	1 in 30 miles	19	14.6	277	100.0	0	0.0	4.9	5.2		
Grand Totals	1,234	Pediatric_General Sur	1 in 30 miles	216	5.7	1,234	100.0	0	0.0	3.4	4.0		
© 2023 Quest Analytics, LLC													

# **Pediatric General Surgery - Rural**

January 24, 2023

Access Analysis
Pediatric General Surgery- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_General Surgery

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	67	Pediatric_General Sur	1 in 45 miles	8	8.4	67	100.0	0	0.0	1.5	2.5	
Bacon, GA	44	Pediatric_General Sur	1 in 45 miles	6	7.3	44	100.0	0	0.0	1.7	1.8	
Brantley, GA	74	Pediatric_General Sur	1 in 45 miles	1	74.0	74	100.0	0	0.0	6.0	13.9	
Bryan, GA	122	Pediatric_General Sur	1 in 45 miles	11	11.1	122	100.0	0	0.0	7.9	10.6	
Camden, GA	278	Pediatric_General Sur	1 in 45 miles	9	30.9	278	100.0	0	0.0	4.3	4.6	
Candler, GA	40	Pediatric_General Sur	1 in 45 miles	8	5.0	40	100.0	0	0.0	3.8	4.1	
Charlton, GA	105	Pediatric_General Sur	1 in 45 miles	2	52.5	105	100.0	0	0.0	5.6	7.2	
Evans, GA	24	Pediatric_General Sur	1 in 45 miles	2	12.0	24	100.0	0	0.0	1.7	1.7	
Jeff Davis, GA	67	Pediatric_General Sur	1 in 45 miles	6	11.2	67	100.0	0	0.0	4.9	5.1	
Liberty, GA	211	Pediatric_General Sur	1 in 45 miles	6	35.2	211	100.0	0	0.0	2.8		
Long, GA		Pediatric_General Sur	1 in 45 miles	0			100.0	0	0.0	11.7	11.9	
McIntosh, GA	38	Pediatric_General Sur	1 in 45 miles	0		38	100.0	0	0.0	19.1	20.0	
Montgomery, GA	24	Pediatric_General Sur	1 in 45 miles	0		24	100.0	0	0.0	8.6	12.2	
Pierce, GA		Pediatric_General Sur	1 in 45 miles	2	63.5		100.0	0	0.0	2.9	8.9	
Screven, GA		Pediatric_General Sur	1 in 45 miles	2			100.0	0	0.0	3.5	3.5	
Tattnall, GA		Pediatric_General Sur	1 in 45 miles	1	41.0		100.0	0	0.0	8.0	16.8	
Toombs, GA		Pediatric_General Sur	1 in 45 miles	22	5.5		100.0	0	0.0	3.1	3.5	
Ware, GA		Pediatric_General Sur	1 in 45 miles	19		218		0	0.0	1.4	1.5	
Wayne, GA	131	Pediatric_General Sur	1 in 45 miles	17	7.7	131	100.0	0	0.0	5.7	6.5	
Grand Totals	1,821	Pediatric_General Sur	1 in 45 miles	122	14.9	1,821	100.0	0	0.0	4.4	5.9	

# Pediatric Hematology/Oncology - Urban

January 24, 2023

Access Analysis
Pediatric Hematology/Oncology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Hematology/Oncology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Pediatric_Hematology	1 in 30 miles	25	6.2	156	100.0	0		4.3			
Chatham, GA		Pediatric_Hematology	1 in 30 miles	93	6.5	601	100.0	0	0.0	2.3	2.4		
Effingham, GA		Pediatric_Hematology	1 in 30 miles	11		200	100.0	0			4.2		
Glynn, GA	277	Pediatric_Hematology	1 in 30 miles	13	21.3	277	100.0	0	0.0	2.7	3.7		
Grand Totals	1,234	Pediatric_Hematology	1 in 30 miles	142	8.7	1,234	100.0	0	0.0	3.0	3.2		

# **Pediatric Hematology/Oncology -Rural**

January 24, 2023

Access Analysis
Pediatric Hematology/Oncology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Hematology/Oncology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	67	Pediatric_Hematology	1 in 45 miles	2	33.5	67	100.0	0	0.0	2.5	2.6	
Bacon, GA	44	Pediatric_Hematology	1 in 45 miles	2	22.0	44	100.0	0	0.0	1.9	1.9	
Brantley, GA	74	Pediatric_Hematology	1 in 45 miles	0		74	100.0	0	0.0	20.6	20.7	
Bryan, GA	122	Pediatric_Hematology	1 in 45 miles	8	15.3	122	100.0	0	0.0	10.2	10.2	
Camden, GA	278	Pediatric_Hematology	1 in 45 miles	5	55.6	278	100.0	0	0.0	4.8	4.8	
Candler, GA	40	Pediatric_Hematology	1 in 45 miles	0		40	100.0	0	0.0	19.3	19.4	
Charlton, GA	105	Pediatric_Hematology	1 in 45 miles	0		105	100.0	0	0.0	26.5	26.5	
Evans, GA	24	Pediatric_Hematology	1 in 45 miles	0		24	100.0	0	0.0	15.5	16.7	
Jeff Davis, GA	67	Pediatric_Hematology	1 in 45 miles	0		67	100.0	0	0.0	19.4	19.6	
Liberty, GA	211	Pediatric_Hematology	1 in 45 miles	6	35.2	211	100.0	0	0.0	3.0	3.3	
Long, GA		Pediatric_Hematology	1 in 45 miles	0			100.0	0	0.0	10.8	11.9	
McIntosh, GA	38	Pediatric_Hematology	1 in 45 miles	1	38.0	38	100.0	0	0.0	6.7	18.1	
Montgomery, GA		Pediatric_Hematology	1 in 45 miles	0		24	100.0	0	0.0	12.8	12.9	
Pierce, GA		Pediatric_Hematology	1 in 45 miles	4	31.8		100.0	0	0.0	3.5	4.0	
Screven, GA		Pediatric_Hematology	1 in 45 miles	0			100.0	0	0.0	25.8	25.8	
Tattnall, GA		Pediatric_Hematology	1 in 45 miles	1	41.0		100.0	0	0.0	8.8	22.1	
Toombs, GA		Pediatric_Hematology	1 in 45 miles	14			100.0	0	0.0	3.4	3.6	
Ware, GA		Pediatric_Hematology	1 in 45 miles	26			100.0	0	0.0	1.3	1.3	
Wayne, GA		Pediatric_Hematology	1 in 45 miles	7	18.7	131	100.0	0	0.0	7.0	7.2	
Grand Totals	1,821	Pediatric_Hematology	1 in 45 miles	76	24.0	1,821	100.0	0	0.0	8.3	9.0	

#### **Pediatric Infectious Disease - Urban**

January 24, 2023

Access Analysis
Pediatric Infectious Disease- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Infectious Disease

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Pediatric_Infectious Di	1 in 30 miles	1	156.0	156	100.0	0	0.0	5.7	18.8		
Chatham, GA		Pediatric_Infectious Di	1 in 30 miles	17			100.0		0.0	6.1			
Effingham, GA		Pediatric_Infectious Di	1 in 30 miles	0		193				26.3			
Glynn, GA	277	Pediatric_Infectious Di	1 in 30 miles	3	92.3	277	100.0	0	0.0	5.3	5.4		
Grand Totals	1,234	Pediatric_Infectious Di	1 in 30 miles	21	58.8	1,227	99.4	7	0.6	9.1	11.2		
© 2023 Quest Analytics II C													

#### **Pediatric Infectious Disease - Rural**

January 24, 2023

Access Analysis
Pediatric Infectious Disease- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Infectious Disease

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Infectious Di	1 in 45 miles	0		4	6.0	63	94.0	50.6	65.1
Bacon, GA	44	Pediatric_Infectious Di	1 in 45 miles	0		0	0.0	44	100.0	61.9	62.6
Brantley, GA	74	Pediatric_Infectious Di	1 in 45 miles	0		74	100.0	0	0.0	30.1	30.1
Bryan, GA	122	Pediatric_Infectious Di	1 in 45 miles	0			100.0	0	0.0	18.2	22.9
Camden, GA	278	Pediatric_Infectious Di	1 in 45 miles	1	278.0	278	100.0	0	0.0	4.8	22.6
Candler, GA	40	Pediatric_Infectious Di	1 in 45 miles	1	40.0	40	100.0	0	0.0	4.1	19.6
Charlton, GA	105	Pediatric_Infectious Di	1 in 45 miles	0		105	100.0	0	0.0	26.1	40.7
Evans, GA	24	Pediatric_Infectious Di	1 in 45 miles	0		24	100.0	0	0.0	22.9	25.1
Jeff Davis, GA	67	Pediatric_Infectious Di	1 in 45 miles	0		0	0.0	67	100.0	52.3	54.5
Liberty, GA	211	Pediatric_Infectious Di	1 in 45 miles	0		211	100.0	0	0.0	31.7	31.7
Long, GA	21	Pediatric_Infectious Di	1 in 45 miles	0		14	66.7	7	33.3	41.6	41.6
McIntosh, GA	38	Pediatric_Infectious Di	1 in 45 miles	0		38	100.0	0	0.0	21.4	21.4
Montgomery, GA	24	Pediatric_Infectious Di	1 in 45 miles	0		23	95.8	1	4.2	36.7	42.1
Pierce, GA	127	Pediatric_Infectious Di	1 in 45 miles	0		11	8.7	116	91.3	48.1	48.1
Screven, GA	69	Pediatric_Infectious Di	1 in 45 miles	0		69	100.0	0	0.0	27.7	43.6
Tattnall, GA	41	Pediatric_Infectious Di	1 in 45 miles	0		41	100.0	0	0.0	26.5	37.9
Toombs, GA	120	Pediatric_Infectious Di	1 in 45 miles	0		120	100.0	0	0.0	28.8	41.9
Ware, GA	218	Pediatric_Infectious Di	1 in 45 miles	0		1	0.5	217	99.5	52.9	52.9
Wayne, GA	131	Pediatric_Infectious Di	1 in 45 miles	0		26	19.8	105	80.2	44.8	45.2
Grand Totals	1,821	Pediatric_Infectious Di	1 in 45 miles	2	910.5	1,201	66.0	620	34.0	31.9	38.6

#### **Pediatric Nephrology - Urban**

January 24, 2023

Access Analysis
Pediatric Nephrology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Nephrology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_Nephrology	1 in 30 miles	3	52.0		100.0		0.0	5.1	5.7		
Chatham, GA		Pediatric_Nephrology	1 in 30 miles	96	6.3		100.0		0.0	1.7	1.9		
Effingham, GA		Pediatric_Nephrology	1 in 30 miles	19			100.0						
Glynn, GA	277	Pediatric_Nephrology	1 in 30 miles	17	16.3	277	100.0	0	0.0	2.8	3.0		
Grand Totals	1,234	Pediatric_Nephrology	1 in 30 miles	135	9.1	1,234	100.0	0	0.0	2.7	2.9		
© 2023 Quest Analytics, LLC.													

## **Pediatric Nephrology - Rural**

January 24, 2023

Access Analysis
Pediatric Nephrology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Nephrology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	67	Pediatric_Nephrology	1 in 45 miles	9	7.4	67	100.0	0	0.0	2.1	2.4	
Bacon, GA	44	Pediatric_Nephrology	1 in 45 miles	0		44	100.0	0	0.0	19.5	19.5	
Brantley, GA	74	Pediatric_Nephrology	1 in 45 miles	0		74	100.0	0	0.0	21.7	21.7	
Bryan, GA	122	Pediatric_Nephrology	1 in 45 miles	0		122	100.0	0	0.0	13.0	13.1	
Camden, GA	278	Pediatric_Nephrology	1 in 45 miles	7	39.7	278	100.0	0	0.0	4.2	4.3	
Candler, GA	40	Pediatric_Nephrology	1 in 45 miles	2	20.0	40	100.0	0	0.0	4.0	4.0	
Charlton, GA	105	Pediatric_Nephrology	1 in 45 miles	0		105	100.0	0	0.0	26.4	26.4	
Evans, GA	24	Pediatric_Nephrology	1 in 45 miles	8	3.0	24	100.0	0	0.0	1.6	1.7	
Jeff Davis, GA	67	Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	19.0	20.4	
Liberty, GA	211	Pediatric_Nephrology	1 in 45 miles	12	17.6	211	100.0	0	0.0	2.6	2.9	
Long, GA		Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	8.4	8.4	
McIntosh, GA	38	Pediatric_Nephrology	1 in 45 miles	3	12.7	38	100.0	0	0.0	6.0	6.0	
Montgomery, GA		Pediatric_Nephrology	1 in 45 miles	0		24	100.0	0	0.0	12.5	12.5	
Pierce, GA		Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	12.8	13.2	
Screven, GA		Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	20.3	20.3	
Tattnall, GA		Pediatric_Nephrology	1 in 45 miles	2	20.5		100.0	0	0.0	7.6	9.5	
Toombs, GA		Pediatric_Nephrology	1 in 45 miles	5			100.0	0	0.0	3.6		
Ware, GA		Pediatric_Nephrology	1 in 45 miles	9			100.0	0	0.0	1.3	1.4	
Wayne, GA		Pediatric_Nephrology	1 in 45 miles	7	18.7	131	100.0	0	0.0	6.9	7.2	
Grand Totals	1,821	Pediatric_Nephrology	1 in 45 miles	64	28.5	1,821	100.0	0	0.0	8.7	8.9	

#### **Pediatric Neurology - Urban**

January 24, 2023

Access Analysis
Pediatric Neurology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Neurology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_Neurology	1 in 30 miles	6	26.0	156	100.0	0	0.0	4.2	5.7		
Chatham, GA		Pediatric_Neurology	1 in 30 miles	67	9.0	601	100.0	0	0.0				
Effingham, GA		Pediatric_Neurology	1 in 30 miles	3			100.0						
Glynn, GA	277	Pediatric_Neurology	1 in 30 miles	17	16.3	277	100.0	0	0.0	3.2	3.3		
Grand Totals	1,234	Pediatric_Neurology	1 in 30 miles	93	13.3	1,234	100.0	0	0.0	3.6	4.0		
© 2023 Quest Analytics, LLC.													

## **Pediatric Neurology - Rural**

January 24, 2023

Access Analysis
Pediatric Neurology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Neurology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Neurology	1 in 45 miles	3	22.3	67	100.0	0	0.0	2.5	2.5
Bacon, GA	44	Pediatric_Neurology	1 in 45 miles	2	22.0	44	100.0	0	0.0	1.8	1.9
Brantley, GA	74	Pediatric_Neurology	1 in 45 miles	0		74	100.0	0	0.0	21.5	21.7
Bryan, GA	122	Pediatric_Neurology	1 in 45 miles	4	30.5	122	100.0	0	0.0	10.9	12.1
Camden, GA	278	Pediatric_Neurology	1 in 45 miles	8	34.8	278	100.0	0	0.0	4.8	4.8
Candler, GA	40	Pediatric_Neurology	1 in 45 miles	0		40	100.0	0	0.0	18.4	18.4
Charlton, GA	105	Pediatric_Neurology	1 in 45 miles	0		105	100.0	0	0.0	26.1	26.6
Evans, GA	24	Pediatric_Neurology	1 in 45 miles	1	24.0	24	100.0	0	0.0	1.6	22.8
Jeff Davis, GA	67	Pediatric_Neurology	1 in 45 miles	1	67.0	67	100.0	0	0.0	5.2	19.5
Liberty, GA	211	Pediatric_Neurology	1 in 45 miles	5	42.2	211	100.0	0	0.0	2.5	3.1
Long, GA		Pediatric_Neurology	1 in 45 miles	0			100.0	0	0.0	8.5	10.8
McIntosh, GA	38	Pediatric_Neurology	1 in 45 miles	1	38.0	38	100.0	0	0.0	6.8	17.7
Montgomery, GA		Pediatric_Neurology	1 in 45 miles	0		24	100.0	0	0.0	12.8	12.9
Pierce, GA		Pediatric_Neurology	1 in 45 miles	0				0	0.0	12.7	12.7
Screven, GA		Pediatric_Neurology	1 in 45 miles	2	34.5		100.0	0	0.0	3.5	3.5
Tattnall, GA		Pediatric_Neurology	1 in 45 miles	1	41.0		100.0	0	0.0	16.7	21.4
Toombs, GA		Pediatric_Neurology	1 in 45 miles	3	40.0		100.0	0	0.0	2.6	
Ware, GA		Pediatric_Neurology	1 in 45 miles	5			100.0	0	0.0	1.6	1.9
Wayne, GA		Pediatric_Neurology	1 in 45 miles	7	18.7	131	100.0	0	0.0	7.1	7.2
Grand Totals	1,821	Pediatric_Neurology	1 in 45 miles	43	42.3	1,821	100.0	0	0.0	7.5	9.0

#### **Pediatric Ophthalmology - Urban**

January 24, 2023

Access Analysis
Pediatric Ophthalmology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Ophthalmology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_Ophthalmol	1 in 30 miles	13	12.0	156	100.0	0	0.0	3.8	4.0		
Chatham, GA	601	Pediatric_Ophthalmol	1 in 30 miles	28			100.0	0	0.0	3.4			
Effingham, GA	200	Pediatric_Ophthalmol	1 in 30 miles	1	200.0		100.0		0.0				
Glynn, GA	277	Pediatric_Ophthalmol	1 in 30 miles	8	34.6	277	100.0	0	0.0	5.2	5.4		
Grand Totals	1,234	Pediatric_Ophthalmol	1 in 30 miles	50	24.7	1,234	100.0	0	0.0	5.0	6.0		
@ 2023 Quest Analytics III C													

## **Pediatric Ophthalmology - Rural**

January 24, 2023

Access Analysis
Pediatric Ophthalmology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Ophthalmology

	Members With and Without Access  Member Provider Counts Retic Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	67	Pediatric_Ophthalmol	1 in 45 miles	1	67.0		100.0	0	0.0	2.1	28.8	
Bacon, GA	44	Pediatric_Ophthalmol	1 in 45 miles	0		44	100.0	0	0.0	20.7	24.2	
Brantley, GA	74	Pediatric_Ophthalmol	1 in 45 miles	0		74	100.0	0	0.0	21.7	21.7	
Bryan, GA	122	Pediatric_Ophthalmol	1 in 45 miles	2	61.0	122	100.0	0	0.0	6.2	16.2	
Camden, GA	278	Pediatric_Ophthalmol	1 in 45 miles	2	139.0	278	100.0	0	0.0	4.8	4.8	
Candler, GA	40	Pediatric_Ophthalmol	1 in 45 miles	0		40	100.0	0	0.0	19.0	19.0	
Charlton, GA	105	Pediatric_Ophthalmol	1 in 45 miles	0		105	100.0	0	0.0	26.8	26.8	
Evans, GA	24	Pediatric_Ophthalmol	1 in 45 miles	0		24	100.0	0	0.0	15.9	17.0	
Jeff Davis, GA	67	Pediatric_Ophthalmol	1 in 45 miles	0		67	100.0	0	0.0	19.1	29.0	
Liberty, GA	211	Pediatric_Ophthalmol	1 in 45 miles	4	52.8	211	100.0	0	0.0	3.0	4.0	
Long, GA	21	Pediatric_Ophthalmol	1 in 45 miles	0		21	100.0	0	0.0	10.5	10.5	
McIntosh, GA	38	Pediatric_Ophthalmol	1 in 45 miles	0		38	100.0	0	0.0	19.9	20.8	
Montgomery, GA	24	Pediatric_Ophthalmol	1 in 45 miles	0		24	100.0	0	0.0	12.6	12.8	
Pierce, GA	127	Pediatric_Ophthalmol	1 in 45 miles	0		127	100.0	0	0.0	12.3	12.4	
Screven, GA	69	Pediatric_Ophthalmol	1 in 45 miles	0		69	100.0	0	0.0	26.2	26.4	
Tattnall, GA	41	Pediatric_Ophthalmol	1 in 45 miles	3	13.7	41	100.0	0	0.0	13.7	13.8	
Toombs, GA	120	Pediatric_Ophthalmol	1 in 45 miles	3	40.0	120	100.0	0	0.0	3.8	4.2	
Ware, GA	218	Pediatric_Ophthalmol	1 in 45 miles	10	21.8	218	100.0	0	0.0	1.3		
Wayne, GA	131	Pediatric_Ophthalmol	1 in 45 miles	3	43.7	131	100.0	0	0.0	7.9	8.0	
Grand Totals	1,821	Pediatric_Ophthalmol	1 in 45 miles	28	65.0	1,821	100.0	0	0.0	9.7	12.0	

#### **Pediatric Optometry - Urban**

January 24, 2023

Access Analysis
Pediatric Optometry- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Pediatric_Optometry	1 in 30 miles	8		156	100.0	0			
Chatham, GA		Pediatric_Optometry	1 in 30 miles	30		601	100.0	0			
Effingham, GA		Pediatric_Optometry	1 in 30 miles	8		200	100.0	0			
Glynn, GA	277	Pediatric_Optometry	1 in 30 miles	14	19.8	277	100.0	0	0.0	3.9	3.9
Grand Totals	1,234	Pediatric_Optometry	1 in 30 miles	60	20.6	1,234	100.0	0	0.0	4.6	4.9

#### **Pediatric Optometry - Rural**

January 24, 2023

Access Analysis
Pediatric Optometry- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Optometry	1 in 45 miles	0		67	100.0	0	0.0	28.9	31.0
Bacon, GA	44	Pediatric_Optometry	1 in 45 miles	0		44	100.0	0	0.0	23.7	24.4
Brantley, GA	74	Pediatric_Optometry	1 in 45 miles	0			100.0	0	0.0	20.5	20.5
Bryan, GA	122	Pediatric_Optometry	1 in 45 miles	2	61.0		100.0		0.0	6.2	
Camden, GA	278	Pediatric_Optometry	1 in 45 miles	9	30.9	278	100.0	0	0.0	4.2	4.5
Candler, GA	40	Pediatric_Optometry	1 in 45 miles	0		40	100.0	0	0.0	20.0	20.7
Charlton, GA	105	Pediatric_Optometry	1 in 45 miles	0		99	94.3	6	5.7	27.3	27.4
Evans, GA	24	Pediatric_Optometry	1 in 45 miles	0		24	100.0	0	0.0	15.9	17.0
Jeff Davis, GA	67	Pediatric_Optometry	1 in 45 miles	0		67	100.0	0	0.0	27.2	29.6
Liberty, GA	211	Pediatric_Optometry	1 in 45 miles	4	52.8	211	100.0	0	0.0	3.0	4.1
Long, GA	21	Pediatric_Optometry	1 in 45 miles	0		21	100.0	0	0.0	10.6	10.6
McIntosh, GA	38	Pediatric_Optometry	1 in 45 miles	0		38	100.0	0	0.0	19.1	19.7
Montgomery, GA	24	Pediatric_Optometry	1 in 45 miles	0		24	100.0	0	0.0	12.8	27.4
Pierce, GA	127	Pediatric_Optometry	1 in 45 miles	0		127	100.0	0	0.0	12.4	13.7
Screven, GA	69	Pediatric_Optometry	1 in 45 miles	0		69	100.0	0	0.0	26.0	26.0
Tattnall, GA	41	Pediatric_Optometry	1 in 45 miles	2	20.5	41	100.0	0	0.0	13.8	16.1
Toombs, GA	120	Pediatric_Optometry	1 in 45 miles	1	120.0	120	100.0	0	0.0	4.2	35.5
Ware, GA	218	Pediatric_Optometry	1 in 45 miles	10	21.8	218	100.0	0	0.0	2.5	2.7
Wayne, GA	131	Pediatric_Optometry	1 in 45 miles	0		131	100.0	0	0.0	24.0	24.1
Grand Totals	1,821	Pediatric_Optometry	1 in 45 miles	28	65.0	1,815	99.7	6	0.3	12.2	15.7

#### **Pediatric Orthopedics - Urban**

January 24, 2023

Access Analysis
Pediatric Othopedics- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Orthopedics

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Pediatric_Orthopedics	1 in 30 miles	39	4.0	156	100.0	0			3.1
Chatham, GA	601	Pediatric_Orthopedics	1 in 30 miles	249	2.4	601	100.0	0			3.1
Effingham, GA		Pediatric_Orthopedics	1 in 30 miles	72		200	100.0	0			4.2
Glynn, GA	277	Pediatric_Orthopedics	1 in 30 miles	54	5.1	277	100.0	0	0.0	3.0	3.0
Grand Totals		Pediatric_Orthopedics	1 in 30 miles	414	3.0		100.0				3.2

#### **Pediatric Orthopedics - Rural**

January 24, 2023

Access Analysis
Pediatric Orthopedics- Rural

Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Orthopedics

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance										
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Orthopedics	1 in 45 miles	37	1.8	67	100.0	0	0.0	2.0	2.5
Bacon, GA	44	Pediatric_Orthopedics	1 in 45 miles	24		44	100.0	0	0.0	1.6	1.6
Brantley, GA	74	Pediatric_Orthopedics	1 in 45 miles	0		74	100.0	0	0.0	19.8	20.5
Bryan, GA	122	Pediatric_Orthopedics	1 in 45 miles	41	3.0	122	100.0	0	0.0	9.6	10.5
Camden, GA	278	Pediatric_Orthopedics	1 in 45 miles	5	55.6	278	100.0	0	0.0	4.7	4.7
Candler, GA	40	Pediatric_Orthopedics	1 in 45 miles	25	1.6	40	100.0	0	0.0	3.4	3.4
Charlton, GA	105	Pediatric_Orthopedics	1 in 45 miles	0		105	100.0	0	0.0	25.9	25.9
Evans, GA	24	Pediatric_Orthopedics	1 in 45 miles	54	0.4	24	100.0	0	0.0	1.6	1.6
Jeff Davis, GA	67	Pediatric_Orthopedics	1 in 45 miles	9	7.4	67	100.0	0	0.0	5.0	5.0
Liberty, GA		Pediatric_Orthopedics	1 in 45 miles	66		211	100.0		0.0	1.5	
Long, GA		Pediatric_Orthopedics	1 in 45 miles	1			100.0		0.0	5.8	8.3
McIntosh, GA	38	Pediatric_Orthopedics	1 in 45 miles	30	1.3	38	100.0	0	0.0	4.5	4.9
Montgomery, GA	24	Pediatric_Orthopedics	1 in 45 miles	0		24	100.0	0	0.0	8.8	8.8
Pierce, GA		Pediatric_Orthopedics	1 in 45 miles	2					0.0	3.9	3.9
Screven, GA		Pediatric_Orthopedics	1 in 45 miles	56					0.0	3.4	3.5
Tattnall, GA		Pediatric_Orthopedics	1 in 45 miles	51	0.8		100.0		0.0	4.5	7.7
Toombs, GA		Pediatric_Orthopedics	1 in 45 miles	53			100.0		0.0	2.2	2.2
Ware, GA		Pediatric_Orthopedics	1 in 45 miles	53		218			0.0	1.2	1.4
Wayne, GA		Pediatric_Orthopedics	1 in 45 miles	32		131	100.0	0	0.0	6.4	7.0
Grand Totals	1,821	Pediatric_Orthopedics	1 in 45 miles	539	3.4	1,821	100.0	0	0.0	5.8	6.1

## **Pediatric Rheumatology - Urban**

January 24, 2023

Access Analysis
Pediatric Rheumatology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Rheumatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	156	Pediatric_Rheumatology	1 in 30 miles	0		0			100.0	57.8	58.0		
Chatham, GA		Pediatric_Rheumatology	1 in 30 miles	4	150.3		100.0			6.9			
Effingham, GA			1 in 30 miles	0		87				29.5			
Glynn, GA	277	Pediatric_Rheumatology	1 in 30 miles	1	277.0	277	100.0	0	0.0	5.5	52.0		
Grand Totals	1,234	Pediatric_Rheumatology	1 in 30 miles	5	246.8	965	78.2	269	21.8	16.7	27.2		
© 2023 Quoet Analytice LLC													

## **Pediatric Rheumatology - Rural**

January 24, 2023

Access Analysis
Pediatric Rheumatology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Rheumatology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance										
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Rheumatology	1 in 45 miles	2	33.5	67	100.0	0	0.0	2.0	2.7
Bacon, GA	44	Pediatric_Rheumatology	1 in 45 miles	0		44	100.0	0	0.0	20.3	20.9
Brantley, GA	74	Pediatric_Rheumatology	1 in 45 miles	0		74	100.0	0	0.0	22.4	31.7
Bryan, GA	122	Pediatric_Rheumatology	1 in 45 miles	0		119	97.5	3	2.5	28.8	28.9
Camden, GA	278	Pediatric_Rheumatology	1 in 45 miles	0		278	100.0	0	0.0	30.4	32.6
Candler, GA	40	Pediatric_Rheumatology	1 in 45 miles	0		0	0.0	40	100.0	50.4	50.7
Charlton, GA	105	Pediatric_Rheumatology	1 in 45 miles	0		105	100.0	0	0.0	39.9	44.1
Evans, GA	24	Pediatric_Rheumatology	1 in 45 miles	0		1	4.2	23	95.8	47.0	47.1
Jeff Davis, GA	67	Pediatric_Rheumatology	1 in 45 miles	0		67	100.0	0	0.0	19.1	20.6
Liberty, GA	211	Pediatric_Rheumatology	1 in 45 miles	0		211	100.0	0	0.0	36.8	36.9
Long, GA	21	Pediatric_Rheumatology	1 in 45 miles	0		21	100.0	0	0.0	36.6	37.3
McIntosh, GA	38	Pediatric_Rheumatology	1 in 45 miles	0		38	100.0	0	0.0	21.6	49.5
Montgomery, GA	24	Pediatric_Rheumatology	1 in 45 miles	0		21	87.5	3	12.5	32.9	33.5
Pierce, GA	127	Pediatric_Rheumatology	1 in 45 miles	0		127	100.0	0	0.0	14.6	33.7
Screven, GA	69	Pediatric_Rheumatology	1 in 45 miles	0		0	0.0	69	100.0	57.5	57.5
Tattnall, GA	41	Pediatric_Rheumatology	1 in 45 miles	0		41	100.0	0	0.0	32.5	32.7
Toombs, GA		Pediatric_Rheumatology	1 in 45 miles	0		120	100.0	0	0.0	30.5	31.1
Ware, GA		Pediatric_Rheumatology	1 in 45 miles	1	218.0	218	100.0	0	0.0	1.7	38.7
Wayne, GA		Pediatric_Rheumatology	1 in 45 miles	0		131	100.0	0	0.0	31.0	32.8
Grand Totals	1,821	Pediatric_Rheumatology	1 in 45 miles	3	607.0	1,683	92.4	138	7.6	26.7	34.3

# **Pediatric Vascular Surgery - Urban**

January 24, 2023

Access Analysis
Pediatric Vascular Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Vascular Surgery

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Pediatric_Vascular Su	1 in 30 miles	9		156	100.0	0	0.0	5.2	5.2		
Chatham, GA		Pediatric_Vascular Su	1 in 30 miles	47		601	100.0	0	0.0	2.5			
Effingham, GA		Pediatric_Vascular Su	1 in 30 miles	10			100.0		0.0	4.4			
Glynn, GA	277	Pediatric_Vascular Su	1 in 30 miles	4	69.3	277	100.0	0	0.0	5.0	5.1		
Grand Totals	1,234	Pediatric_Vascular Su	1 in 30 miles	70	17.6	1,234	100.0	0	0.0	3.7	4.5		
© 2023 Quaet Analytics LLC													

# **Pediatric Vascular Surgery -Rural**

January 24, 2023

Access Analysis
Pediatric Vascular Surgery- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Vascular Surgery

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance										
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Vascular Su	1 in 45 miles	0		67	100.0	0	0.0	29.2	29.3
Bacon, GA	44	Pediatric_Vascular Su	1 in 45 miles	0		44	100.0	0	0.0	24.3	24.4
Brantley, GA	74	Pediatric_Vascular Su	1 in 45 miles	0		74	100.0	0	0.0	21.3	22.0
Bryan, GA	122	Pediatric_Vascular Su	1 in 45 miles	0		122	100.0	0	0.0	16.0	16.8
Camden, GA	278	Pediatric_Vascular Su	1 in 45 miles	0		278	100.0	0	0.0	30.5	30.5
Candler, GA	40	Pediatric_Vascular Su	1 in 45 miles	5	8.0	40	100.0	0	0.0	4.1	4.1
Charlton, GA	105	Pediatric_Vascular Su	1 in 45 miles	0		105	100.0	0	0.0	38.5	39.6
Evans, GA	24	Pediatric_Vascular Su	1 in 45 miles	0		24	100.0	0	0.0	22.6	22.6
Jeff Davis, GA	67	Pediatric_Vascular Su	1 in 45 miles	0		67	100.0	0	0.0	28.9	28.9
Liberty, GA	211	Pediatric_Vascular Su	1 in 45 miles	0		211	100.0	0	0.0	29.4	31.7
Long, GA		Pediatric_Vascular Su	1 in 45 miles	0			100.0	0	0.0	20.4	41.4
McIntosh, GA	38	Pediatric_Vascular Su	1 in 45 miles	0		38	100.0	0	0.0	19.7	19.8
Montgomery, GA	24	Pediatric_Vascular Su	1 in 45 miles	0		24	100.0	0	0.0	12.8	12.8
Pierce, GA		Pediatric_Vascular Su	1 in 45 miles	0		127		0	0.0	13.2	14.1
Screven, GA		Pediatric_Vascular Su	1 in 45 miles	0				0	0.0	25.9	25.9
Tattnall, GA		Pediatric_Vascular Su	1 in 45 miles	0			100.0	0	0.0	21.9	25.3
Toombs, GA		Pediatric_Vascular Su	1 in 45 miles	2	60.0		100.0	0	0.0	4.1	4.2
Ware, GA		Pediatric_Vascular Su	1 in 45 miles	2		218	100.0	0	0.0	1.9	2.7
Wayne, GA		Pediatric_Vascular Su	1 in 45 miles	1	131.0	131	100.0	0	0.0	7.6	41.3
Grand Totals	1,821	Pediatric_Vascular Su	1 in 45 miles	10	182.1	1,821	100.0	0	0.0	19.6	22.9

## **Pediatric Urology - Urban**

January 24, 2023

Access Analysis
Pediatric Urology- Urban
Member / Provider Groups
Pediatric Urban Members
(SE\_URBAN)
Pediatric\_Urology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Pediatric_Urology	1 in 30 miles	6	26.0		100.0		0.0	5.3	
Chatham, GA		Pediatric_Urology	1 in 30 miles	11	54.6		100.0	0	0.0	5.4	7.0
Effingham, GA		Pediatric_Urology	1 in 30 miles	1	200.0		100.0			11.7	25.5
Glynn, GA	277	Pediatric_Urology	1 in 30 miles	6	46.2	277	100.0	0	0.0	5.3	5.3
Grand Totals	1,234	Pediatric_Urology	1 in 30 miles	24	51.4	1,234	100.0	0	0.0	6.4	9.5

## **Pediatric Urology -Rural**

January 24, 2023

Access Analysis
Pediatric Urology- Rural
Member / Provider Groups
Pediatric Rural Members (SE\_RURAL)
Pediatric\_Urology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	67	Pediatric_Urology	1 in 45 miles	0		67	100.0	0	0.0	20.8	29.7
Bacon, GA	44	Pediatric_Urology	1 in 45 miles	1	44.0	44	100.0	0	0.0	1.9	24.3
Brantley, GA	74	Pediatric_Urology	1 in 45 miles	0		74	100.0	0	0.0	22.1	29.4
Bryan, GA	122	Pediatric_Urology	1 in 45 miles	0			100.0	0	0.0	18.0	20.2
Camden, GA	278	Pediatric_Urology	1 in 45 miles	4	69.5	278	100.0	0	0.0	4.7	4.8
Candler, GA	40	Pediatric_Urology	1 in 45 miles	0		40	100.0	0	0.0	19.6	19.6
Charlton, GA		Pediatric_Urology	1 in 45 miles	0		105	100.0	0	0.0	26.5	26.6
Evans, GA	24	Pediatric_Urology	1 in 45 miles	1	24.0	24	100.0	0	0.0	1.6	22.8
Jeff Davis, GA	67	Pediatric_Urology	1 in 45 miles	0		67	100.0	0	0.0	26.0	29.3
Liberty, GA	211	Pediatric_Urology	1 in 45 miles	0		211	100.0	0	0.0	31.0	35.0
Long, GA	21	Pediatric_Urology	1 in 45 miles	0		21	100.0	0	0.0	20.3	31.7
McIntosh, GA	38	Pediatric_Urology	1 in 45 miles	0		38	100.0	0	0.0	21.4	21.5
Montgomery, GA	24	Pediatric_Urology	1 in 45 miles	0		24	100.0	0	0.0	12.8	12.8
Pierce, GA	127	Pediatric_Urology	1 in 45 miles	0		127	100.0	0	0.0	13.7	26.2
Screven, GA	69	Pediatric_Urology	1 in 45 miles	0		69	100.0	0	0.0	25.9	27.7
Tattnall, GA	41	Pediatric_Urology	1 in 45 miles	0		41	100.0	0	0.0	17.1	22.4
Toombs, GA	120	Pediatric_Urology	1 in 45 miles	6	20.0	120	100.0	0	0.0	3.4	3.5
Ware, GA	218	Pediatric_Urology	1 in 45 miles	1	218.0	218	100.0	0	0.0	1.6	25.6
Wayne, GA	131	Pediatric_Urology	1 in 45 miles	1	131.0	131	100.0	0	0.0	7.7	31.7

#### **Pharmacy - Urban**

January 24, 2023

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members (SE\_URBAN)
PHARMACY

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	PHARMACY	1 in 15 miles	13	13.6	177	100.0	0	0.0	2.9	3.3
Chatham, GA	680	PHARMACY	1 in 15 miles	63	10.8	680	100.0	0	0.0	1.1	1.5
Effingham, GA	213	PHARMACY	1 in 15 miles	9			100.0		0.0		
Glynn, GA	306	PHARMACY	1 in 15 miles	19	16.1	306	100.0	0	0.0	1.6	2.4
Grand Totals	1,376	PHARMACY	1 in 15 miles	104	13.2	1,376	100.0	0	0.0	1.7	2.4
© 2023 Quest Analytics II C											

#### **Pharmacy -Rural**

January 24, 2023

Access Analysis
Pharmacy- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
PHARMACY

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	PHARMACY	1 in 30 miles	9	8.0	72	100.0	0	0.0	1.2	1.4
Bacon, GA	45	PHARMACY	1 in 30 miles	4	11.3		100.0	0	0.0	1.6	1.8
Brantley, GA	78	PHARMACY	1 in 30 miles	3	26.0		100.0	0	0.0	3.1	4.3
Bryan, GA	133	PHARMACY	1 in 30 miles	7	19.0		100.0	0	0.0	5.4	6.4
Camden, GA	282	PHARMACY	1 in 30 miles	8	35.3	282	100.0	0	0.0	2.1	3.0
Candler, GA	43	PHARMACY	1 in 30 miles	3	14.3	43	100.0	0	0.0	3.0	3.8
Charlton, GA	107	PHARMACY	1 in 30 miles	2	53.5	107	100.0	0	0.0	3.7	4.9
Evans, GA	28	PHARMACY	1 in 30 miles	3	9.3	28	100.0	0	0.0	1.8	2.1
Jeff Davis, GA	70	PHARMACY	1 in 30 miles	6	11.7	70	100.0	0	0.0	4.4	4.7
Liberty, GA	234	PHARMACY	1 in 30 miles	9	26.0	234	100.0	0	0.0	1.6	2.9
Long, GA	30	PHARMACY	1 in 30 miles	1	30.0	30	100.0	0	0.0	5.8	10.2
McIntosh, GA	40	PHARMACY	1 in 30 miles	3	13.3	40	100.0	0	0.0	3.3	6.1
Montgomery, GA	24	PHARMACY	1 in 30 miles	0		24	100.0	0	0.0	8.4	10.8
Pierce, GA	131	PHARMACY	1 in 30 miles	4	32.8	131	100.0	0	0.0	2.2	3.7
Screven, GA	72	PHARMACY	1 in 30 miles	1	72.0	72	100.0	0	0.0	3.2	19.7
Tattnall, GA	46	PHARMACY	1 in 30 miles	4	11.5	46	100.0	0	0.0	4.2	4.5
Toombs, GA	123	PHARMACY	1 in 30 miles	8	15.4	123	100.0	0	0.0	1.6	2.2
Ware, GA	234	PHARMACY	1 in 30 miles	12	19.5	234	100.0	0	0.0	1.3	1.5
Wayne, GA	141	PHARMACY	1 in 30 miles	8	17.6	141	100.0	0	0.0	4.8	5.9
Grand Totals	1,933	PHARMACY	1 in 30 miles	95	20.3	1,933	100.0	0	0.0	2.8	4.3

## 24 Hour Pharmacy - Urban

January 24, 2023

Access Analysis 24 Hour Pharmacy- Urban Member / Provider Groups Urban Members (SE\_URBAN) 24 Hour Pharmacy

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		24 Hour Pharmacy	1 in 15 miles	0		0			100.0		142.6
Chatham, GA		24 Hour Pharmacy	1 in 15 miles	0		0	0.0	680	100.0	154.1	
Effingham, GA		24 Hour Pharmacy	1 in 15 miles	0		0			100.0		
Glynn, GA	306	24 Hour Pharmacy	1 in 15 miles	0		0	0.0	306	100.0	110.7	172.5
Grand Totals	1,376	24 Hour Pharmacy	1 in 15 miles	0		0	0.0	1,376	100.0	137.4	159.8
© 2023 Quest Analytics II C											

## 24 Hour Pharmacy - Rural

January 24, 2023

Access Analysis 24 Hour Pharmacy- Rural Member / Provider Groups Rural Members (SE\_RURAL) 24 Hour Pharmacy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	92.8	113.3
Bacon, GA	45	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	78.9	117.3
Brantley, GA	78	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	78	100.0	83.3	153.7
Bryan, GA	133	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	133	100.0	133.9	146.2
Camden, GA	282	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	282	100.0	99.9	187.9
Candler, GA	43	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	43	100.0	97.1	129.6
Charlton, GA	107	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	107	100.0	77.1	175.0
Evans, GA	28	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	28	100.0	113.5	125.7
Jeff Davis, GA	70	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	70	100.0	83.4	99.2
Liberty, GA	234	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	234	100.0	123.1	142.0
Long, GA	30	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	114.5	136.4
McIntosh, GA	40	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	40	100.0	119.9	165.4
Montgomery, GA	24	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	24	100.0	87.0	103.9
Pierce, GA	131	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	131	100.0	75.3	136.6
Screven, GA	72	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	118.6	145.6
Tattnall, GA	46	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	46	100.0	108.7	116.4
Toombs, GA	123	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	91.6	110.6
Ware, GA	234	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	234	100.0	64.9	138.3
Wayne, GA		24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	98.6	137.9
Grand Totals	1,933	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,933	100.0	96.8	143.9

## **Occupational Therapy - Urban**

January 24, 2023

Access Analysis
Occupational Therapy- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Occupational Therapy

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	Occupational Therapy	1 in 30 miles	17	10.4	177	100.0	0	0.0	3.4	3.9
Chatham, GA		Occupational Therapy	1 in 30 miles	99	6.9		100.0	0	0.0	2.5	
Effingham, GA		Occupational Therapy	1 in 30 miles	18			100.0		0.0	9.0	
Glynn, GA	306	Occupational Therapy	1 in 30 miles	14	21.9	306	100.0	0	0.0	4.5	4.5
Grand Totals	1,376	Occupational Therapy	1 in 30 miles	148	9.3	1,376	100.0	0	0.0	4.0	4.4
© 2023 Quest Analytics II C											

## **Occupational Therapy - Rural**

January 24, 2023

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Occupational Therapy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Occupational Therapy	1 in 45 miles	1	72.0	72	100.0	0	0.0	2.4	18.4
Bacon, GA	45	Occupational Therapy	1 in 45 miles	7	6.4	45	100.0	0	0.0	2.1	2.6
Brantley, GA	78	Occupational Therapy	1 in 45 miles	0		78	100.0	0	0.0	21.0	21.0
Bryan, GA	133	Occupational Therapy	1 in 45 miles	28	4.8	133	100.0	0	0.0	7.3	8.8
Camden, GA	282	Occupational Therapy	1 in 45 miles	23	12.3	282	100.0	0	0.0	3.3	3.3
Candler, GA	43	Occupational Therapy	1 in 45 miles	0		43	100.0	0	0.0	16.0	18.3
Charlton, GA	107	Occupational Therapy	1 in 45 miles	0		100	93.5	7	6.5	25.9	25.9
Evans, GA	28	Occupational Therapy	1 in 45 miles	0		28	100.0	0	0.0	16.4	16.7
Jeff Davis, GA	70	Occupational Therapy	1 in 45 miles	1	70.0	70	100.0	0	0.0	5.0	19.4
Liberty, GA	234	Occupational Therapy	1 in 45 miles	3	78.0	234	100.0	0	0.0	2.7	4.4
Long, GA		Occupational Therapy	1 in 45 miles	0			100.0	0	0.0	8.0	
McIntosh, GA	40	Occupational Therapy	1 in 45 miles	1	40.0	40	100.0	0	0.0	6.6	19.1
Montgomery, GA	24	Occupational Therapy	1 in 45 miles	0		24	100.0	0	0.0	11.2	12.1
Pierce, GA		Occupational Therapy	1 in 45 miles	0		131	100.0	0	0.0	12.9	13.0
Screven, GA		Occupational Therapy	1 in 45 miles	2	36.0		100.0	0	0.0	3.6	3.6
Tattnall, GA		Occupational Therapy	1 in 45 miles	4	11.5		100.0	0	0.0	8.6	
Toombs, GA		Occupational Therapy	1 in 45 miles	11			100.0	0	0.0	2.2	
Ware, GA		Occupational Therapy	1 in 45 miles	7	33.4	234	100.0	0	0.0	1.4	2.0
Wayne, GA		Occupational Therapy	1 in 45 miles	6	23.5	141	100.0	0	0.0	8.0	8.0
Grand Totals	1,933	Occupational Therapy	1 in 45 miles	94	20.6	1,926	99.6	7	0.4	7.0	8.9

# **Physical Therapy - Urban**

January 24, 2023

Access Analysis
Physical Therapy- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Physical Therapy

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	Physical Therapy	1 in 30 miles	35	5.1	177	100.0	0	0.0	4.4	4.4
Chatham, GA		Physical Therapy	1 in 30 miles	152	4.5		100.0	0	0.0	2.8	
Effingham, GA		Physical Therapy	1 in 30 miles	33			100.0		0.0		
Glynn, GA	306	Physical Therapy	1 in 30 miles	38	8.1	306	100.0	0	0.0	2.8	4.2
Grand Totals	1,376	Physical Therapy	1 in 30 miles	258	5.3	1,376	100.0	0	0.0	3.9	4.5
© 2023 Quaet Analytics II C											

# **Physical Therapy - Rural**

January 24, 2023

Access Analysis
Physical Therapy- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Physical Therapy

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Physical Therapy	1 in 45 miles	1	72.0	72	100.0	0	0.0	2.6	17.9
Bacon, GA	45	Physical Therapy	1 in 45 miles	8	5.6	45	100.0	0	0.0	2.3	2.6
Brantley, GA	78	Physical Therapy	1 in 45 miles	0		78	100.0	0	0.0	20.6	20.8
Bryan, GA	133	Physical Therapy	1 in 45 miles	41	3.2	133	100.0	0	0.0	4.7	8.2
Camden, GA	282	Physical Therapy	1 in 45 miles	40	7.1	282	100.0	0	0.0	2.9	3.3
Candler, GA	43	Physical Therapy	1 in 45 miles	1	43.0		100.0	0	0.0	4.1	18.2
Charlton, GA	107	Physical Therapy	1 in 45 miles	7	15.3	107	100.0	0	0.0	5.6	5.6
Evans, GA	28	Physical Therapy	1 in 45 miles	1	28.0		100.0	0	0.0	2.1	15.8
Jeff Davis, GA	70	Physical Therapy	1 in 45 miles	1	70.0	70	100.0	0	0.0	5.1	19.7
Liberty, GA	234	Physical Therapy	1 in 45 miles	7	33.4	234	100.0	0	0.0	2.2	3.1
Long, GA	30	Physical Therapy	1 in 45 miles	0		30	100.0	0	0.0	7.7	8.8
McIntosh, GA	40	Physical Therapy	1 in 45 miles	2	20.0	40	100.0	0	0.0	5.1	7.9
Montgomery, GA	24	Physical Therapy	1 in 45 miles	0		24	100.0	0	0.0	11.9	13.5
Pierce, GA	131	Physical Therapy	1 in 45 miles	0		131	100.0	0	0.0	12.9	12.9
Screven, GA	72	Physical Therapy	1 in 45 miles	1	72.0	72	100.0	0	0.0	3.6	20.1
Tattnall, GA	46	Physical Therapy	1 in 45 miles	12		46	100.0	0	0.0		4.4
Toombs, GA	123	Physical Therapy	1 in 45 miles	27	4.6	123	100.0	0	0.0	2.4	2.8
Ware, GA	234	Physical Therapy	1 in 45 miles	12	19.5	234	100.0	0	0.0	1.2	1.3
Wayne, GA	141	Physical Therapy	1 in 45 miles	10	14.1	141	100.0	0	0.0	7.0	7.5
Grand Totals	1,933	Physical Therapy	1 in 45 miles	171	11.3	1,933	100.0	0	0.0	4.9	7.7

# **Speech Therapy - Urban**

January 24, 2023

Access Analysis SpeechTherapy- Urban Member / Provider Groups Urban Members (SE\_URBAN) Speech Therapy

			Members With a	nd With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Speech Therapy	1 in 30 miles	19	9.3		100.0			3.6	3.8
Chatham, GA		Speech Therapy	1 in 30 miles	154	4.4	680	100.0	0			2.7
Effingham, GA		Speech Therapy	1 in 30 miles	13			100.0			6.2	8.1
Glynn, GA	306	Speech Therapy	1 in 30 miles	39	7.8	306	100.0	0	0.0	2.0	2.8
Grand Totals	1,376	Speech Therapy	1 in 30 miles	225	6.1	1,376	100.0	0	0.0	2.9	3.7

## **Speech Therapy - Rural**

January 24, 2023

Access Analysis Speech Therapy- Rural Member / Provider Groups Rural Members (SE\_RURAL) Speech Therapy

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Speech Therapy	1 in 45 miles	18	4.0	72	100.0	0	0.0	2.3	2.3
Bacon, GA	45	Speech Therapy	1 in 45 miles	12	3.8	45	100.0	0	0.0	1.9	1.9
Brantley, GA	78	Speech Therapy	1 in 45 miles	0		78	100.0	0	0.0	19.2	20.8
Bryan, GA	133	Speech Therapy	1 in 45 miles	30	4.4	133	100.0	0	0.0	6.0	9.0
Camden, GA	282	Speech Therapy	1 in 45 miles	36	7.8	282	100.0	0	0.0	2.5	2.8
Candler, GA	43	Speech Therapy	1 in 45 miles	0		43	100.0	0	0.0	16.0	16.0
Charlton, GA	107	Speech Therapy	1 in 45 miles	0		107	100.0	0	0.0	24.8	24.9
Evans, GA	28	Speech Therapy	1 in 45 miles	0		28	100.0	0	0.0	11.1	19.7
Jeff Davis, GA	70	Speech Therapy	1 in 45 miles	19	3.7	70	100.0	0	0.0	3.8	4.6
Liberty, GA	234	Speech Therapy	1 in 45 miles	5	46.8	234	100.0	0	0.0	3.1	3.5
Long, GA	30	Speech Therapy	1 in 45 miles	0		30	100.0	0	0.0	12.2	12.2
McIntosh, GA	40	Speech Therapy	1 in 45 miles	0		40	100.0	0	0.0	17.5	18.2
Montgomery, GA	24	Speech Therapy	1 in 45 miles	0		24	100.0	0	0.0	11.3	11.3
Pierce, GA	131	Speech Therapy	1 in 45 miles	0		131	100.0	0	0.0	12.0	12.9
Screven, GA	72	Speech Therapy	1 in 45 miles	0		72	100.0	0	0.0	20.6	26.3
Tattnall, GA		Speech Therapy	1 in 45 miles	0		46	100.0	0	0.0	21.7	22.0
Toombs, GA	123	Speech Therapy	1 in 45 miles	22	5.6	123	100.0	0	0.0	3.2	3.2
Ware, GA		Speech Therapy	1 in 45 miles	16	14.6	234	100.0		0.0	1.3	2.0
Wayne, GA		Speech Therapy	1 in 45 miles	11	12.8	141			0.0	7.2	7.9
Grand Totals	1,933	Speech Therapy	1 in 45 miles	169	11.4	1,933	100.0	0	0.0	7.8	8.7

# **Outpatient Radiology Services - Urban**

January 24, 2023

Access Analysis
Outpatient Radiology Services- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Outpatient Radiology Services

			Members With a	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Outpatient Radiology	1 in 30 miles	36	4.9	177	100.0	0	0.0	3.6	3.8
Chatham, GA		Outpatient Radiology	1 in 30 miles	346			100.0		0.0	3.1	
Effingham, GA		Outpatient Radiology	1 in 30 miles	44			100.0		0.0	4.2	
Glynn, GA	306	Outpatient Radiology	1 in 30 miles	13	23.5	306	100.0	0	0.0	4.8	5.1
Grand Totals	1,376	Outpatient Radiology	1 in 30 miles	439	3.1	1,376	100.0	0	0.0	3.7	3.9
© 2023 Quest Analytics LLC											

### **Outpatient Radiology Services - Rural**

January 24, 2023

Access Analysis
Outpatient Radiology Services- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Outpatient Radiology Services

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Outpatient Radiology	1 in 45 miles	5	14.4	72	100.0	0	0.0	2.6	2.6
Bacon, GA		Outpatient Radiology	1 in 45 miles	5	9.0		100.0	0	0.0	2.0	2.0
Brantley, GA	78	Outpatient Radiology	1 in 45 miles	0		78	100.0	0	0.0	21.4	21.6
Bryan, GA		Outpatient Radiology	1 in 45 miles	3	44.3		100.0	0	0.0	8.9	10.3
Camden, GA	282	Outpatient Radiology	1 in 45 miles	9	31.3	282	100.0	0	0.0	4.1	4.7
Candler, GA	43	Outpatient Radiology	1 in 45 miles	5	8.6	43	100.0	0	0.0	4.3	4.3
Charlton, GA	107	Outpatient Radiology	1 in 45 miles	7	15.3	107	100.0	0	0.0	6.2	6.3
Evans, GA	28	Outpatient Radiology	1 in 45 miles	32	0.9	28	100.0	0	0.0	2.0	2.0
Jeff Davis, GA	70	Outpatient Radiology	1 in 45 miles	5	14.0	70	100.0	0	0.0	5.1	5.1
Liberty, GA	234	Outpatient Radiology	1 in 45 miles	26	9.0	234	100.0	0	0.0	2.8	3.4
Long, GA	30	Outpatient Radiology	1 in 45 miles	0		30	100.0	0	0.0	7.0	9.2
McIntosh, GA	40	Outpatient Radiology	1 in 45 miles	0		40	100.0	0	0.0	18.9	19.3
Montgomery, GA	24	Outpatient Radiology	1 in 45 miles	0		24	100.0	0	0.0	9.1	9.3
Pierce, GA	131	Outpatient Radiology	1 in 45 miles	0		131	100.0	0	0.0	12.6	13.0
Screven, GA		Outpatient Radiology	1 in 45 miles	6	12.0	72	100.0	0	0.0	3.6	3.6
Tattnall, GA		Outpatient Radiology	1 in 45 miles	7	6.6	46	100.0	0	0.0	7.5	7.9
Toombs, GA		Outpatient Radiology	1 in 45 miles	17	7.2	123	100.0	0	0.0	3.2	
Ware, GA		Outpatient Radiology	1 in 45 miles	31	7.5	234	100.0	0	0.0	1.3	1.9
Wayne, GA		Outpatient Radiology	1 in 45 miles	38	3.7			0	0.0	7.2	7.6
Grand Totals	1,933	Outpatient Radiology	1 in 45 miles	196	9.9	1,933	100.0	0	0.0	5.9	6.3



# Amerigroup Community Care-Behavioral Health Providers

Access Analysis
SouthEast

January 24, 2023

#### **Behavioral Health - Urban**

January 24, 2023

Access Analysis

Behavioral Health- Urban

Member / Provider Groups

Urban Members (SE\_URBAN)

Behavioral Health

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA	177	Behavioral Health	1 in 30 miles	64	2.8	177	100.0	0	0.0	2.3	2.9	
Chatham, GA	680	Behavioral Health	1 in 30 miles	484			100.0	0	0.0	1.1		
Effingham, GA		Behavioral Health	1 in 30 miles	37			100.0					
Glynn, GA	306	Behavioral Health	1 in 30 miles	90	3.4	306	100.0	0	0.0	1.3	1.9	
Grand Totals	1,376	Behavioral Health	1 in 30 miles	675	2.0	1,376	100.0	0	0.0	1.5	2.4	
© 2023 Quest Analytics, LLC.		!	-				Ь—					

#### **Behavioral Health - Rural**

January 24, 2023

Access Analysis Behavioral Health- Rural Member / Provider Groups Rural Members (SE\_RURAL) Behavioral Health

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Behavioral Health	1 in 45 miles	14	5.1	72	100.0	0	0.0	1.4	1.6
Bacon, GA	45	Behavioral Health	1 in 45 miles	35	1.3		100.0	0	0.0	1.8	2.1
Brantley, GA	78	Behavioral Health	1 in 45 miles	6	13.0	78	100.0	0	0.0	3.0	3.8
Bryan, GA	133	Behavioral Health	1 in 45 miles	39	3.4		100.0	0	0.0	4.0	8.2
Camden, GA	282	Behavioral Health	1 in 45 miles	89	3.2	282	100.0	0	0.0	1.1	1.5
Candler, GA	43	Behavioral Health	1 in 45 miles	4	10.8	43	100.0	0	0.0	3.1	4.1
Charlton, GA	107	Behavioral Health	1 in 45 miles	6	17.8	107	100.0	0	0.0	5.4	5.7
Evans, GA	28	Behavioral Health	1 in 45 miles	6	4.7	28	100.0	0	0.0	2.3	2.6
Jeff Davis, GA	70	Behavioral Health	1 in 45 miles	6	11.7	70	100.0	0	0.0	4.1	4.7
Liberty, GA	234	Behavioral Health	1 in 45 miles	57	4.1	234	100.0	0	0.0	1.3	1.4
Long, GA	30	Behavioral Health	1 in 45 miles	11	2.7	30	100.0	0	0.0	2.8	4.4
McIntosh, GA	40	Behavioral Health	1 in 45 miles	3	13.3	40	100.0	0	0.0	2.5	7.3
Montgomery, GA	24	Behavioral Health	1 in 45 miles	0		24	100.0	0	0.0	10.1	11.6
Pierce, GA	131	Behavioral Health	1 in 45 miles	17	7.7	131	100.0	0	0.0	2.5	3.5
Screven, GA	72	Behavioral Health	1 in 45 miles	3	24.0	72	100.0	0	0.0	2.6	3.4
Tattnall, GA	46	Behavioral Health	1 in 45 miles	2	23.0	46	100.0	0	0.0	5.9	10.6
Toombs, GA	123	Behavioral Health	1 in 45 miles	13	9.5	123	100.0	0	0.0	4.2	4.4
Ware, GA	234	Behavioral Health	1 in 45 miles	56	4.2	234	100.0	0	0.0	1.0	1.2
Wayne, GA	141	Behavioral Health	1 in 45 miles	16	8.8	141	100.0	0	0.0	4.9	5.4
Grand Totals	1,933	Behavioral Health	1 in 45 miles	383	5.0	1,933	100.0	0	0.0	2.7	3.6

#### **Behavioral Health Facilities - Urban**

January 24, 2023

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (SE\_URBAN)

Behavioral Health Facilities

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA			1 in 30 miles	7	25.3		100.0			3.6		
Chatham, GA			1 in 30 miles	129	5.3		100.0		0.0	2.0	2.3	
Effingham, GA			1 in 30 miles	4	53.3		100.0					
Glynn, GA	306	Behavioral Health Fac	1 in 30 miles	16	19.1	306	100.0	0	0.0	1.9	2.6	
Grand Totals	1,376	Behavioral Health Fac	1 in 30 miles	156	8.8	1,376	100.0	0	0.0	2.8	3.6	

#### **Behavioral Health Facilities - Rural**

January 24, 2023

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (SE\_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Behavioral Health Fac	1 in 45 miles	3	24.0	72	100.0	0	0.0	2.1	4.4
Bacon, GA	45	Behavioral Health Fac	1 in 45 miles	16	2.8	45	100.0	0	0.0	2.0	2.2
Brantley, GA	78	Behavioral Health Fac	1 in 45 miles	1	78.0	78	100.0	0	0.0	6.3	15.7
Bryan, GA	133	Behavioral Health Fac	1 in 45 miles	18			100.0	0	0.0	4.6	9.3
Camden, GA	282	Behavioral Health Fac	1 in 45 miles	10	28.2	282	100.0	0	0.0	5.6	7.4
Candler, GA	43	Behavioral Health Fac	1 in 45 miles	1	43.0	43	100.0	0	0.0	6.6	16.2
Charlton, GA	107	Behavioral Health Fac	1 in 45 miles	3	35.7	107	100.0	0	0.0	5.7	6.6
Evans, GA	28	Behavioral Health Fac	1 in 45 miles	3	9.3	28	100.0	0	0.0	2.3	2.6
Jeff Davis, GA	70	Behavioral Health Fac	1 in 45 miles	1	70.0	70	100.0	0	0.0	6.9	17.0
Liberty, GA	234	Behavioral Health Fac	1 in 45 miles	6	39.0	234	100.0	0	0.0	2.0	2.9
Long, GA	30	Behavioral Health Fac	1 in 45 miles	2	15.0	30	100.0	0	0.0	3.9	7.3
McIntosh, GA	40	Behavioral Health Fac	1 in 45 miles	1	40.0	40	100.0	0	0.0	6.2	11.9
Montgomery, GA	24	Behavioral Health Fac	1 in 45 miles	0		24	100.0	0	0.0	12.4	22.8
Pierce, GA	131	Behavioral Health Fac	1 in 45 miles	4	32.8	131	100.0	0	0.0	2.7	3.8
Screven, GA	72	Behavioral Health Fac	1 in 45 miles	1	72.0	72	100.0	0	0.0	2.7	18.8
Tattnall, GA	46	Behavioral Health Fac	1 in 45 miles	1	46.0	46	100.0	0	0.0	9.2	15.5
Toombs, GA	123	Behavioral Health Fac	1 in 45 miles	1	123.0	123	100.0	0	0.0	5.1	22.6
Ware, GA	234	Behavioral Health Fac	1 in 45 miles	19	12.3	234	100.0	0	0.0	1.5	1.6
Wayne, GA	141	Behavioral Health Fac	1 in 45 miles	2	70.5	141	100.0	0	0.0	6.2	8.6
Grand Totals	1,933	Behavioral Health Fac	1 in 45 miles	93	20.8	1,933	100.0	0	0.0	4.3	8.5

#### **Community Service Boards - Urban**

January 24, 2023

Access Analysis
Community Service Boards- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Community Service Boards

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA		Community Service B	1 in 30 miles	3	59.0		100.0	0		3.5	4.1
Chatham, GA	680	Community Service B	1 in 30 miles	7	97.1	680	100.0	0			
Effingham, GA		Community Service B	1 in 30 miles	11		213	100.0	0		4.8	9.0
Glynn, GA	306	Community Service B	1 in 30 miles	12	25.5	306	100.0	0	0.0	3.0	3.1
Grand Totals	1,376	Community Service B	1 in 30 miles	33	41.7	1,376	100.0	0	0.0	4.2	5.0

#### **Community Service Boards - Rural**

January 24, 2023

Access Analysis
Community Service Boards- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Community Service Boards

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Community Service B	1 in 45 miles	0		72	100.0	0	0.0	15.8	20.4
Bacon, GA	45	Community Service B	1 in 45 miles	35	1.3	45	100.0	0	0.0	2.0	2.1
Brantley, GA	78	Community Service B	1 in 45 miles	2	39.0	78	100.0	0	0.0	3.6	3.9
Bryan, GA	133	Community Service B	1 in 45 miles	0			100.0	0	0.0	16.4	17.1
Camden, GA	282	Community Service B	1 in 45 miles	4	70.5	282	100.0	0	0.0	2.2	4.7
Candler, GA	43	Community Service B	1 in 45 miles	1	43.0	43	100.0	0	0.0	3.9	18.2
Charlton, GA		Community Service B	1 in 45 miles	3	35.7		100.0	0	0.0	5.7	6.5
Evans, GA	28	Community Service B	1 in 45 miles	0		28	100.0	0	0.0	16.4	21.8
Jeff Davis, GA	70	Community Service B	1 in 45 miles	0		70	100.0	0	0.0	22.9	23.8
Liberty, GA	234	Community Service B	1 in 45 miles	3	78.0	234	100.0	0	0.0	3.3	4.0
Long, GA	30	Community Service B	1 in 45 miles	0		30	100.0	0	0.0	11.2	11.2
McIntosh, GA	40	Community Service B	1 in 45 miles	0		40	100.0	0	0.0	18.1	18.2
Montgomery, GA	24	Community Service B	1 in 45 miles	0		24	100.0	0	0.0	15.3	29.7
Pierce, GA	131	Community Service B	1 in 45 miles	6	21.8	131	100.0	0	0.0	3.5	3.6
Screven, GA	72	Community Service B	1 in 45 miles	0		72	100.0	0	0.0	26.5	26.9
Tattnall, GA	46	Community Service B	1 in 45 miles	1	46.0	46	100.0	0	0.0	8.6	22.8
Toombs, GA	123	Community Service B	1 in 45 miles	0		123	100.0	0	0.0	19.8	24.2
Ware, GA	234	Community Service B	1 in 45 miles	39	6.0	234	100.0	0	0.0	1.4	1.6
Wayne, GA	141	Community Service B	1 in 45 miles	0		141	100.0	0	0.0	21.9	25.3
Grand Totals	1,933	Community Service B	1 in 45 miles	94	20.6	1,933	100.0	0	0.0	9.3	11.5

## **Psychiatric Residential Treatment Facilities - Urban**

January 24, 2023

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)-Urban

Member / Provider Groups
Urban Members (SE\_URBAN)
Psychiatric Residential Treatment
Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	Psychiatric Residentia	1 in 30 miles	0		0			100.0		76.0
Chatham, GA		Psychiatric Residentia	1 in 30 miles	1	680.0	680	100.0	0			115.3
Effingham, GA		Psychiatric Residentia	1 in 30 miles	0		80					96.6
Glynn, GA	306	Psychiatric Residentia	1 in 30 miles	0		0	0.0	306	100.0	64.2	163.3
Grand Totals	1,376	Psychiatric Residentia	1 in 30 miles	1	1,376.0	760	55.2	616	44.8	30.3	118.0
Ĺ	L	Į	l					L			

#### **Psychiatric Residential Treatment Facilities - Rural**

January 24, 2023

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)- Rural

Member / Provider Groups Rural Members (SE\_RURAL) Psychiatric Residential Treatment Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Psychiatric Residentia	1 in 45 miles	0		0	0.0	72	100.0	77.5	120.6
Bacon, GA		Psychiatric Residentia	1 in 45 miles	0		0			100.0	89.6	138.0
Brantley, GA	78	Psychiatric Residentia	1 in 45 miles	0		0	0.0	78	100.0	86.7	161.1
Bryan, GA	133	Psychiatric Residentia	1 in 45 miles	0		117	88.0	16	12.0	28.2	109.3
Camden, GA	282	Psychiatric Residentia	1 in 45 miles	0		0	0.0	282	100.0	91.9	190.1
Candler, GA	43	Psychiatric Residentia	1 in 45 miles	0		0	0.0	43	100.0	67.9	75.4
Charlton, GA	107	Psychiatric Residentia	1 in 45 miles	0		0	0.0	107	100.0	105.5	189.6
Evans, GA	28	Psychiatric Residentia	1 in 45 miles	0		0	0.0	28	100.0	50.5	93.6
Jeff Davis, GA	70	Psychiatric Residentia	1 in 45 miles	0		0	0.0	70	100.0	92.3	119.9
Liberty, GA	234	Psychiatric Residentia	1 in 45 miles	0		234	100.0	0	0.0	35.6	120.0
Long, GA	30	Psychiatric Residentia	1 in 45 miles	0		14	46.7	16	53.3	45.9	122.0
McIntosh, GA	40	Psychiatric Residentia	1 in 45 miles	0		3	7.5	37	92.5	48.5	148.2
Montgomery, GA	24	Psychiatric Residentia	1 in 45 miles	0		0	0.0	24	100.0	86.1	97.1
Pierce, GA	131	Psychiatric Residentia	1 in 45 miles	0		0	0.0	131	100.0	88.8	151.9
Screven, GA	72	Psychiatric Residentia	1 in 45 miles	0		0	0.0	72	100.0	61.6	63.7
Tattnall, GA	46	Psychiatric Residentia	1 in 45 miles	0		0	0.0	46	100.0	58.6	100.9
Toombs, GA	123	Psychiatric Residentia	1 in 45 miles	0		0	0.0	123	100.0	77.0	91.6
Ware, GA	234	Psychiatric Residentia	1 in 45 miles	0		0	0.0	234	100.0	98.6	160.1
Wayne, GA		Psychiatric Residentia	1 in 45 miles	0		0	0.0	141	100.0	65.4	136.1
Grand Totals	1,933	Psychiatric Residentia	1 in 45 miles	0		368	19.0	1,565	81.0	73.7	138.2

#### **Psychologists - Urban**

January 24, 2023

Access Analysis
Psychologists- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Psychologists

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA	177	Psychologists	1 in 30 miles	3	59.0	177	100.0	0	0.0	3.8	4.2		
Chatham, GA	680	Psychologists	1 in 30 miles	27	25.2		100.0	0	0.0	2.7	3.9		
Effingham, GA		Psychologists	1 in 30 miles	1			100.0						
Glynn, GA	306	Psychologists	1 in 30 miles	5	61.2	306	100.0	0	0.0	2.8	6.0		
Grand Totals	1,376	Psychologists	1 in 30 miles	36	38.2	1,376	100.0	0	0.0	4.0	7.5		

#### **Psychologists - Rural**

January 24, 2023

Access Analysis
Psychologists- Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Psychologists

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Psychologists	1 in 45 miles	0		72	100.0	0	0.0	34.9	37.4
Bacon, GA	45	Psychologists	1 in 45 miles	0		45	100.0	0	0.0	26.2	26.2
Brantley, GA	78	Psychologists	1 in 45 miles	0		78	100.0	0	0.0	21.3	22.0
Bryan, GA	133	Psychologists	1 in 45 miles	1	133.0		100.0	0	0.0	12.8	15.9
Camden, GA	282	Psychologists	1 in 45 miles	3	94.0	282	100.0	0	0.0	4.2	4.8
Candler, GA	43	Psychologists	1 in 45 miles	1	43.0		100.0	0	0.0		19.5
Charlton, GA	107	Psychologists	1 in 45 miles	0		107	100.0	0	0.0	26.5	26.6
Evans, GA		Psychologists	1 in 45 miles	0		28	100.0	0	0.0		24.2
Jeff Davis, GA	70	Psychologists	1 in 45 miles	0		1	1.4	69	98.6	49.8	50.2
Liberty, GA	234	Psychologists	1 in 45 miles	3	78.0	234	100.0	0	0.0	2.9	3.8
Long, GA	30	Psychologists	1 in 45 miles	1	30.0	30	100.0	0	0.0	5.8	11.7
McIntosh, GA	40	Psychologists	1 in 45 miles	0		40	100.0	0	0.0	18.7	22.3
Montgomery, GA	24	Psychologists	1 in 45 miles	0		23	95.8	1	4.2	38.5	52.1
Pierce, GA	131	Psychologists	1 in 45 miles	0		131	100.0	0	0.0	13.6	14.1
Screven, GA	72	Psychologists	1 in 45 miles	0		72	100.0	0	0.0	26.4	26.5
Tattnall, GA	46	Psychologists	1 in 45 miles	0		46	100.0	0	0.0	22.9	33.3
Toombs, GA		Psychologists	1 in 45 miles	0		123	100.0	0	0.0	28.4	43.0
Ware, GA	234	Psychologists	1 in 45 miles	2	117.0	234	100.0	0	0.0	1.6	1.9
Wayne, GA	141	Psychologists	1 in 45 miles	1	141.0	141	100.0	0	0.0	7.7	18.9
Grand Totals	1,933	Psychologists	1 in 45 miles	12	161.1	1,863	96.4	70	3.6	14.3	17.6
	L				<u> </u>						

#### **Psychiatrists - Urban**

January 24, 2023

Access Analysis
Psychiatry- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Psychiatry

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Acc	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bulloch, GA		Psychiatry	1 in 30 miles	3			100.0	0	0.0	3.8	4.5		
Chatham, GA		Psychiatry	1 in 30 miles	20	34.0	680	100.0	0	0.0	2.9	4.2		
Effingham, GA		Psychiatry	1 in 30 miles	2			100.0		0.0	9.6			
Glynn, GA	306	Psychiatry	1 in 30 miles	17	18.0	306	100.0	0	0.0	2.4	2.7		
Grand Totals	1,376	Psychiatry	1 in 30 miles	42	32.8	1,376	100.0	0	0.0	3.9	4.8		

#### **Psychiatrists - Rural**

January 24, 2023

Access Analysis
Psychiatry- Rural

Member / Provider Groups
Rural Members (SE\_RURAL)
Psychiatry

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Psychiatry	1 in 45 miles	3	24.0	72	100.0	0	0.0	1.7	2.6
Bacon, GA	45	Psychiatry	1 in 45 miles	0		45	100.0	0	0.0	20.2	20.2
Brantley, GA	78	Psychiatry	1 in 45 miles	1	78.0	78	100.0	0	0.0	4.5	20.7
Bryan, GA	133	Psychiatry	1 in 45 miles	1	133.0	133	100.0	0	0.0	11.3	18.0
Camden, GA	282	Psychiatry	1 in 45 miles	8	35.3	282	100.0	0	0.0	3.5	4.4
Candler, GA	43	Psychiatry	1 in 45 miles	0			100.0		0.0		20.1
Charlton, GA	107	Psychiatry	1 in 45 miles	0		107	100.0	0	0.0	24.4	26.3
Evans, GA	28	Psychiatry	1 in 45 miles	0			100.0		0.0	24.0	24.7
Jeff Davis, GA	70	Psychiatry	1 in 45 miles	2	35.0	70	100.0	0	0.0	5.1	5.1
Liberty, GA	234	Psychiatry	1 in 45 miles	5	46.8	234	100.0	0	0.0	2.5	3.1
Long, GA	30	Psychiatry	1 in 45 miles	2	15.0	30	100.0	0	0.0	4.5	6.0
McIntosh, GA	40	Psychiatry	1 in 45 miles	0		40	100.0		0.0	18.1	18.8
Montgomery, GA	24	Psychiatry	1 in 45 miles	0		24	100.0	0	0.0	12.4	23.9
Pierce, GA	131	Psychiatry	1 in 45 miles	0			100.0		0.0	-	13.2
Screven, GA	72	Psychiatry	1 in 45 miles	0			100.0		0.0	25.9	26.3
Tattnall, GA	46	Psychiatry	1 in 45 miles	0			100.0		0.0		29.1
Toombs, GA	123	Psychiatry	1 in 45 miles	1	123.0	123	100.0	0	0.0	4.6	27.1
Ware, GA	234	Psychiatry	1 in 45 miles	10	23.4	234	100.0		0.0	1.2	1.6
Wayne, GA	141	Psychiatry	1 in 45 miles	2	70.5	141	100.0	0	0.0	6.2	7.9
Grand Totals	1,933	Psychiatry	1 in 45 miles	35	55.2	1,933	100.0	0	0.0	8.5	11.9

#### **Autism Spectrum Disorder Treatment Provider - Urban**

January 24, 2023

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

Member / Provider Groups
Urban Members (SE\_URBAN)
Autism Spectrum Disorder(ASD)
Treatment Provider

County   #   Group   Standard   #   to Providers   #   %   #   %   1		Members With and Without Access											
County         #         Group         Standard         #         to Providers         #         %         #         %         1           Bulloch, GA         177         Autism Spectrum Diso         1 in 30 miles         18         9.8         177         100.0         0         0.0         3.6           Chatham, GA         680         Autism Spectrum Diso         1 in 30 miles         265         2.6         680         100.0         0         0.0         2.0           Effingham, GA         213         Autism Spectrum Diso         1 in 30 miles         0          213         100.0         0         0.0         15.2           Glynn, GA         306         Autism Spectrum Diso         1 in 30 miles         14         21.9         306         100.0         0         0.0         2.8	ge Distance	Average	cess	Without Ac	cess	With Acc	Ratio Members	Counts	ovider	Pr	Member		
Chatham, GA       680       Autism Spectrum Diso       1 in 30 miles       265       2.6       680       100.0       0       0.0       2.0         Effingham, GA       213       Autism Spectrum Diso       1 in 30 miles       0        213       100.0       0       0.0       15.2         Glynn, GA       306       Autism Spectrum Diso       1 in 30 miles       14       21.9       306       100.0       0       0.0       2.8	2	1	%	#	%	#	to Providers	#	Standard	Group	#	County	
Effingham, GA       213       Autism Spectrum Diso       1 in 30 miles       0        213       100.0       0       0.0       15.2         Glynn, GA       306       Autism Spectrum Diso       1 in 30 miles       14       21.9       306       100.0       0       0.0       2.8	3.6 4.3	3.6	0.0	0	100.0	177	9.8	18	1 in 30 miles	Autism Spectrum Diso	177	Bulloch, GA	
Glynn, GA 306 Autism Spectrum Diso 1 in 30 miles 14 21.9 306 100.0 0 0.0 2.8			0.0	0									
Grand Totals 1,376 Autism Spectrum Disc 1 in 30 miles 297 4.6 1,376 100.0 0 0.0 4.4	2.8	2.8	0.0	0	100.0	306	21.9	14	1 in 30 miles	Autism Spectrum Diso	306	Glynn, GA	
	4.4 4.6	4.4	0.0	0	100.0	1,376	4.6	297	1 in 30 miles	Autism Spectrum Diso	1,376	Grand Totals	
1 1 1 1 1 1 1 1 1 1 1													

#### **Autism Spectrum Disorder Treatment Provider - Rural**

January 24, 2023

Access Analysis

Autism Spectrum Disorder(ASD)

Treatment Provider- Rural

Member / Provider Groups
Rural Members (SE\_RURAL)
Autism Spectrum Disorder(ASD)
Treatment Provider

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Autism Spectrum Diso	1 in 45 miles	5	14.4	72	100.0	0	0.0	2.3	2.3
Bacon, GA	45	Autism Spectrum Diso	1 in 45 miles	0		45		0	0.0	20.5	20.5
Brantley, GA	78	Autism Spectrum Diso	1 in 45 miles	0			100.0	0	0.0	27.1	28.1
Bryan, GA	133	Autism Spectrum Diso	1 in 45 miles	35	3.8	133	100.0	0	0.0	9.2	9.3
Camden, GA	282	Autism Spectrum Diso	1 in 45 miles	18	15.7	282	100.0	0	0.0	7.2	8.5
Candler, GA	43	Autism Spectrum Diso	1 in 45 miles	0		43	100.0	0	0.0	16.7	17.9
Charlton, GA		Autism Spectrum Diso	1 in 45 miles	0		100	93.5	7	6.5	26.8	31.9
Evans, GA	28	Autism Spectrum Diso	1 in 45 miles	4	7.0	28	100.0	0	0.0	2.6	2.6
Jeff Davis, GA	70	Autism Spectrum Diso	1 in 45 miles	3	23.3	70	100.0	0	0.0	4.8	5.0
Liberty, GA	234	Autism Spectrum Diso	1 in 45 miles	8	29.3	234	100.0	0	0.0	2.5	2.5
Long, GA	30	Autism Spectrum Diso	1 in 45 miles	2	15.0	30	100.0	0	0.0	5.5	5.5
McIntosh, GA	40	Autism Spectrum Diso	1 in 45 miles	0		40	100.0	0	0.0	17.7	17.7
Montgomery, GA	24	Autism Spectrum Diso	1 in 45 miles	0		24	100.0	0	0.0	11.9	12.0
Pierce, GA	131	Autism Spectrum Diso	1 in 45 miles	0		131	100.0	0	0.0	32.6	32.6
Screven, GA	72	Autism Spectrum Diso	1 in 45 miles	0		72	100.0	0	0.0	20.4	20.4
Tattnall, GA	46	Autism Spectrum Diso	1 in 45 miles	0		46	100.0	0	0.0	15.8	15.8
Toombs, GA	123	Autism Spectrum Diso	1 in 45 miles	3	41.0	123	100.0	0	0.0	4.9	4.9
Ware, GA	234	Autism Spectrum Diso	1 in 45 miles	0		234	100.0	0	0.0	38.9	38.9
Wayne, GA	141	Autism Spectrum Diso	1 in 45 miles	2	70.5	141	100.0	0	0.0	7.7	7.7
Grand Totals	1,933	Autism Spectrum Diso	1 in 45 miles	80	24.2	1,926	99.6	7	0.4	15.2	15.8

#### **Narcotic Treatment Program - Urban**

January 24, 2023

Access Analysis
Narcotic Treatment Program- Urban
Member / Provider Groups
Urban Members (SE\_URBAN)
Narcotic Treatment Program

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bulloch, GA			1 in 30 miles	0		0			100.0	53.7	58.3	
Chatham, GA		Narcotic Treatment Pr		2	340.0		100.0		0.0			
Effingham, GA		Narcotic Treatment Pr		0		202						
Glynn, GA	306	Narcotic Treatment Pr	1 in 30 miles	1	306.0	306	100.0	0	0.0	9.6	64.0	
Grand Totals	1,376	Narcotic Treatment Pr	1 in 30 miles	3	458.7	1,188	86.3	188	13.7	15.7	30.5	

#### **Narcotic Treatment Program - Rural**

January 24, 2023

Access Analysis
Narcotic Treatment Program-Rural
Member / Provider Groups
Rural Members (SE\_RURAL)
Narcotic Treatment Program

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Appling, GA	72	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	72	100.0	75.7	77.1
Bacon, GA	45	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	45	100.0	72.0	88.9
Brantley, GA	78	Narcotic Treatment Pr	1 in 45 miles	0		74	94.9	4	5.1	35.1	86.0
Bryan, GA	133	Narcotic Treatment Pr	1 in 45 miles	0		133		0	0.0	25.4	28.2
Camden, GA	282	Narcotic Treatment Pr	1 in 45 miles	0		282	100.0	0	0.0	34.5	91.8
Candler, GA	43	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	43	100.0	62.6	67.3
Charlton, GA	107	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	107	100.0	53.6	105.3
Evans, GA	28	Narcotic Treatment Pr	1 in 45 miles	0		5	17.9	23	82.1	46.2	50.0
Jeff Davis, GA	70	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	70	100.0	79.4	88.8
Liberty, GA	234	Narcotic Treatment Pr	1 in 45 miles	0		234	100.0	0	0.0	35.3	36.5
Long, GA	30	Narcotic Treatment Pr	1 in 45 miles	0		15	50.0	15	50.0	45.2	46.5
McIntosh, GA	40	Narcotic Treatment Pr	1 in 45 miles	0		40	100.0	0	0.0	20.8	48.2
Montgomery, GA	24	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	24	100.0	67.0	78.8
Pierce, GA	131	Narcotic Treatment Pr	1 in 45 miles	0		1	0.8	130	99.2	52.8	88.6
Screven, GA	72	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	72	100.0	55.1	61.3
Tattnall, GA	46	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	46	100.0	55.6	58.1
Toombs, GA	123	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	123	100.0	70.6	74.1
Ware, GA	234	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	234	100.0	57.9	98.4
Wayne, GA	141	Narcotic Treatment Pr	1 in 45 miles	0		24	17.0	117	83.0	50.0	65.1
Grand Totals	1,933	Narcotic Treatment Pr	1 in 45 miles	0		808	41.8	1,125	58.2	48.9	73.2

#### **Licensed Counselors and Social Workers - Urban**

January 24, 2023

Access Analysis
Licensed Counsler and Social
Workers- Urban

Member / Provider Groups
Urban Members (SE\_URBAN)
Licensed Counsler and Social
Workers

Members With and Without Access											
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bulloch, GA	177	Licensed Counsler an	1 in 30 miles	7	25.3		100.0		0.0	3.4	3.7
Chatham, GA		Licensed Counsler an	1 in 30 miles	36	18.9		100.0		0.0	1.8	
Effingham, GA		Licensed Counsler an	1 in 30 miles	6			100.0		0.0		
Glynn, GA	306	Licensed Counsler an	1 in 30 miles	11	27.8	306	100.0	0	0.0	2.7	3.7
Grand Totals	1,376	Licensed Counsler an	1 in 30 miles	60	22.9	1,376	100.0	0	0.0	3.2	3.8
© 2023 Quaet Analytics II C	L		<u> </u>	_[			L	<u> </u>			

## **Licensed Counselors and Social Workers - Rural**

January 24, 2023

Access Analysis
Licensed Counsler and Social
Workers- Rural

Member / Provider Groups
Rural Members (SE\_RURAL)
Licensed Counsler and Social
Workers

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Appling, GA	72	Licensed Counsler an	1 in 45 miles	0		72	100.0	0	0.0	20.9	34.9	
Bacon, GA	45	Licensed Counsler an	1 in 45 miles	1	45.0	45	100.0	0	0.0	2.1	24.2	
Brantley, GA	78	Licensed Counsler an	1 in 45 miles	2	39.0	78	100.0	0	0.0	4.0	4.0	
Bryan, GA	133	Licensed Counsler an	1 in 45 miles	0		133	100.0	0	0.0	12.1	14.8	
Camden, GA	282	Licensed Counsler an	1 in 45 miles	11	25.6	282	100.0	0	0.0	2.5	3.0	
Candler, GA	43	Licensed Counsler an	1 in 45 miles	0		43	100.0	0	0.0	18.9	19.6	
Charlton, GA	107	Licensed Counsler an	1 in 45 miles	1	107.0	107	100.0	0	0.0	5.6	23.3	
Evans, GA	28	Licensed Counsler an	1 in 45 miles	0		28	100.0	0	0.0	24.2	24.2	
Jeff Davis, GA	70	Licensed Counsler an	1 in 45 miles	0		70	100.0	0	0.0	25.8	33.3	
Liberty, GA	234	Licensed Counsler an	1 in 45 miles	7	33.4	234	100.0	0	0.0	1.8	3.4	
Long, GA	30	Licensed Counsler an	1 in 45 miles	1	30.0	30	100.0	0	0.0	5.8	11.0	
McIntosh, GA	40	Licensed Counsler an	1 in 45 miles	0		40	100.0	0	0.0	17.8	19.7	
Montgomery, GA	24	Licensed Counsler an	1 in 45 miles	0		24	100.0	0	0.0	32.6	37.6	
Pierce, GA	131	Licensed Counsler an	1 in 45 miles	0		131	100.0	0	0.0	12.8	13.1	
Screven, GA	72	Licensed Counsler an	1 in 45 miles	0			100.0	0	0.0	25.6	25.9	
Tattnall, GA	46	Licensed Counsler an	1 in 45 miles	0			100.0		0.0	32.9	33.5	
Toombs, GA	123	Licensed Counsler an	1 in 45 miles	0		123		0	0.0	28.3	41.0	
Ware, GA	234	Licensed Counsler an	1 in 45 miles	5	46.8	234			0.0	1.6	1.7	
Wayne, GA		Licensed Counsler an	1 in 45 miles	5	28.2		100.0		0.0	6.2	6.7	
Grand Totals	1,933	Licensed Counsler an	1 in 45 miles	33	58.6	1,933	100.0	0	0.0	10.3	14.2	
© 2023 Quest Analytics LLC												